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SUMMARY

Studies on Elasto-plastic Behaviors of Steel Frames
with Composite Beams under Seismic Loads

This dissertation describes the structural behaviors of the composite beams under seismic
loads, and proposes the two-dimensional elasto-plastic frame analysis, in which non-
linearity of headed studs and plane stress distribution of reinforced concrete (RC) slab are
taken into account. A composite beam, composed of studs and RC slab, is one of the
structural elements increasing rigidities and strength of tall steel buildings. Some of the
buildings, however, have been designed without considering any benefits of the composite
beams, because few knowledge of the structural behaviors was available. The structural
design needs more accurate estimation for the composite beams, leading to an urgent
development of the elasto-plastic frame analysis.

This thesis consists of seven chapters, describing both experimental and theoretical
works on steel frames with composite beams, as follows :

Chapter 1 describes the background and objectives of this study.

Chapter 2 indicates the behaviors of the composing elements such as headed studs and
RC slab, and then proposes the hysteresis models mostly based on the cyclic shear loading
tests of studs. The hysteresis model for RC slab incorporates the plane stress distribution
based on a stress function. This model consequently yields the effective width of RC slab.
A discussion is made on the effective width.

In chapter 3 the reduced-scale models of the steel frames with 3-spanned continuous
composite beams were tested under lateral loading. The test results showed the influence
of studs on the structural behaviors, and figured out experimentally the effective width of
RC slab. For the complete composite beams, the effective width in a positive moment
region was estimated as the same as the specified width, while overestimated for the
incomplete composite beams.

In chapter 4 the reduced-scale models of the steel frames with long-spanned composite
beams were tested under lateral loading with uniformly distributed vertical loads. The test
results showed no significant influence of vertical overloads in composite beams. When
applying the yield hinge theory to such long-spanned beams, a wide range of yielding at the
bottom flange must be taken into account.

Chapter 5 proposes the elasto-plactic frame analysis for the composite beams,
incorporating non-linearity of studs and plane stress distribution of RC slab. The validity
of this analysis was confirmed by comparing to the experimental data described in the
previous chapters.

In chapter 6 the parametric studies on the influence of each composing element were
carried out by the proposed frame analysis, changing the slip rigidity of studs and slab
width. Within the limited data available, the studies show that the rotational rigidity at the
positive moment end becomes constant beyond 30 to 50 tf/cm/cm of the slip rigidity, and
the ultimate moment also becomes constant beyond 0.4 to 0.6 of the strength ratio of slab-
to-steel beam.

Chapter 7 summarizes the conclusions obtained in each chapter.
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BERBENOAT 7L, 182200mm, & 50mm DEEHKH I 27— RO ATTEL,
VY- MIBRE2EI VY- be L7, F, AFTHELTIAY A v afi(é
3.2mmX50mmX50 mm) & ¥ ¥ ZIVICELH L7z, MEBREIER LB ONFHHE T & 4
2IIRT, B, ATZTRERETHIIHIY, [EkEiz> ) — MEEITERE - RS

WCEBATTOENIEA30mm) &) b RESHEEL, 2200mm & L7z,



SR KD
e %i ..... —— = -

19.8 m ol _ EMaTER’

T OBsET B RIS
() RIFENEFIMICE T BTE

FNEFIL(1 /) ICE3BBHMOHI X
F -+ + + BH-300X100X6X12 (SM490A)
# + -+ » B(J-200X200X16 (SM490A)
25 7L4@ 2,200 mm
(BHEt LD X5 THEIE : 1,370 mm)

H4.1 HBEEYO

P

P

il



4.1 HEBRHE—FE
AR E | 228X 27 7HR IEFmEL NI
Hisk=s N
LS 28 4% T L . x2
-~ RCZXS57 E-LE%EWE
LCB1 % 1|25 785 : $3.2X50X50 mm
ESRZE DL =Xyl
28 42 HX:50mm (&8)
LCB2 213 : 2,200 mm 1g§%§ﬁ§®
X2y K 1-¢9mm @50mm 2 Sﬁ:i:
(h=35mm) )

*1 SISV

A SAE
HE%E

URAMEICE 3BEDOVWThb n =72 K (HBRK 1128 %K) £ 3,

* 2 REREFER, BEFNEEEHL

BEEE 535 kgt /m2 £T B,

bs, BURSHEWOFEICRE TS L1177/ m (T T 5,

HESHC S P LB Zy KAR (n ) B, AFEES L

(4.2

i

- R

-— 1 Y -0 — 7 (REFE)

RERBER B L BT IE

mhgk — -offmmmr— > +Qc
iz L redy r  tyrey r JrI]
4 12 : B[]-200x200x16 (SM490A) N,
B %R (A) KR : BH-300x100x6x12 (SM490A) =200
o/ VR : H-100x50x5x7 (SS400) 4| s00 |
o L/ [ - " N Bl NP
42373 s ;j:ff? i -fri-i';‘;‘ii':f _i_:ﬁgv G ;":jﬁ'.--Jé‘;‘i’iiz';vf.f’;“: * i :390_1‘ ’
Wi 1]
er R \% o/ \ E%ﬂwo'
L /0 T A7 T7 AN N N
L,/ IRV AN RN Ll
L O e e v dadd
EAERLED |71 Y-O0-F O-FKtn "E )
B 550 | 1,100 1,500 | 1100 | 1,100 1,000 [ss0 | PYY
6,600 mm
RCx57 REFERABENR
<WATA ¥ -8/D>
~4——— PC#ElH%
BETNEERANE LS 071t
(A) B L LR RR#REXR { LCB1 : 0.60 tf
LCB2 ! 1.72 ff



4.2 FEEMBEOHZEHEE

(a) 88 #1
BRBHE| ¥ IR [, | AR, o
WUE | EAEAFR | SOy Es soy |FU
(kgtiem?@) | (108 kgtlem®) V.o | (kgtiem?)| (%)
A&y K _
sonm x| XK 4150 2.12 4682 | 12.8
Xvafh = — -
PP 7277 2.14 7439
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4 |ERAE Y TR | RN BIRAE wp o n
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4.6.1 ZEOELAMDEERZERADERE

(4.4 128 ABREDEE AR (Q) EBMERA R) DBHZRT, HPIZBIT 53T
X, SEMELXZERLT, BEAN LR ENS I THELZITT2720DTH S, 4B,
Wk ¥ ¥ (ZBEMITE— A Y P M ISET B &) PPRAET BT TIIHMREH ERT L0
E5 5. MBRBBERIIESHWTEREOMITH N ZEHT L L, MEBERTIZ186-m, &
RO EMIFTNICOWTIE, A7 7HRIEL 1370mm £ T 5L 273tfm & %517, &
ZOAMITHAICOWTIE, AT T7HELEZEETH LMKFOMITHNICHLTHIR EE
RELC2HH, TITIIERT S, T2, WHEMEICO VT, SRR ESMIC—H% i
TR EFEOLDE LT, £4.3 TRTHEIZL - TEHET 5,

WTHOIRERIAT D R=1/100 DEHE UIRATIZB W TIE, (2T RLTEY, &
CIZTLS Tid, R=1/67 2BV THIRITHEN 2 ZEHEZRL T2, £DH%, R=1/80fET
T75 Y UDIERRIK LIED, R=1/33H7:0) 20 ZOBIEIE LIGD 72, R=1/20 (X#E M2
A ICBWTRAME (Q,=243th 1T L7,

LCB1 ((RH#ESAE T E) TiX, R=1/400 £ TIZEMITH D RC A 7 7 IZHNFT O b FAE
L, R=VI120 57 ) TEHREBERT 77 ¥ UHTERRR L 720 R=1/33 128 W TEETH 0 Rk
BINERD 7 = TIZHAWAIZL ) 2 — ¥ — ABHRELIED, Tiw7 5 2 Y OBFERERIC
DERARFTE (Q =29.2tH) IZE L7

LCB2 Q5 XFEHESEME) T, FIEDSMEMEL RIZEA LA TWigid RC X 7

ICHIFO U RAEL, R=1/200H7: ) TEMITHOKERT 7 5 ¥ VMK L 72,
LCB1 L [AHRIZ R=1/33 IZBVTRAME (Q_ =28.1tf) iZ3#E L 7o LCBl L IERTHEME L
NUHBREWVIZED»DD O, JREOFERBREIKICEEREZIAON 2d o072, B (R=1/200
Hz)) ICAMTHOKRERFRRLED AL OD, LCB1 L AKICECARNIO LANAL
hize LarL, FHEEL ORETIE, R=1/100~1/25 DEFAWNICHEEZEFR N7,
CORERELT, EMIFHORRHRICEY e v UrRE LK, EHFEEIZEWT, i
E— XAV PARITRRLSICR B XBAFAET 5720 ZOMITEIEATEEL LICKE 2o T
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£4.3 MimOEBIEOERELSTEEE DHLE

e XER{E 5 *2 E{E
BRER 5 : i
(X103 tf-mirad)| (X10°%t-mrad) | ETEE
(£8%) 1.26 1.06
LS 1.1
(%) 1.28 ? 1.07
(E%) * 0.88
LCB1 1.76 (1.39)
(%) | 1.83 (1.49) 2.00 0.92
x1
1.69
LCB2 (£3%) | 1.73 (1.37) (1.69) 0.86
(&) | 1.78 (1.40) 0.89

* 1 () ADMEIE LS (FskBREE) (ST BHE®
*2 HEFERLTICLS,

- MEEEGRIE L, MEIC—REE B (Bl) EBOBMELT,
A E b 6Bl /L TEMET 5, 227U, EIKBOY L TRE,
|e P EMEFE2RE— A b, LI ROAEZIC,
lg EEETARIC, NETNEBAEROBTE-— X bR LY,
FET &S URMITEREORITRIEE Ely. Elp, &L, SXRO
MaREEEL THET 3,

Elg = & *Ely H1— @) “El
kLU, El, =Elg ($BNHER)
L - L—»l J & =06 (Ed(FEMLL)
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CEBRRD | 13, MSBRICHTIME2RE— X2 MEXE (4¢)
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A¢

238 ‘ 25 TEYPE=1370 mm DHS :
513 Elg = {0.6X2.13+0.4X1.0}-Elg
= 1.69-El
1.67 _ . _
27 7EE= 550 mm DIFE :
El, = {0.6X1.67-+0.4X1.0}El

1.0
0 550 1370 2200 - 1.40-E]
RC 25 7 H%H1E (mm) S
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BANHPRIZH - METEMTE— XA Y PP RRKELZBA, LEMINGEL TV,
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BHEA (6 5) DRGRERA.7IIR Y £72, MimBHZMtEoREBRME Ltz % 4. 31287,
EEREIZ Mp— 6 ; BAFROFIAN — 7 (R=1/400) & 0 $IWT L 720 FHEMEIL, BAMEbAIIZ—
PRLHITHIEZ FOLDLMEL, REMEGAEROMITE- XY baHL ), FHITXH
DHITHEINES LAY EZEB L TFM L (4.3)

EERTIE, SRBOM G EIEMESHERERDIZ L4 TH o720t L, ST LT
BTHol, THIL, ERBOEMUTE 2 RE— X~ M 2T 58I, EHITXBEOZAZ 7
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30 T T T T R=1/20
; : +M(max)
20 e """"" gu'Mp PPNt AR b oy
10 b .................................................. .
o2
_10 e . ..........
20 B ' oadebiekdy
—M(max) R 1/33 i ;
-30 1 i ¢ i
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fg L)
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] 1 1 1 S 1
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(1/1000 rad)

M4.7 MimsiFE—x>
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4.6.4 ERROHITHA

FRBREDO R 7 2 — A2 BT HHITWN (BRI EKEITE- 22 M) 2F4.41TR
To FHITRNIE, ZFEMEIEVEEZRLTWASS, K4.712558, LSFHKER) T
i R=1730 LABETHITIH D (BBME) L 2o TWwb, 72, ERBIIBVTIIEMITFIOET
5L EDEMAEFAIL, LCB1 TiZR=1/33, LCB2 TIZR=1/33 7212120 TH by, A
73122 Tid, LCB1 Tid R=1/50 7213 1/33, LCB2 TIXR=1/33 TH 5, IhHDHKR
&, R=1/50 B2 %Z\we, BELTWHARYOREKEMNPFEIN NI L E2RELT
Wh, Zhid, M4.40Q, —REMRICHBITHZEREL S URIEA A = X LBOFHED»S b
HWc& 5, BT 52 EMBOWMBTIZ, BREITE— 22 FABEOWHIET b »
BAOHRLEND, ThiZ, SEMENKEIVIEET 75V VORESREMNEITL, BHERD
HELRY 250 BEIMNMETTHLEELLNS,

F4.4 BRBEROZOHTHA

SHERK EBTRAD tf-m) BT tm)
s (%) 19.1 (1.02) 20.7 (1.11)
(%) 18.0 (0.97) 22.7 (1.22)
(E i) 28.2 (1.03) 19.5 (1.04)
LCB1
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A—5 EBMITEmSHEREN (ESE) IO/ SLUX R

$
# MAKEFILE FOR planevx £
# & *** Program List
M
FF = {77 /* ./ ADD, NAME-aamain.{. <#=1/69> <DATE=Dec/16 TIME=18:40 SIZE=8953> */
FFLAGS = -g C./ ADD LIST=ALL, NAME=aamain. {
PROCRAM MAIN
PROG = /home4/yamanobe/bin/planevx
. THIS MAIN PROCRAM IS MADE BY .
SRCS = ¥ * QUASI-DYNAMIC ALLOCATION .
aamain. f ¥ b 1991. 7.30 BY KOJI YAMANOBE .
asest.f ¥ * 1991.10. 14 .
atoa.f ¥ * 1991.12.18 .
boxsct. f ¥ . 1992. 04. 09 .
cdata. f ¥ i 1992.07.23 (VP VERSION) .
checkd. f ¥ * 1993.10.04 (RETROFITTED for UNIX) .
checki.f ¥ * 1994, 06. 28 .
chrg. f ¥ b 1997.01.08 .
coefst.f ¥ M 1997.12. 14 .
conc. f ¥
convrg. f ¥ C ---< FILE USAGE
crossx. f ¥ C 5 : DUMMY
deps.f ¥ C 6 : MASSAGE PRINT FILE
deter.{ ¥ C
dfbet0. f ¥ C 10 : (MIR) FILE FOR ELEMENT'S STRESS-STRAIN
dfbet].f ¥ C 11 : (MTW) DITTO
dfbtes. f ¥ C 12 : (MER) FILE FOR ELEMENT'S INCR. STRAIN
estkst. f ¥ C 13 : (MEW) DITTO
etirw.f ¥ C -— MAXIMUM FILE SIZE ---
etirvg. f ¥ C  10/11 : B*MUMM*MUMPZ* (8*MUMT+5. 5*MUMC)
etires. f ¥ C  12/13 : 8*MUMM*MUMP2* (MUMT +MUMC)
etirwx. f ¥ C
ffshr.f ¥ C IR«15 : INPUT DATA FILE
fncffi. f ¥ C IW=16 : OUTPUT DATA FILE
fncff0.f ¥ ¢ LARGE=0 : Spall displacement problem
frncffl.f ¥ ¢ LARGE=1 : Large displacement problem
fncff2.f ¥ C
frier.f ¥ IMPLICIT REAL*8(A-H,0-2)
iboun. f ¥ PARAMETER ( IMAX=2000 )
intge.f ¥ PARAMETER ( NMAX=20000 )
intgs.f ¥ CHARACTER TITLE*S0
iswap. f ¥ common /iwk/ nnwk(2).n(imax)
itoa.f ¥ common /wk / nawk(2), a(nmax)
patalt.f ¥ common /ssdata/ssyr, ssbri, ssbrk
minve. f ¥ c
modsign. f ¥ data nyilde/12/
msgstp. f ¥ data  nfrier/2/
pstfst. f ¥ c
wstif.f ¥ 1900 FORMAT(1H |, *MT1,MT2, I¥RT, SKIP, TIME = *,
pstifc. f ¥ 14 415,F10.3)
oulti.f ¥ c
oultx. f ¥ C
neqval.f ¥ nnwk (2) =imax
nonpin. f ¥ nawk(2) =nmax
passi.f ¥ c
pinjnt. f ¥ c *** ssyr : fyp/fy for TRI-mode!
pinprc.f ¥ c *** ssbri © ratio of Isotropic hardening modulus to initial modulus
rdata. f ¥ ¢ *** ssbrk : ratio of Kinematic hardening modulus to initial modulus
rdbeta. f ¥ <
readnt. f ¥ ssyr =0.80d0
readmx. f ¥ ssbri=0. 006667d0
sdata.f ¥ ssbrk=0. 00333340
sepal. f ¥
Skpcmt.f ¥ c SEPESEEIESESSELIBIEIN S
hyslip.f ¥ do 10 j=I, nmax
solvmt. f ¥ a(j)=0.0d0
ssolv.f ¥ 10 continue
ssrnev. [ ¥ 4
hystpb. f ¥ do 20 j=1, imax
hystpe. f ¥ n(j)=0
sstif.f ¥ 20 continue
Stl’an.f ¥ c SESEPESRRASESEIES VIS
touch. f ¥ ¢
tranrg. f ¥ IR=15
transc.f ¥ IW=16
udata.f ¥ LARGE=1
writat.f ¥ ibflag=]
writax. f [
c ****** Read data list
0BJS = $(SRCS:. f=.0) READ(IR, * (2(1X, 313), 1X, I3,F6.0,A50)")
& MT1, MT2, IWRT, MUMT, MUMC, MUMP,
all: $(0BJS) & IPSKIP, TIME. TITLE
$(FF) $(FFLAGS) -o $(PROG) $(0BJS) -lm IF(IPSKIP.EQ.0)  IPSKIP=1
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IF(MUMT. LE. 12) MiMT=20 LSTM  =LB\T +MIMI3

IF(MUMC.LE. 0)  MUMC=5 Istmpn =LSTM +MMM *(MUMPM3+MUVP-1)%6
IF(MMP.LE.0) MMP=5 LBW  =lstmpnsMMY  *(2%342)
IF(TIME. LE. 0.0D0) TIMEa-1.0DO LDEAD =LBVM +MUMM  *(MUMPM3+MUMP-1)
C TIME = 1.0D6°TIME LX =LDEAD +MMM  * 2*(MWP-1)
o Ly LX  HMM]
9999 CONTINUE LM =LY MM
IF(MT1.NE.0) THEN LYM =LXM MMM (MUMP+1)
C memme READ DATA FROM FILE(MT]) wecmemmmemcmmm e LAST2 =LYM  +MUMM * (MUMP+))
OPEN(MT1, STATUS="OLD" . IOSTAT=10S, LORGCS =LAST2
& FORM=" UNFORMATTED" ) LTUV  =LORGCS+MIMM * 2
IF(I0S.NE.0) THEN LSWV  =LTLV +MUMJ3
WRITE(6.*) * °* LUVl =LSUV  +MUMJ3
VRITE(6,*) "**** FILE(",MT, LUVM  =LIV1  +MUMJ3
& ‘) TO READ FROM CAN NOT OPEN. **** LFE LUV MMM * (MUMPP3+MUMP-1)
WRITE(6.*) " ' C
Ml = 0 LFF  =LFE +MUMJ3
GOTO 9999 LFFT  =LFF  +MUMJ3
END IF LDU =LFFT  +MUM]3
WRITE(IW, * (1H1, 10X, A50) ") TITLE LDF DU +MUM]3
WRITE(IW, 1900) MT1.MT2, IWRT, IPSKIP, TIME LA =LDF  +MUMJ3
READ(MT1) MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS, MBAND, . Lz =LA +MUMS MUMT
& MUMSC, MUMC, nbeta, mshr . LAST3 =LZ  +MUMS *MUMT
ELSE LM -LAST3
C -—ee- READ DATA FROM FILE(IR) -----eemmmemmemeee ldum  =L2M  +MUMT +MUMC
WRITE(IW, * (1H1, 10X, A50) "} TITLE Isgy =ldum
WRITE(IW, 1900) MT1,KT2, IWRT, IPSKIP, TIME LDET  =lsgy +MUMM
call passl(ir, iv, numm, munj, nshr, nbeta, ¢
& ivk, LDE]  =LDEI +MUMT +MUMC
& mumr, muss, sband, oupsc) LYILDS =LDE] +MUMT +MUMC
< LIZIIIYI TSR ST 1T ] LREACT !LYILDS+MUMS
do 30 j=l, imax LUVDEP =LREACT+MUMM *2
n(j)=0 LUXDEP =LUVDEP+MUMPP3
30 continue LTUWM  «LUXDEP+MUMP-1
c FEIESEESSES U ESREIEI IS LSUVM =an ’MUW ‘(MLIMI)P3+MlIMP_1)
END IF LFMEM  =LSUVM +MUMM > (MUMPP3+MUMP-1)
c LAST4 =LFMEM +MMM *6
C LT0612 =LAST4
WRITECIN, ®) ° MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS, *, LT1206 =LT0612+ (MUMPM3+MUMP-1)*6
& * BAND, MMSC, MUMC, nbeta, ashr’ LT1212 =LT1206+ (MUMPM3+MUMP-1)*6
WRITE(IV, " (1H , 1115)") c
14 WUMM, MUMJ, MUMP, MUMT., MUMR, MUMS, MBAND, LT12  =LT1212+ (MUMPM3+MUMP- 1) * (MUMPM3+MUMP-1)
& MUMSC, MUMC, nbeta, mshr LTXA  =LTI1Z +MUMPM3+MUMP-1
WRITE( 6.%) ' MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS, *, LTXZ =LTXA +MUMP2
& * BAND, MMSC, MUMC, nbeta, mshr’ LTEA  =LTXZ +MUMP2
¥RITE( 6, (1H , 1115)") LTEZ =LTEA +MUMP2
& MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS, MBAND. LTZZ  <LTEZ +MUMP2
14 MUMSC, MUMC, nbeta, mshr C
C Lylnw =LTZZ +MUMP2
MUM]3 = 3 * MUMJ LyZnw  =Lylnw +MUMT *MUMP2
MUMPM3= 3 * (MUMP-1) LYp =LyZnw +MUMT *MUMP2
MUMPP3= 3 *(MUMP+1) LXN LXP +MUMT *MUMP2
MUMP2 = 2 * MUMP LSSIG =LXN  +MUMT *MUMP2
C LSEPS  =LSSIG +MUMT *MIMP2
LNRND =1} LSDEE  =LSEPS +MUMT *MUMP2
LMIND =LNRND +MUMR LCSLP  =LSDEE +MUMT *MUMP2
LJOINT =LMIND +MUMJ3 LCSIN  =LCSLP +MUMC *MUMP2
LISECT =LJOINT+MUMM *2 LCEKS =LCSLN +MUMC *MUMP2
LINV  =LISECT+MUMM LCSIG  =LCEKS +MUMC *MUMP2
C LCEPS  =LCSIG +MUMC *MUMP2
LIFD  =LINV +MUM] LCDEE  =LCEPS +MUMC *MUMP2
LIFDX =LIFD +MUM]J *3 LYILDC =LCDEE +MUMC *MUMP2
LIA =LIFDX +MUM] *3 ‘ LAC «LYILDC+MUMSC*nyildc
LIB aLIA  +MUMPM3+MUMP-1 I LiC =LAC  +MUMSC*MUMC
LSECTD =LIB  +MUMPM3+MUMP-1 LEC  =LZC  +MUMSC*MIMC
LISID =LSECTD+MUMS LBETA =LEC  +MUMSC*10
ticid =lisid +munt*mump2 c
lidtep =licid +munc*mump? lesk  =LBETA +nbeta*MUMP
LIFLAG -Lidtap+oupp lcort =lcsk +nbeta*2*nfrier*mump
LIRGD =LIFLAG+MUMS lalod =lcort +nbeta*gump*mump
LDIVD =LIRGD +MUMM *2 lxpos =lalnd +nbeta*mump*zump
lishr =LDIVD +MUMM Isigx =lxpos +nbeta®MMP
LAST! =lishr +mimm N lrevga =lsigx +nbeta*ylMP
c c
WRITE(IW, *) ' INTEGER LAST/MAX =',LASTL,"/'. IMAX Ifkinv =lrevga+mshr
nnwk(1)=last] Ivork =]fkinv+36*pump*oshr
IF(LAST1.GT. IMAX) THEN LAST  =lwork +2*mump
SToP c
END IF ' WRITE(I¥,*) 'REAL*8 LAST/MAX =' LAST, '/, NMAX
sone nawk(1)=last
LCOFAC =1 IF (LAST.CT.NMAX) THEN
LDINTL =LCOFAC+MMP+] SToP
LRIGID «LDINTL+MUMP-1 END IF
LOFSTL =LRIGID+MMM*2 C
LOFSTG =LOFSTL+MUMM  *4* (MUMP-1) L el Gl B S B e B S el et
LFRND  =LOFSTG+6*MUMR leeee0
LARND =LFRND +MUMR *3 CALL NONPLN (LARGE, ibflag, nyildc,
LSTT  =LARND +MUMR *3 & IR, IW.MT1, MT2, IWRT, IPSKIP, MTR, MTW, MER,
LBYT  =LSTT +MUMJ3 *MBAND & MEW, MUMM, MUMJ , MUMP, MUMT, MUMR, MUMS, MUM] 3, MUMPM3, MUMPP3, MUMP2,
[ & MBAND, MUMSC, MUMC, TITLE, N(LNRND), N(LMIND), N(LJOINT}, N(LISECT),
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& N(LINV), N(LIFD),N(LIA), N(LIB), N(LSECTD) , N(LIFLAG), n(lisid).

& N(LICIDY, N(LIFDX), N(LIRGD) ,N(LDIVD), TIME, n(lidtmp}, wmshr,

& n{lishr),a(lrevga), a(lfkinv), A(LCOFAC}, A(LDINTL), A(LRIGID),

& A(LOFSTL), A(LOFSTG) , ACLFRND), A(LARND), A(LSTT) . A(LBVT). A(LSTM),
& a(lstmpn), A(LBVM), A(LDEAD) , A(LX), ACLY). A(LXM), A(LYM), ACLTUV),
& A(LSUV), A(LUV1), ACLUVM), A(LFE), A(LFF), A(LFFT), A(LDU), A(LDF),

& ACLA), A(LZ), ACLZM), A(1sgy)  A(LDEL), A(LDE]), A(LYILDS),

& A(LREACT), A(LUVDEP), A(LUXDEP) , ACLTUVM) , A(LSUVM), A (LPYEM) ,

& A(LT0612), A(LT1206}, A(LT1212), ACLT12), ACLTXA) , ACLTXZ), A(LTEA) .
& A(LTEZ), A(LTZZ). A(LORGCS) . A(Lylaw), A(Ly2nw), A(LXP) , A(LXN),

& A(LSSIG), A(LSEPS), A(LSDEE), A(LCSLP), A(LCSLN) , A(LCEKS) , A(LCSIG) .
& A(LCEPS), A(LCDEE), A(LYILDC) , A(LAC), A(LZC), A(LEC), A(LBETA),

& a(lesk), a(lcort),a(lalnd), a(lxpos), a(isigx), nbeta, nfrier,

& a(lwork) )

6000
&

6010
&

FORVAT (1H0, 15X,
© AREA(CMD) Z-10C. (W)
FORMAT (1HO, 15X,
' AREA S 1)

C *** THIS IS A FUNCTION TO CALCULATE AREA ***

C

END
/* ./ ADD. NAME=asest.f, <#=2/69> <DATE=Dec/15 TIME=08:39 SIZEx801> */
C

c
C./ ADD LIST=ALL, NAME=asest. {
[ ASEST
SUBROUTINE ASEST(NBAND, JOINT, MEMBR, STT, ST, BVT, BV,
& WIND, MUMM, MUMJ 3)
IMPLICIT REAL*8(A-H.0-Z)
DIMENSION ST(6,6),BV(6), 1JK(6)
DIMENSION JOINT (MUMM, 2), MIND (MUM]3)
DIMENSION STT (MUMJ 3, NBAND), BVT (MUM)3)

JS1=(JOINT(MEMBR. 1)-1)*3
JS2+ (JOINT (MEMBR, 2)-1)*3
DO 10 I-1.3
1JK(1)=]S141
1JR(1+3)=)S2+1
10 CONTINUE
C
DO 40 I1=1.6
1A=1JK(ID)
1=MIND(IA)
BVT(1A)=BVT(14)+BV(II)
c*** check-begin ****
¢ vrite(6,*) 'BVT(',ia,')=",bvt(ia).” ',

c BV (", 1i,")=",bv(ia)," at ASEST()’
c*** check-end ****
DO 30 Jj«1.6

J=MINKIJK(J]))-I41
IF(J.GT.0)  STT(I, )=STT(I. N)+ST(IL. J])
30 CONTINUE
40 CONTINUE
c
RETURN
END
/* ./ ADD, NAME-=atoa.f, <#=3/69> <DATE=Dec/15 TIME=08:39 SIZE=362> */
C
C
C./ ADD LIST=ALL. NAME=atoa. f
¢ ATOA
SUBROUTINE ATOA(S, IP0S,C)
CHARACTER  S(*)*1,C*(*)

NL=LEN(C)
IF(NL.LE. 0) RETURN
DO 10 I=1,NL
IF(IPOS.CT.132) THEN
RETURN
END IF
S(IPeS)=C(1:1)
IPOS=IP0S+1
10 CONTINUE
RETURN
END
/% ./ ADD, NAME=boxsct.f, <#=4/69> <DATEaDec/15 TIME=08:39 SIZE=2963>
c
C
C./ ADD LIST=ALL, NAME=boxsct. f
C
C *** BOX SECTION *** 1992/5/21,1996/7/20 mod.
c

SUBROUTINE BOXSCT(IW, IL,H,B, T:R. A, Z, Z0, MUMS, MUMT)

c
c IF R<T, THEN R IS REGARDED AS 0
C

IMPLICIT REAL*8(A-H.0-2)
DIMENSION A(MUMS, MUNT) , Z (KUMS, KUMT)
DATA  ZERO, ONE, TWO /0.0DO, 1.0D0, 2. 0D0/

c
5000 FORMAT(1H , 15X, 1P, 3E13.4)

110

120

130

10
C

20

‘/ C

30
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AREA (R, H) =R*R* (DACOS (H/R} - (H/R) *DSQRT (ONE- (H/R) **2))

NF=3
NR=2

IFR.LT.T) THEN

NR=0

NW=MUMT-2* (NF+NR)

¥ =T/DBLE(NF)

HH= (H-¥) /TWO

1Xa0

DO 110 I=1 NF
IXaIX+1
A(IL IX) =B*W
Z(1L IX) =HH
HH=HH-¥
CONTINUE

¥ =(H-TWO*T) /DBLE (W)

HH= (H-W) /TWO-T

DO 120 1=1,N¥W/2
IX=1X+1
A(IL, IX) =TWO*T*K
Z(I1, IX) =t
HH=HH-W
CONTINUE

IF(MOD(NW, 2) .EQ. 1) THEN
IX=1X+1
A(TL, IX) <TWO*T*W
Z(IL, IX)=ZERO
END IF

DO 130 I=1, MUMT/2
AT MNT-T+1) = A(ILD)
Z{ILMMT-1+1) = -ZUI1. D)
CONTINUE

G0TO 150

END IF

BO = B-TWO*R

HO = H-TRO*R
NW=MUMT-2* (NF+NR)
IX=0

S0=ZERQ

W aT/DBLE(NF)
HH=(H-¥) /T¥O

DO 10 I=1.NF
S1=AREA(R, R- (DBLE(I)/DBLE(NF)) *T)
IX=IX+1
A(II, IX) =S1-S0+BO*W
Z(1, IX) =t
S0=S1
HH=HH-¥
CONTINUE

IF(\R.GT. 0} THEN

¥ =(R-T)/DBLE(\R)

H=(H-W) /TWO-T

SS0=ZERO

D0 20 I=1,NR
S1 =AREA(R. R-T-DBLE(I)*W)
SS1=AREA(R-T, R-T-DBLE(I) *¥)
1X=1X+1
A(TI, 1X)=51-50- (S51-580)
Z(IL IX)=HH
S0 =51
S50=8851
HH =HH-%
CONTINVE

END IF

¥ =HO/DBLE(NW)

HH=(HO-¥)} /THO

DO 30 I=1,N%/2
[X=IX+1
A(IT, IX) =THO*T*¥
(11, IX)=HH
HH=HH-W
CONTINUE

[F(MOD(N¥,2).EQ.1) THEN
1X=1X+1
A(IL, IX)=TRO*T*W
2(11, IX}=ZERO
END IF



D0 40 I«1 MUMT/2
ATLMMT-141) = AULD
LULMMT-I+1) = -Z(I1. D
40 CONTINVE
C
150 CONTIME
AAA=ZERO
AAZ=ZERO
AZZ=ZERO
WRITE(IW. 6000)
DO 50 I=1.MUMT
(1 D=Z(I1,1)+20
WRITE(I¥,5000) A(IL D). ZAL D
MA=AAAA(IL D)
MZ=AAZA(LL D*Z(IL D)
AZ=AZZ+A(11 D*Z(IL D*Z(IL D
50 CONTINVE

WRITE(I¥, 6010)

FRITE(IR, 5000) AAA,AAZ, AZZ

RETURN

END
/* ./ ADD, NAME=cdata.f, <#25/69> <DATE=Dec/15 TIMEx08:39 SIZE=1158> */
C

C

C./ ADD LIST=ALL. NAME=cdata. f

C CDATA
SUBROUTINE CDATA(IN, IX, BE. TT, ZH, AC. ZC, 20,
4 HUMSC, HUMC)

IMPLICIT REAL*8(A-H.0-7)

DIMENSION AC(MUMSC, * ). ZC(MUMSC, * )
5000 FORMAT(1H ,5X,"CONCRETE(",12.*) A(CM**2)’,

& 8X,"Z(O ")
5010 FORMAT(IH . 15X, 1P, 2E13.4)
5020 FORMAT(1H , 18X,

& TAMA(CM**2)  AAZ(CM**3)  AZZ(CM**4)")
5030 FORMAT(IH . 15X, IP, 3E13.4)
c

IF(MUMC.EQ. 1) THEN
AC(IX. 1)=BE*TT
IC(IX. 1)=2HeZ0

ELSE
AA = BE*TT/DBLE (MUMC)
DO 10 1=1,MUMC

AC(IX. 1) =AA
10 CONTINUE
AA=TT/DBLE (MUMC)
HH=TT+ZH+20-0.5%4A
D0 20 I=1,MUMC
2C(1X, D=t
HH=HH-AA
20 CONTINUE
END IF

AAA = 0.0D0

AAZ = 0.0D0

AZZ = 0.0D0

WRITE(I¥. 5000) IX

DO 30 I=1,MUMC
WRITE(IW, 5010} AC(IX, I).ZC(IX. D)
AMA=AALAC(IX, T)
AAZ=AAZ+AC(IX. 1) *ZC(IX. D)
AZZ=AZZ+AC(IX, I)*ZC(IX, D*ZC(IX, )

30 CONTINUE

WRITE(IN, 5020)
WRITE(IN,5030) AAA AAZ, AZZ

RETURN

END »
/% ./ ADD, NAME=checkd.f, <§=6/69> <DATE=Dec/17 TIME=09:35 SIZE=901> */
[

c
c./ add list=all, name=checkd.

sesssves® this function is check write only *****

subroutine checkd(iw, msg, », a, om, nn)
isplicit real*8(a-h,o0-2)

character msg*(*)

dimension  a(mm, *)

character  ip(20), fmt*20

c
fmt="(1p, 13e10.2)"
goto 9000
c
c
entry checkf (iw, msg, w, a, mm, nn)
c

fee="(13{10.3)"
. !
9000 continue
if(iv.eq. () return
mnc=]
if(m.ne.0) then
call atoa(ip,omc,” )
call itoa(ip,zmc,0,m)
endif
do 200 i=mmc, 20
iplide" '
200 continue
c
write(iv,*) * ’
write(iv,*) msg, ip
do 100 i=], mm
vrite(iv, fot) (a(i,j).j=1.nn)
100 continue
return
end

/* ./ ADD. NAME=checki.f, <#17/69> <DATEsDec/17 TIME=09:36 SIZE=T08> ¢/

c
c
c./ add list=all, name=checki. f

exwxssses this function is check write only ***eeseess

subroutine checki(iw, msg. m, ia, mo, nn)
implicit real*8(a-h,o-z)

character msg*(*)

dimension iafam, *)

character  ip(20)

if(iv.eq.0) return

nncs=]

if (n.ne.0) then
call atoa(ip,mmc,’ ')
call itoalip,mmc,0,m)
end if

do 200 i=mmc, 20
ip(i)=" "

200 continue

wvrite(iv,*) " '
vrite(iw, *) msg, ip
do 100 i=l.om
vrite(iw, " (13110)") (ia(i.j).j=1.nn)
100 continue
return
end
/* ./ ADD, NAME=chrg.f, <%=8/69> <DATE=Dec/15 TIME=08:39 SIZE=193> */
c

c
c./ ADD LIST=ALL, NAME=chryg. {
c s
C *** 1093/10/12 ***

¢ THIS FUNCTION RETURNS . TRUE./.FALSE..

¢ depending on whether IRG is ZERO or non-ZERO.
¢ ZERO -> .FALSE.

c non-ZERO ~> . TRUE.

c N

{ogical function chrg(irg, idgt)

c
if(idgt.eq.0) then
i=irg
else
ibase=10**(idgt-1)
i=mod(irg, 10*ibase)/ibase
endif
¢
chrg = (i.ne.0)
end
/* ./ ADD, NAME=coefst.f, <#=9/69> <DATE=Dec/15 TIME=08:3% SIZE=837> %/
C
C
C./ ADD LIST=ALL, NAME=coefst.
C ——- 1994/07/7
coefst
SUBROUTINE coefst(coef, xm. ym, pitch, imew, idivd, sump, mump)
C

IMPLICIT REAL*8(A-H,0-Z)
DIMENSION coef (mump-1). xn(mupm. mump+1) . ym (mum, mump+1)

* This function calculates number of studs based on pitch
*

c
if(idivd.LE. 1) return

c
xx = xa{igen, 2)-xm(iven, 1)
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yy = yn(imem. 2)-yu(iven, 1}
xyl= dsqrt(xx*xx+yy*yy}/2. 000

do i=l, idivd-1
xx = xofimem, i+2)-xm(imen, i+1}
¥y = yn(inem, i+2)-yn(izen, i+1)
xy2a dsqrt (xx*xx+yy*yy)/2. 0D0
coef (i)=(xyl+xy2)/pitch
xylsxy2
end do

return
end

/* ./ ADD, NAME=conc.f, <#=10/69> <DATE=Dec/15 TIME=08:39 SIZE=2982> */

n6onooa

AnNnNnoa0oan0na

./ add }ist=all, namesconc. f

-~ mod 1991.11.21
conc
*** hysteresis rule for concrete **ssssessassssinss
subroutine conc(is,ekl,ek2, ek3, qyl.qy2, qyln,
s0, dsd,
eks, qfq, s, slp, sln, indx)
implicit real®8(a-h,o-z)
data zero /0.0d0/

&
&

*** is . direction index.
if is<0, then dsd assumed to be zero, and
eks will be passed only.
*** indx : following values will be returned.
0 : elastic stage
-1 : tensile yield stage
1 : compressive yield stage
2 : pre-compressive yield stage
3 : slip stage

if(is. 1t.0) then
eks=ek!
return
end if

syl = qyl/ekl

sy2 = qy2/ekl
syln=-dabs(qyln)Zekl
ql = ekl*dsd+afq
sl = s0+dsd

indx = 0

if(dsd. gt.zero) then
gp=ek2*(slp-syl)+qyl
ix=0
if(ek3.gt.ek2) then
sf ={ekl*slp-ek3*sy2-qp +qy2)}/{(ekl-ek3)
sfx=(ek3*sy2-ek2*syl-qy2+qyl)/ (ek3-ek2)
if(sf.gt.sfx) then
ix=1
sf=sfx
end if
else
sf =(ek1*slp-ek2*sy2-qp +qy2)/(ekl-ek2)
end if

if(sl.gt.sf) then
if(ix.eq.1) then
q3=ek3*(s1-sy2)+qy2
else
q3=ekl*(sl-slp)+ap
end if
q2=ek2*(sl-syl)+qyl
if(ql. 1t.dninl(q2.q3)) then
afg=ql
eks=ekl
else if(q2.1t.dminl(ql,q3)) then
afq=q2
eks=ek2
indx=1
else
afq=q3
if(ix.eq.1) then
eks=ek3
indx=3
else
eks=ekl
end if
end if
**+ case of sl<sf ***
else
ix=0
if ((sl.gt.sy2).and. (ek3. gt.ek2)) then

ix=1
q2=ek3%(s]-sy2}+qy2
else
q2=ek2*(s1-sy2) +qy2
end if
iflql.ge.q2) then
afq=q2
if(ix.eq.0) then
eks=ek2
indx=2
else
eksa=ek3
indx=3
end if
else
afq=q}
eks=ekl
end if
end if
if(sl.gt.slp) slip=sl

< *ee ds(i(o e
else if(dsd.!t.zero) then
q2=ek2*(s]-syln)-dabs(qylin)
if(ql.1t.q2) then

afq=q2
eks=ek2
indxs-1
else
afq=ql
eks=ek]
end if
if(sl.It.sln) sln=sl
else
c % d5d=0 e
endif
c
c
return
end
/* ./ ADD, NAME=convrg.f, <#=11/69> <DATE=Dec/15 TIME=08:39 SIZE=2352> */
C
C

C./ ADD LIST=ALL. NAME=convrg. {
C --- MOD 1991.12.18
C --- MOD 1992.04.24
C --- MOD 1994/06/28

C CONVRG
SUBROUTINE CONVRG( LARGE.ST11,BV1.
& RGD1, RGD2, CS0. SNO,
& THI. THZ )

c

IMPLICIT REAL*8(A-H,0-2)
DIMENSION ST11(6,6),BV1(6)
DIMENSION TT(4),¥K(6.6)

C
C 1 O-RI*SNB 0 0 O
C 0 1 RI*CSB 0 0 ¢
CT=1001 000
C 000 1 0 R2*SN\B
C 000 0 1 -R2*CSB
C 000 0 01
C
C TT = (-R1*SNB, RI*CSB, R2*S\B.-R2*CSB)
%
C
CALL TRANRG(LARCE, RGD1.RCDZ,CS0,SN0,THL, TH2,TT )
C
C «-~ BV] = T"*BV] ——uuee
¢
¢ *** check-begin ***
¢ call checkd(6, '==a< BVl : Orginal »>=e=",0,BV1,1,6)
c call checkd(6, "===< TT >===",0,TT,1.4)
c call checkd(6, "=x=< ST11 : Orginal >===",0,ST1l,6,6)
¢ *** check-end ***

BV1(3)=BV1(3)+TT(1)*BV1(1)+TT(2)*BV1(2)
BV1(6)=BV1(6)+TT(3) *BV1(4)+TT(4) *BV1(5)
C
C-— ¥K = T"*STI] —-oeeme
C
DO 10 I=1.6
IF(MOD(I, 3).EQ. 0) THEN
N=1/3-1
DO 20 J=1.6
WK(L J)=STIICL D
DO 30 K=1,2
WK(1, J)=WK(1. J)+TT(2°NX+K} ¢
4 ST11(1-34K, J)
30 CONTINUE
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20 CONTINUE Do 10 I=1.5

ELSE IM=3*(M-1}4]
DO 40 J=1.6 V(D =UV{IM
WR(I ST 10 CONTIME
40 CONTINCE endif
EXD IF ¢
10 CONTINUE D0 20 I-1.6

C AA=0.0D0

€ moe STII = WKT (T° *STUI*T) —oomommmmmomcome DO 30 1.6

c Ad=AA+TL(L, 3 *U(D)

D0 50 J=1,6 30 CONTINCE
IF(MOD(]. 3).EQ.0) THEN DUCI) =AA
NX=]/3-1 20 CONTINLE
DO 60 I=1.6 o
STHI(L, S)=WK(I, ) c *** Ui) : (A1LA2,A3,A4.A5,A6) ***
DO 70 Ka1,2 DO 40 I=1,6
ST11(T, J)=ST1I(L, J) +WK(1, J-3+K) * AA=0. 0DO)
& TT(2*NX+K) DO 50 J=1.6
70 CONTINVE ) AA=AATT(I, 1) *DU(J)
60 CONTINUE T 50 CONTINUVE
ELSE U(1)=AA
DO 80 Ix1,6 40 CONTINUE
ST1I(L, J) =WK(L. J) - C
80 CONTINUE DEO =U(2)
END IF DEI2=U(4)-XY*U(S) +0. 75DU*XY*XY*U(6)
50  CONTINUE DEJ2=U(4) +XY*U(5) +0. 75D0*XY*XY*U(6)

C FAI1=2.0D0*U(5)-3. 0DO*XY*L (6)

¢ *** check-begin *** FAT]=2.0D0*U(5)+3. 0DO*XY*(i (6)

c call checkd(6, "===< BVl : Converted »>===",0,BV1, 1.6) DEOI=DEO+DE12*DEI2*0. 5D0

[4 call checkd(6, '===< ST11 : Converted >===",0,STil,86,6) DEOJ=DEQ+DE]2*DE]2%0. 5D0

¢ *** check-end *** C

¢ DO 60 K=1, MUMT+MMC
RETURN DEI(K)=DEOI-FAII*Z(K)

END DEJ (K) =DEQJ -FAIJ*Z(K)

/* ./ ADD. NAME=crossx.f, <#=12/69> <DATE=Dec/15 TIME=08:39 SIZE=362> */ 60 CONTINCE

¢ C

¢ RETURN

c./ ADD LIST=ALL, NAMEscrossx. f END

< /% ./ ADD, NAME=deter.f, <¥#=14/69> <DATE=Dec/15 TIME=08:39 SIZE=688> */

¢ <crossx. > 1996/8/4 Created * C

¢ Y=ekl*(X-x1)+yl C

3 Y=ek2*(X-x2)+y2 C./ ADD LIST=ALL, NAME=deter. {

c ¢ 1994/7/13 mod by K.Yamanobe

c ¢ sssss DETER ** .
function crossx(ekl,xl,yl, ek2,x2,y2) SUBROUTINE DETER (IW, AM, IFDX, MS, DET. MUM] 3. NB)
ioplicit  real®8(a-h,o-2) C

¢ IMPLICIT REAL*8(A-H,0-2)
crossx=(ek]l *x1-yl-ek2*x2+y2)/(ek]-ek2) DIMENSION AM(MUM)3, NB), JFDX(MUM]3)

c data small/1.0D-30/
return c
end 6000 FORMAT(/IH . DIAG (*.15,") IS NOT POSITIVE

/* ./ ADD, NAME=deps.f, <#=13/69> <DATE=Dec/15 TIME=08:39 SIZE=1967> */ & G15.6, ° PROGRAM STOP'/)

c c

¢ DET=0. 0DO

C./ ADD LIST-ALL. NAME=deps. f DO 10 I=1,MS

¢ 1996/7/20 mod. IF(IFDX(I).EQ. 0) THEN

C DEPS XX=AM(I, 1)

SUBROUTINE DEPS(MMC,M,XI.XJ.YI,Y],DEI,DEJ.Z, WV, if (xx.LE.0.0D0) then
& ishr, fkinv, MUMT) vrite( 6,6000) 1,xx

[ write(iw, 6000) i,xx

C Retrofitted 1993/10/4, 10/12 stop

C MMC : IF MEMBER CONSIDERED IS WITH CONCRETE SLAB. end if

C ¥MC MUST BE MUMC, OTHERWISE MMC WUST BE ZERO DET=DET+DLOG (XX)

C M : NUMBER OF DISCRETE ELEMENT IN A MEMBER END IF

C  UV(MUMPP3) 10 CONTINGE

C  DEL(MUMT+MMC), DEJ (MUMT+MMC) . Z (MUMT+MMC) C

C RETURN

[« DU/DX0 =( 01000 0 ) * ALPH END

[& DV/DX =( 0001 2X 3X**2) * ALPH /% ./ ADD, NAME=dfbet0.f, <%#=15/69> <DATE=Dec/23 TIME=11:52 SIZE=6457> */

c D2V/DX2-( 00 0 0 2 6X ) * ALPH . c

C c
IMPLICIT REAL*8(A-H.0-2)- - . c./ add list=all, name=dfbet0. f
DIMENSION DEI(*).DEJ(*).Z(*),UV(*). fkinv(6,6) ¢ 1997/12/17
DIMENSION U(6),DU(6),TT(6,6),TL(6,6)

C subroutine dfbet0(iw, beta, ec, idivd, isect,sectid,
XLaX]-XI & joint. x, y,xo,ym, mutm, mumsc, nump,
YL=Y]-YI & nbeta, nfr. xxpos, csk, cort, alpd)
XY=DSQRT (XL*XL+YL*YL)

C implicit real*8(a-h,o-2)

CALL STRAN(XL.YL.XY.TT,TL) dimension  beta(mump, nbeta)
c dimension ec(mumsc, *), idivd (gumm), isect (oumn)
if(ishr.gt.0) then integer sectid(*)
do j=1,6 dimension  joint{(muma,2),x(*),y(*), xa(oum. *}, yo (zuna, *)
u(j)=0.0d0 divension  xxpos(pump, nbeta), csk(2*nf r*mump, nbeta)
do i=1.6 dimension  cort(mump*mump, nbeta), alnd (mump*oump, nbeta)
im=3*(m~1)+i c
u(j)=ui)+fkinv(j, i)}*uv(im) paraveter (nfrgax=3, ndmmax=3, namax=nf roax®*ndmmax}
enddo dimension  ggg(namax*namax), fgg(nfrmax*nfrmax)
enddo dimension  iwkl(namax), iwk2(namax)
else c
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data zero, one, zerox/0.0d0, 1. 040, 1.4-8/
data eps/1. 0d-8/

data pi/3.14150826535d0/

data pois/0. 1666666666667d0/

O

aleng(xl.yl,x2, y2) =dsqrt { (x2-x1)**2+ (y2-y1) **2)

*** ec(iz.4) : Total width of slab

hiad if Wt<0, beta=!Wt|

*** ec(iz,5) : b0 (yield region width)

*** ec(iz,6) : Nslab

*** ec(iz,7) : itype (l=continuous slab, 2=free-end slab)

0606006060000

ncsk=2*nfr
ibeta={

do 1000 im=1.pumm
mop=idivd(im)
iz=sectid(isect(im))
if(iz.le.0) goto 1000

ibeta=ibeta+]

do j=1.mmp
beta(j, ibeta)=one
enddo

wtotalsec(iz,4)
b0 =ec(iz,5)
slab =ec(iz,6)
itype =ec(iz,7)

loop=0
if(wtotal. It.zero) then
loop=1
do j=l,mmp
beta(j, ibeta)=dabs(wtotal)
enddo
else if(itype.eq.0.or.dabs(wtotal). It.eps) then
loop=1
endif

il=joint(im, 1)
i2=joint (im, 2)
span=aleng(x(il),y(il).x(i2),y(i2})
do i=l,mmp
xxpos(i, ibeta)=aleng(0.5*(xa(im, i)+xm(im i+1)),
0.5*(yn(im, i) +yn(im, i+1}),
x(i1},y(i1))/span

2> Re

enddo
if (loop.eq.1) goto 1000

aa=(wtotal-b0)/slab

ndip=itypes+l

nall=nfr*ndin

do i=1,nall*nall
gag(i)=zero
enddo

abyl=aa/span

do ifr=l.nfr
ba=dble(ifr)*pi*aby!
if(itype.eq.1) then
do j=1,ndim
ij=ifrenall*(j-lendin®*(ifr-1))
geg(ij)  =fncff2(ba,j)
ggg(ij+nfr)=fncffi(ba,j) +

& pois®*{fncffl(ba, j)-fncffl(zero. j))

enddo
else
do j=1,ndim
{j=ifrenall*(j-lendin*(ifr-1))
geg(ii Y=fncfx2{zero, j}
ggg(ij+ nfr)=fncfx0( ba, j)
geg(ij+2*nfr)=fncfxl( ba,})
enddo
endif
enddo
c
¢ et check SS0SENNBENS
write(6,*) © ’
write(6,*) '*** dfbet0 : Boudary matrix check ***’
write(6.*) ' ndim.nfr.nall :',ndim, nfr,nall
write(6,*) ' ggg before minve() :'
do i=l,nall
write(6,' (12f9.3)") (geg(i+nall*(j-1)).j=l,nali)
enddo

sRERr Lok YeeEsessses

call minve(ggg, nall, det, iwkl, jwk2}
LI T L] check BESESSSRESS

n

r

wvrite(6,*) *  ggg after minve() :°
do i=l.nail
write(6,” (12f9.3)") (gggli+nall®(j-1}},j=1,nall)
enddo
c (11113 ChCCk (A2 I TEITT L]
¢

if(dabs(det). It.eps) goto 9999

call frier(iw, xxpos(l,ibeta),mmp, nfr,
csk(l, ibeta}, cort (1, ibeta), iwkl, iwk2)

ssassess Integrate Sig-x = fggiaa*[ffl)éggg(nall, nal]) *eeessesss
do ifral.nfr
ba=dble(ifr)*pi*abyl
kk=ndim*{ifr-1)
do j=1,nfr
top=zero
if(itype.eq.1) then
do kal.ndim
tmpstmp+(fncffl(ba, k) -fncffl(zero, k))*
& ggg (k+kkenal 1*(j-1))
enddo
else
do k=1.ndin
top=tep+ ({ncfxl (ba, k) -fncfxl (zero, k})*
& geg (kekkenal 1*(j-1))
enddo
endif
fgg(ifrenfr*(j-1))=tmp/ba
enddo
enddo

n

¢
c *** define almd() ***

[T el Dt O . ISR, SURPUY. JRNIL JUSSI . SURPOIL Syun, S
-8
do i=1.mmp
xi=xxpos(i, ibeta)*pi
do je=i, mmp
taup=zero
do k=1,nfr
topl=zero
tap2=zero
do 1=1,nfr
topi=tmpl+fgg(kenfre(1-1)) *
& csk(l+ncsk*(j-1), ibeta)
top2=tmp2+{gg (kenfr*(1-1)) *
& csk(l+nfrencsk®(j-1). ibeta)
enddo
top=tap+dcos (xxpos(i, ibeta) *dble{k))*tapl
& +dsin(xxpos(i, ibeta)*dble(k))*top2
enddo
alod(i+mup*(j-1), ibeta)=tmp
enddo
enddo
<
¢ *** define initial beta{) : cosine curve assumed. ***
call dfbtcs(beta(l, ibeta), abyl, b0/wtotal, itype, mup)
<
¢
[ e G B ey i SRS S S RO SOy S
‘-8
write(iw,*) * °
writeliw, ' (lh ,a i5, £5.0,15,4f8.3)")
& ** DFBETO <Mew®, Nslab, itype,Wtotal.b0.a> : °
& im, slab, 1type, wtotal, bl), aa
write{iw,’ (lh .a,1218.3)") * beta : ~
& (beta(j, ibeta), j=1, mmp)
if(iv.ne.6) then
vrite(6,’ (1h ,a, iS5, f5.0,i5,48.3)")
& ** DFBETO <Mem#, Nslab, itype, Wtotal. b0, 2> : °,
& im, slab, itype, wtotal, b, aa
write(6,’ (1h ,a, 128.4)")
& ' beta : °, (beta(j, ibeta), j=}, mmp)
endif
C-—-.--"l---—.“‘-2-—‘-."-'3'—'-‘--'-4"--‘-‘-‘5“‘-""'—-6'---.'-'-7----
-8
¢
1000 continue
<
<
return
¢

9999 continue
write{6,*) ' '
write{6,*) "* DFBETO : error ! *'
stop
end
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/* ./ ADD, NAME=dfbetl.f. <==16/69> <DATE=Dec/23 TIME=11:53 SIZE=2054> */

4

0600

./ add list=all, name=dfbetl. f
1997/12/17
izesectid(isect(im}) / define beta for each member

&
&

subroutine dfbetl(iw, ec.iz,mumsc. x,y.npl,np2, beta,
cort, almd,
sig. wk, mmp)

(2]

06000600600 (2]

©

4

ec (mumsc, *), cort (aump*wunp) , alnd (nump*nump)
sig(mump), vk (2*mump)

implicit real®$(a-h,o-2)

dimension  x(*),y(*)

diwension ec(mumsc,*),beta(omp). cort {nmp, map), alnd (nmp, mup)
dimension sig(mmp)

digension  wk{(2*nmp)

topint (1)

zero /0.0d0/
one /1.0d0/
siglat/1.0d-3/
small /1.0d-2/
coef /0.5d0/

dipension
data
data
data
data
data

aleng(xl. yl.x2,y2) =dsqrt ((x2-x1) **2+ (y2-y1)**2)

. Total width of slab
if Wt<0.beta=¥t!
ec(iz,5) : b0 (yield region width)
ec(iz,6) : Nslab
ec(iz,7) : itype (l=continuous slab, 2=free-end slab)

ec(iz. 4)

if(iz. le.0) goto 1000

itype =ec(iz,7)
if(itype.eq.0) goto 1000

call matmlt(wk, one, cort, sig, mp, oap. 1)

smax=zero

do i=!,mmp
if(dabs(wk(i)). gt.dabs(smax)) smax=wk(i)
enddo

vtotalsec(iz, 4)

b0 zec(iz,5)

slab =ec(iz,6)

aa = (wtotal-b0)/slab

ndin =itypes+l]

aby! =aa/aleng(x(npl),y(npl).x(np2), y(np2))

if(dabs(smax). It. siglmt) then
call dfbtes(beta, abyl, bO/wtotal, i type, mmp)
do i=1,mmp
wk (i+mmp)=zero
enddo
goto 1000
endif

Integral Sig-x : wk(i+ump)=almdiwk(i) *sesseess
call matmlt{(wk(l+amp), one, alud, vk, mup, mop, 1)

call dfxxcs(tmpint, abyl. itype, 1)

do i=l,amp
if (dabs(wk(i)/smax). It.small) then
wk (i+mmp) sone
tmp=tepint (1)
else
top=wk (i +oup) /wk (i)
if(tmp. It.zero) then
tmp=zero
vk (i +nmp) =one
else if(tmp.gt.topint(1)) then
tmp=tmpint (1)
vk (i+mmp) =one
else
wk{i+map) =zero
endif
endif
top)=(b0+s}ab*aa*top) /wtotal
beta(i)=(one-coef)*betali)+coef*tmpl
enddo

1000 continue

c

c L2 2] check OU(Dul CRESUNESESSESEEEESEN S
¢ vrite(6, ' (a,12f6.3)7) 'BETA=".beta
¢ write(6, (a, 12f6.0}") "STAT=", (wk{i+mmp}, i=!, nmp)
c write(6, ' (a,12{6.3)") 'SICX=",sig
c ' check Oulput EEHESEREISISITENIEES S
c

return
c
8999 continue

write(6,*) '’

write(6,*) '* DFBETI : error ! *°

stop

end

/* ./ ADD, NAME=dfbtcs.f. <%=17/69> <DATE=Dec/23 TIME=12:10 SIZE=1784> ¥/

4

c
c./ add list=all, name=dfbtcs. f
c 1997/12/17

subroutine dfbtcs(beta, abyl,bratio, itype.mmp}

¢ PYYY e

¢ *** define initial beta()

: cosine curve assuped. ***

implicit real*8(a-h,o-z)
dizension  beta(mmp)

parageter (ndmax=3)
dimension  ggg{ndmax*ndpax), bbb(ndmax), ff{ (ndmax)

data zero, one/0.0d0, 1. 040/
data pi /3. 141592653540/
data pois /0. 1666666666667d0/

ick=0
goto 1000

¢ SEEENEEEIEEEIEIEARISENIII SOOI PSS EERNNSIENEES

entry dfxxcs{beta, abyl,itype, mmp)

ick=1
1000 continue
ndin=itypes+]
ba=pi*abyl

if(itype.eq.1) then
do j=l.ndim
fff(j)=fncffl(ba, })-fncffl(zero, })
nbase=ndig*tj-1)
ggg{l+nbase)sfncff2(ba, j)
ggg(2+nbase)=fncffi(ba, j)+pois*fff(j)
enddo
else if(itype.eq.2) then
do j=l.ndim
fff(j)=fncfxl(ba, j)-fncfxl{zero, j)
nbase=ndig*(j-1)
ggg(l+nbase)=fncfx2(zero, j)
ggg (2+nbase}=fncfx}(ba, j)
ggg(3+nbase)=fncfx] (ba. i)
enddo
else
coef=one
goto 8888
endif

bbb(1)=one

do i=2,ndim
bbb(i)=zero
enddo

call solvot(ggg, ndim, bbb)
call matmlt(coef,onesba, {{f, bbb, 1.ndig. )

if(ick.eq.0) then
coef=coef+(one-coef)*bratio
endif
8888 continue
do j=1.mmp
beta(j)=coef
enddo

return
end

/% ./ ADD, NAME=estkst.f, <#=18/69> <DATE=Dec/15 TIME=08:39 SIZE=1779> ¢/

[+

c
c./ ADD LIST=ALL, NAME=estkst. {

c *** estimate kst (shear only) ---- 199]1.9.2
¢ *** estimate kst (flexural only) - 1996.8.2
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¢ —=w 1006.12.17 —=mmmm

C EEVIESEEREENES L plcy o8

(EEZTTTTTY

subroutine estkst( d. h. es, sy, syb,

& fc, ec. theta, landa,

& kst, gs.

& f1, {0, alphly alph2, gam, beta )
c

¢ theta : in degree

¢ f1, {0, kstl, kst2, gam. beta : optional output
c f1  =0.50 *gs gam =0.10

c fO  =0.05 *gqs beta=0. 20

c alphl=0.070

c alph2=0. 001

c

isplicit real*$ (a-h,o-z)
real*$ {anda, kst

real*$ ke
data pi  /3.1415926535940/
data eps /1.0d-5/

data one, two, three, four, six, hal{

& /1.0d0, 2. 0d0, 3. 0d0, 4. 0d0, 6. 0d0, 0. 5d0/
c

d2 = d*d

d3 = d2%d

d4 = d3%d
¢ -— strength

asc = pi*d2/four

gs = half*asc*dsqrt (fc®ec)
if(gs. gt.asc*syb) gs=asc®syb
f1 = 0.50d0*qs

f0 = 0.05d0*qs

¢ --- stiffness (kst)
ei = es*pi*dd/64.0d0
if(dabs(theta). lt.eps) then
ke = ec/lamda
else
th = two*dtan(theta*pi/180.0d0)
ke = ec*th/dlog(one+th*]anda)
end if
bb =(kc/(four*ei))**(0. 25d0)
bh2=two*bb*h
exl=dexp( bh2)
ex2=dexp(-bh2)
kst = four*ei*(bb**3) *
& (ex]-ex2+two*dsin(bh2) )/ (ex)+ex2+fours+two*dcos(bh2))

¢
¢ --- stiffness (kstyl,ksty2), gam beta ---coccnemceaen
alphl = 0.070
alph2 = 0.001
gam = 0.10
beta = 0.20

return

end
/* ./ ADD, NAME=etirw.f, <2=19/69> <DATE=Dec/17 TIME=09:23 SIZE=12890> */
[

[
C./ ADD LIST=ALL, NAME=etirw. f
C --- MOD 1991.11.18
C --- MOD 1996.05.22
¢ -— wod 1996.12.18
c ETIRW
SUBROUTINE ETIRW
(I¥, TITLE, ISR, NUMJ, NUMM. FF. FE. BVT,
UV1, SUV, TUY, SUVM, TUVM, UVM, FMEM,
sigx, beta, nbeta,
SSIG, SEPS, isid, SDUM, CDUM,
CSIG, CEPS, ICID, ISECT, IDIVD,
SECTID. IFLAG, JOINT. NS. [NV, MIND,
MUMM, MUMJ, MUMT, MUMC, MUMJ3, MUMPP3,
MUMPZ, MUMP, MUMS, MTR )}

Re B 2% o Ro Ko R =

IMPLICIT REAL*8(A-H,0-7)

INTEGER  SECTID(MUMS)

CHARACTER TITLE*(*)

DIMENSION IFLAG(MUMS), ISW(10)

DIMENSION JOINT (MUMM, 2}, FF(MUM]3), FE (MUM], 3)
DIMENSION UV1(MUM]3), SUV (MUM]3), TUV (MUMJ3)
DIMENSION IDIVD(MUMM)

DIMENSION INV(MUMJ).WIND(MUM]3), ISECT (MUMM)
DIMENSION  UVM(MUMM, MUMPP3 +MUMP-1)
DIMENSION TUVM (MUMM, MUMPP3+MUMP-1)
DIMENSION SUVM(MUMM, MUMPP3 +MUMP- 1)
DIMENSION FMEM(MUMM, 6)

dimension sigx(mump, nbeta), beta(mump, nbeta)
DIMENSION isid(MUMT, MUMP2)

DIMENSION SSIG(MUMT, MUMP2) , SEPS (MUMT, MUMP2)
DIMENSION CSIG(MUMC, MUMP2) , CEPS (MUMC, MUMP2)

DIMENSION ICID(MUMC, MUMP2}
DIMENSION SDUM(MUMT, MUMP2Y, CDUM(MUMC, MUMP2)

DIMENSION FFP(3), FEP(3).BVT(MIM]3), BVTP(3}
DIMENSION UVIP(3),SUVP(3). TIVP(3)
DIMENSION UVMP(3), SUYMP(3), TUVMP(3)
logical  chkt,chke
CHARACTER IT , IC, IE ., IPRNT(132)
DATA IT,IC, IE /7 4, =2, "7 /

C

1000 FORMAT(/1H . ' LOADS

& INCR.EXT.LOAD ——mmeeme/,

& " /~mmnnnn- EXTERNAL LOAD --- .

& 2y INTERNAL LOAD /')
1010 FORMAT(1H . " JOINT" . 1X. 3(8X, "X(TON)*, 6X, " Y(TON}*,

& 3X. "M(TON*CM) " )/)
1030 FORMAT(1H , I5, 1X, 3(2X, 3F12.3))
1110 FORMAT(/IH ,A10,

& [ DISPLACEMENT ~mm e v /'
) Sy — SUBTOTAL  DISPLACEMENT ----- /',
) S — TOTAL DISPLACEMENT ————-—- /)
1120 FORMAT(IH , * JOINT' . 1X. 3(9K, "U(MM)*, 7X. " VOM)* , 4X,
& “T(1/100)°)/)

1140 FORMAT(1H | IS, 1X, 2(2X. 1P, 3E12.3), 2X, OP, 3F12.3)
1150 FORMAT(1H . 12, 13, 1X, 2(2X, 1P, 3E12. 3), 2X, OP. 3F12. 3
1155 FORMAT(1H , *S/C', 12, 3X, 2F12.3, 14x,F12. 3, F12.3)
1156 FORMAT(1H .* C*,12.3%, 38x.F12.3,F12.3)
1160 FORMAT(/1H . "MEMBER FORCE °,

& "/ AXIAL /"

& 26/ /.

& 2K /e MOMENT - /")
NI(TON)  STRAIN

& NJ(TON)  STRAIN, 8X,

& "QICTON} ", 6K, "QJ(TON)*, 4X.

14 'MI(T*CM) E1-E2 W(T*CW)
1180 FORMAT(IH . 12,1X.12,"-".12,2X.

& 2(F10.3, C,F8.4.7)"),

& 2X.2F13.3,2X.2(F10.1," (" ,F8.4,")"))
1190 FORMAT(IH , 10X, ' /=-—-==~ "

& "SHEAR CONNECTOR : SHEAR FORCE(tf), °

& *RELATIVE DISP. (m) & °,

4 ‘CONC : STRESS(kgf/cm2), STRAIN(Y) ------ /")
1210 FORMAT(/1H , *STRESS OF MEMBER (',12,°) .

& 12.'-",12.° YIELD STATE (MUMC='.I3,

& " OMUMT=",13,7)7)

E1-E2'/)

e e Nel

WRITE(IW, " (/1H ,130A1)") (**',]=1,130)
WRITECIW, " (1H , A9, I5,A5.A50) ")

& "¢ STEP : ", NS’ * TITLE
WRITE(IW. " (1H . 130A1)") (**',]J<1.130)
WRITE(IW, 1000)

WRITE(IW, 1010}

DO 30 I=1,NUM]
D0 20 J=1,3
JJ=(1-1)*3+]
FFP())=FF(J])
FEP{J)=FE(L. ])
BVTIP(J)=BVT(J])
20 CONTINUE
WRITE(IW. 1030) INV(I). (FFP(]).J=1.3),
& (FEP(]),J=1,3), (BVTP(]).]=1.3)
30 CONTINGE
C
WRITE(I¥, 1110) "NODE DISP."
WRITE(IV. 1120)
DO 110 I=1, NUMJ
J=(1-1)*3
IMI=MIND(J+1)
IM2=MIND(J+2)
IM3=MIND(]+3)
UVIP(1)=UVI(IM1)* 10.0D0
LVIP(2)=UVI(IM2}* 10.0D0
UVIP(3)=UV1 (IM3) *100. 0DO
SUVP(1)aSUV (IM1)* 10.0D0
SUVP(2)=SUV(IM2)* 10.0D0
SUVP(3) =SUV (IM3) *100. 0D0
TUVP(1)=TUV(IM1)* 10.0D0
TUVP(2)=TUV(IM2) * 10.0D0
TUVP (3)=TUV(IM3) *100. 0DO
WRITE(IV. 1140) INV(I). (UVIP(K).K=1.3)},
& (SUVP(K), K=1,3), (TUVP(K).K=1,3)
110 CONTINUE
c
WRITE(IW, 1160)
WRITE(IF. 1170)
REWIND MTR
NH=MUMT / 2
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DO 120 =1, NLWM

e 2e Qv

]
4
&

120
C

135

130

&

13
140

2o 2

&

IZ = ISECT(M)

WP = IDIVD(M)

CALL READMT(MIR. 0, SECTID(1Z), IFLACUIZ),
sdum, sdum, SDUM, SDUM, SSIG, SEPS, isid. SDWM,
CDUM, CDUM, CDUM. CSIG, CEPS, ICID. CDUM,
MUOMT, MUMC, MP. MUMP2)

AXEPI=(SEPS(\H. 1)+SEPS(NH+ 1, 1))#50.D0

AXEP] = (SEPS (NH, 2*MP) +SEPS(NH+ 1, 2*MMPY ) *30. DO

PHAII=(SEPS(1. 1) -SEPS(MUMT. 1))*100. D0

PHATJ=(SEPS(1. 2*MMP)-SEPS(MUMT, 2*MMP) ) *100. DO

J1 =JOINTM. 1)

J2 =JOINT(M.2)

WRITE(IK, 1180) M, INV(J1), INV(J2), FMEM(M. 1),
AXEPT, PMEM(M, 4), AXEP], FMEM(M, 2),
FMEM(M. 5), FMEM(H, 3), PHAII,
FMEM(M, 6) . PHAIL]

CONTINUE

IF(ISW(1).EQ. 1) THEN
WRITE(I¥, 1110) "MEMB DISP."
WRITE(IW, 1120)

REWIND MTR
DO 130 T=1, NUMM

12=1SECT(i)

M¥P=IDIVD(i)

CALL READMT(MTR, 0, SECTID(IZ), IFLAG(IZ),
sdum. sdum, SDUM, SDUM, SSIG, SEPS. isid, SDUM,
CDUM. CDUM, CDWM, CSIG, CEPS, ICID, CDUM,
MUMT, MUMC, MMP, MUMP2)

if (mmp.eq. ) goto 130

DO 140 J=1,\MP+]

UVMP(1)= IVM(T,3%)-2)* 10.000
UVMP(2) = UVM(I, 3%]-1)* 10.000
UVMP(3)= UVM(I, 3*] )*100.0D0

SUVMP (1) <SUVM(I, 3*J-2)* 10.0D0

SUVMP (2) =SUVM(I, 3*J-1)* 10.0D0

SUVMP (3)=SUVM(T, 3*] ) *100.0D0

TUVMP (1) =TUYM(T, 3*]-2) * 10.0D0

TUVMP(2) =TUVM(1, 3*]-1)* 10.0D0

TUVMP(3)=TUWM(I,3*] )*100.0D0

WRITE(I¥, 1150) L1 (UWP(K), K=1.3),

(SUVMP(K), K=1,3), (TUWMP(K).K=1,3)

CONTINUE

IF(IFLAG{ISECT(I)).GT. 0. AND. MMP. GT. 1) THEN

WMPP3 = 3*(MMP+1)

VRITE(IW, 1190)

DO 135 J=1.\8p

if().LT. map) then
WRITE(IW,1155) J.
CSIG(1, mmp+j). CEPS(1, mmp+j)*1.0D1,
CSIG(1, j)*1.0D3, CEPS(1, j)*1.0D4
else
WRITE(IW, 1156) ],
CSIG(1, j)*1.0D3, CEPS(1, j)*1.0D4
end if
CONTINUE
END IF
CONTINUE

REWIND MTR
DO 260 M=1, NOMM

1Z=ISECT (M)

MVP=IDIVD (M)

CALL READMT(MTR, 0, SECTID(IZ), IFLAG(IZ),
sdup, sdum, SDUM, SDUM, SSIG, SEPS, isid, . SDUM,
CDUM. CDUM, CDUM, CSIG, CEPS, ICID, CDUM,
MUMT, MUMC, MMP, MUMP2)

if (mmp.eq.1) goto 260

J1=JOINT(M, 1)

J2=JOINT (M. 2)

WRITE(IN, 1210) M, INV(J1), INV(]2), MUMC, MUMT

WRITE(I®,*) * *

WRITE(IW, ' {1k ,3a)")

' ===c (.):ELASTIC’,
* (+#):YIELD IN TENS. (-):YIELD IN COMP.",
* (8):SLIP IN CONC./YIELD IN SHEAR >---'

DO 270 1=1,MdP*2

YMC=1

IF(MOD(1,2).EQ. 1) THEN
CALL ATOA(IPRNT,MMC,”  SECT: )
CALL TTOA(IPRNT,MMC, 3, (1+1)/2)
CALL ATOA(IPRNT,MMC," (L) ")

ELSE
CALL ATOA(IPRNT, MMC." )
CALL ATOACIPRNT,MMC." *)
CALL ATOACIPRNT,MMC.” (R) )
END IF

CALL ATOA(IPRNT.MMC," ")

IF(SECTID(1Z).GT. 0 THEN
IF(IFLAG(IZ).EQ. 0 THEN
DO 252 J=1.MMC
IF(ICID(), .LT.0) THEN
CALL ATOA(IPRNT.MWMC, IT!
ELSE IFC(ICIMI, 1).EQ. 1} THEN
CALL ATOACIPRNT. MMC, ICY
ELSE IFCICID(],I).CT. 2} THEN
CALL ATOACIPRNT, MMC.'S™)
ELSE
CALL ATOA(IPRNT, MMC. IE}
END IF
252 CONTINUE
ELSE
[F(MOD(I,2).EQ. 1} THEN
NH = 17241
IF(ICIDA1. NH).LT. 0) THEN
CALL ATOACIPRNT,WMC, IT)
ELSE IF(ICID(1,ND.EQ. 1) THEN
CALL ATOA(IPRNT. MMC. IC)
ELSE IF(ICID(1.NH).GT.2) THEN
CALL ATOA(IPRNT,MMC,'S")
ELSE
CALL ATOA(IPRNT, MMC, IE)
END IF
CALL ATOA(IPRNT,MMC,” )
ELSE
c *** shear connector ***
NH = MMP+1/2
CALL ATOACIPRNT,MMC.® ")
IF(1/2.GT.MMP-1) THEN
CALL ATOA(IPRNT.MMC,” )
ELSE
jlaicid(1,nh)/100
j2=modticid(l,nh), 10)
if(jl.eq.1) then
if(j2.eq.2) then
call atoa(iprat,muc,'Y")
else if(j2.ge.4) then
call atoaliprnt,mmc,’'S’)
else
call atoa(iprnt,mac, ie)
endif
else
call atoa(iprnt,pac, ie)
endif
END IF

END IF
END IF
END IF

CALL ATOA(IPRNT,MMC." )

DO 255 J=1,MUMT
nh=isid(j, i)/10
j2=mod(nh, 10)
j1=nh/10
if(j2.eq.0) then
chkt=((j1-1)*(31-3).le.0)
chke=((j1-4)%(j1-6). le.0)
else
chkt=(jl.eq.3)
chkc={jl.eq.6)
endif
IF(chkt) THEN
CALL ATOA(IPRNT.MWMC,IT)
ELSE IF(chke) THEN
CALL ATQA(IPRNT.MMC, IC)
ELSE
CALL ATOA(IPRNT, WMC, IE)
END IF L
255 CONTINUE
WRITE(IR, ' (JH . 132A1)")
4 (IPRNT(]), J=1. MMC-1)
270 CONTINVE
C
WRITE(I¥,*) "
YRITE(IW, ' (1h ,2a)")
& ' ---< STRESS/FORCE DIST. AT EACH SECTION'.
& ° : (-) FOR COMPRESSION >~-- kgf/cm2, <kgf>, 10kgf/cu2’

DO 280 I=1,MMP*2
MMC=1
IF(4OD(I, 2).EQ. 1) THEN
CALL ATOACIPRNT,MMC.*  SECT= )
CALL ITOA(IPRNT, MMC. 3, (1+1)/2)
CALL ATOA(IPRNT.MMC.* (L) *)
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ELSE
CALL ATOA(IPRNT,MMC.’ 2
CALL ATOA(IPRNT.MMC.” ")
CALL ATOA(IPRNT.MMC." (R) )
END IF

CALL ATOA(IPRNT.MMC,” )

IF(SECTID(1Z).GT.0) THEN
IF(IFLAG(12).EQ.0) THEN
DO 271 J=1,MUNC
CALL ITOA(IPRNT,MMC, 4,
& IDNINT(-CSIG(J. I)*1.0D3))
271 CONTINUE
ELSE
IF(MOD(I, 2).EQ. 1) THEN
N = 1/2+1
CALL TTOA(IPRNT.MMC. 4, .
& IDNINT(-CSIG(1, NH) *1.0D3))
CALL ATOA(IPRNT. MMC, " )
ELSE
NH = MMP+1/2
CALL ATOACIPRNT.MMC," *)
IF(IFLAG(IZ).GT.0 . AND.
& 1/2.LE.MMP-1) THEN
CALL ITOA(IPRNT,MMC,8,
& IDNINT(CSIG(1, NH)*1.0D3))
ELSE
CALL ATOA(IPRNT.MMC,' )
END IF
END IF
END IF
END IF

CALL ATOA(IPRNT.MMC," )
DO 272 J=1, MUMT
CALL ITOA(IPRNT,MMC,4,
& IDNINT(SSIG(J. 1)*1.0D2) )
212 CONTINUE
WRITE(IW. * (1H ,132A1)")
& (IPRNT(J), J=1,MMC-1)
280 CONTINUE
WRITE(IV. " (1))
260  CONTINUE
[
REWIND MTR
END IF
C /*** END OF ISW(1)=1 **%/

C FREREE o, sEssEEEe

if(nbeta.eq.0) return

write(6,*) "===< Effective Width Ratic >==ssssemszzcanszsas=’

ibeta=0
do m=1, pumn
izasectid{isect(m))
mmp=idivd(m)
if(iz.gt.0) then
ibetasibeta+}
write(6, ' (1h ,a,15f8.3)") 'Beta :°,
& (beta(j, ibeta), j=1,mmp)
write(6,' (1h ,a,15{8.3)") "Sig :°,
& (sigx(j, ibeta), j=1, nap)
endif
enddo

RETURN
END

/* ./ ADD, NAME=etirwg.f, <#=20/69> <DATE=Dec/15 TIME=10:35 SIZE=4954> */
C

C
C./ ADD LIST=ALL.NAME=etirwg. {
C -—- MOD 1991.11.18
C - Mod 1996.7.10
c ETIRWG
SUBROUTINE ETIRWG
( IWRT. ibflag, JOINT, ISECT, IDIVD, IRIGID, RIGID,
ORGCS, SY. REACTK,
DEAD, OFSIL, X, Y. INV, MIND,
Xa, ym,
NRND, ARND,
OFSTC. YILDS, SECTID, IFLAG. A, Z, BETA,
EC. YILDC, AC, ZC, EE, EP. ssbri,ssbrk.
MUMM, MUMJ. MUMP, MUMT, MUMR, MUMS, MUMSC,
MUMC, nbeta )
IMPLICIT REAL*8(A-H.0-Z)
DIMENSION JOINT (MUMM, 2), ISECT(MUMM) , ORGCS (MUMM, 2)
DIMENSION IDIVD (MUMM)
DIMENSION TRIGID(MUMN, 2), RIGID(MUMM, 2)
DIMENSION SY (MUMM) , REACTK (MUMM, 2)
DIMENSION DEAD (MUMM, 2* (MUMP-1))

R Re R @ Re e Rv R A%

DIMENSION OFSTL (MUWM. 4* (MUMP-1))

DIMENSTON X(MUMJ), YOMUM) ), INVOMUM]), MIND(3*MUM])
digension xo!gums. mump+!), yol(ouss, susp+])
DIMENSTON NRAD(MUMRY, ARND(3, MUMR}, OFSTG(6, MIMR)
DIMENSION YILDS{MUMS), IFLAG (MUMS)

INTECER ~ SECTID(MUMS)

DIMENSION A(MUMS, MUMT) . Z (MUMS, MUMT)

DIMENSION BETA(mump, nbeta), EC(MUMSC, 3)
DIMENSION YILDC(MUMSC. *}

DIMENSION AC(MUMSC, MUMC) . ZC(MUMSC, MUMC)
CHARACTER*10 MEMB. NODE, REAC, SECT

c
DATA  MEMB, NODE, REAC, SECT, BTA /
& ' MEMB ‘. "MODE "
] 'REAC Y USECT ‘. 'BETA /

data nyilde/12/

c

c ibflag : l=binary output

c

C KEY WORD : 'MEMB ' IWRT : LRECL=132 (FB)
" NODE .

*REAC .

*SECT '

'BETA !

OO0

9999 FORMAT(10X, 1P, 12E10.3)
c
if(ibflag.eq.1) then
ay=(ssbri+ssbrk)*ee
write(iwrt) muum, numj, nump, oumt, munr, Dups, ouasc, aunc, nbeta,
& real (ee), real (ep), real (ay)

write(iwrt) joint, isect, idivd, irigid. inv, mind, iflag. sectid
vrite(iwrt) ((real(rigid(i,j)), i=l, num), j=1,2)
write(ivrt) ((real(orges(i,})), i=1,mum), j=1,2)
write(iwrt) (real{(sy(i)), i=], nuom)

c .
write(iwrt) (real(sy(i)),i=1, gumm)

write(iwrt) ((real(reactk(i,j)), i=l.mumm), j=l1,2)
write(iwrt) ((real(dead(i,j)), i=l, mum), j=l, 2% (mump-1))
write(ivrt) ((real(ofstl(i,j)), i=}, mumm), j=1, 4*(oump-1))
write(iwvrt) ((real(xm(i,j)),i=], pumm), j=1, mump+})
writeliwrt) ((real(yn(i,})),i=], oumw), j=1, gquops+l)
write(iwrt) (real(x(i)),i=1,oumj)
write(iwrt) (real(y(i)),i=1, oumj)
write(iwrt) (real(yilds(i)), i=], nums)
write(ivrt) ((real(a(i,j)). i=1,pums), j=!, oumt)
write(iwrt) ((real(z(i.})),i=1,mums), j=!, gugt)
if (mupr. gt.0) then
write(iwrt) nrnd
write(iwrt) ((real{arnd(i,}))},i=1,3). j=l, mumr)
write(iwrt) ((real{ofstg(i,)),i=1.6), =1, ounr)
endif
if(nbeta.gt.0) then
write(iwrt) ((real(beta(i,j)),i=1.mpump), j=l,nbeta)
endif
if (mumsc. gt.0) then
write(iwrt) ((real(ec(i,j)),i=1,numsc), j=1,3)
write(iwrt) ((real(yilde(i,j)), i=1,mumsc), j=1.nyildc)
write(ivrt) ((real(ac(i,j)),i=1, numsc), j=1,mumc)
write(ivrt) ({real(zc(i.j)), i=l,numsc), j=1, mumc)
endif
return
endif

WRITE(IWRT, * (915, 1P, 4E9.3)")
& MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS, MUMSC,
& MUMC. nbeta, EE, EP. ssbri,ssbrk

WRITE(IWRT. * (A10)") MEMB
DO 10 I=1,MUMM
WP = IDIVI(T)
WRITE (IWRT. * (715, 5%, 1P, 8E10.3)*)
1. JOINT(I, 1). JOINT(1, 2) . ISECT(D),
WP, TIRIGID(I, 1), IRIGID(T. 2},
RIGID(1, 1), RIGID(L. 2),
ORGCS(I,1), 0RGCS(1, 2), sy (i), SY(D),
REACTK(I, 1), REACTK(I, 2)
¥RITE (INRT. 9999)
& (DEAD(I, J), J=1, 2*00P-1))
WRITE(IWRT. 9999)
& (OFSTL(I, J), J=1.4* OP-1))
10 CONTINUE
c

R @e @e Ro RO

DO 20 I=1,MUMJ
WRITE(IWRT, ' (A10,415, 1P, 2£10.3)") NODE,
& INVCT), (MIND(3*(I-1)+]).J=1,3). X(D). Y(D)
20 CONTINGE
[
DO 30 I=1.MUMR
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WRITELIWRT, ' (A10, 15, 5X, 1P. 9E10.3)")
& REAC, NRND(CD), (ARND(J, D), J=1,3),
& (OFSTGL, D, J=1,6)
30 CONTINLE

write(ivrt, ' (al0)") bta

do i=],nbeta
WRITE(IWRT, 9999) (BETA(], 1), J=1, MOVP)
enddo

LB B T s I O o)

DO 40 I=1.MUMS
FRITE (IWRT, * (A10, 315, 5%, 1P,E10.3)")
1] SECT, I. SECTID(I), IFLAG(I), YILDS(D)
WRITEVIWRT, 9999) (A(I.J),Z(1,)), J=1, MUMT)
IF(SECTID(D).CGT.0) THEN
K=SECTID(I)
WRITE(IWRT, 9999) (EC(K,]).J=1,3)
WRITE(IKRT,9999) (YILDC(K, J), J=1.nyildc)
WRITE(IWRT, 9999) (AC(K,J).ZC(K.]), J=1,MMC)
END IF
40 CONTINUE
C
RETURN
END
/% ./ ADD, NAME=etirws.f, <#=21/69> <DATE=Dec/15 TIME=08:39 SIZE=2099> */
C
c
C./ ADD LIST=ALL, NAME=et irws. {
C --- MOD 1991.11.18
C -—- MOD 1993.12.03
C -— mod 1996.06.03
C -— mod 1996.12.20

C ETIRWS
SUBROUTINE ETIRWS( IWRT, ibflag. i0, il, TUV, BVT, FMEM, TUM.
3 MIND, NS, IDIVD,
4 MUME, MUMM. MUMP )

IMPLICIT REAL*8(A-H,0-Z)

DIMENSION TUV(3*MUMJ), BVT (3*MUM] ), FMEM(MUMM, 6)
DIMENSION TUVM(MUMM, 3* (MUMP+1) +MUMP-1)
DIMENSION MIND(3*MUMJ). IDIVD (MUMM)

¢
¢ If 10«0, STEP & DISPFORCE
¢ If i1¢>0, MEMFORCE & MEMDISP
C KEY WORD ; 'STEP * IWRT ; LRECL=132 (FB)
C *DISPFORCE *
C "MEMFORCE  *
% ' MEMDISP
C
C
if(ibflag.eq.l) then
vrite(iwrt) ns
write(iwrt) (real(tuv(i)), i=],3*oumj)
write(iwrt) (reaf(bvt(i)),i=l.3%ounj)
write(iwrt) ((realt:zen(i.j)). i=l,ounm), j=1,6)
do i=l,numnm
pp=idivd(i)
vrite(iwrt) (real(tuvm(i,})),j=1,3*(up+l)+ap-1)
enddo
return
endif
c
WRITE(I¥RT, * (A10,415)") 'STEP
& NS, MUMJ, MUMM, MUMP
C
if(i0.ne.0) then
DO 10 I=1,MUM]
FRITE(IRRT, ' (A10, I5, 5X, 1P, 6E10.3)")
& *DISPFORCE ', 1.
& (TUV(MIND(3*(1-1)+])),BVT(3*(I-1)+]).]=1,3)
10 CONTINUE
endif
o
if{il.ne.0) then
DO 20 I=1, MUMM
WRITE (I¥RT, * (A10,215, 1P, 6E10.3)")
& "MEMFORCE °. I, IDIVD(I),
4 PEM(L, 1), FMEM(1, 4),
& FMEM(T, 2), FMEM(I, 5),
4 PYEM(I, 3), FMEM(1, 6)
DO 30 J=1, IDIVD(I)+1
WRITE(IWRT, * (A10, 215, 10X, 1P, 3E10.3)")
& SEMISP UL,
& (TUVM(I, 3*(J-1) +K) . K=1,3)
30 CONTINUE
20 CONTINUE
endif
C
RETURN
END

/% ./ ADD, NAME=etirwx.f, <#=22/69> <DATE=Dec/15 TIME=08:39 SIZE=2144> */

C
C
C./ ADD LIST=ALL, NAME=et irwx. f
C --- MOD 1991.12.08
C --- Mod 1996.7.10
Cresasssonsresss [TIRYY wossosssnsssssntasssosisssonss
SUBROUTINE ETIRWX( IWRT. ibflag, M. ISCTD. IFLAG.
SSIG, SEPS, CSIG, CEPS,
MUMT. MUMC, MUMP )

&
&

C --- MUMP=IDIVDAM)
IMPLICIT REAL*8(A-H,0-Z)

DIMENSION SSIG(MUMT, 2*mump) . SEPS(MMT. 2*zump)
DIMENSION CSIG(MUMC, 2*mump) , CEPS (MUMC, 2*mump)

¢

C KEY WORD : "STEEL IWRT : LRECL=132 (FB)
C "CONC

C "CONCX

[ "STUD

c

¢

9999 FORMAT(10X, 1P, 12E10. 3)
C

if(ibfiag.eq.1) then

write(iwrt) ((real(ssig(i,j)),i=1,mumt), j=I.2*nump)

write(iwrt) ((real(seps(i,j)), i=1,mumt), j=1, 2*sump)

if(isctd. gt.0) then
write(ivrt) ((real(csig(i.j)), i=l, mumc), j=1. 2*uump)
vrite(ivrt) {((real(ceps(i,})), i=), mumc), j=1, 2*gump)
endif

return

endif

DO 10 I=1,MUMP
K2 = 2*1
Kl = K2-1
WRITE(IWRT. * (A10.2I5)") "STEEL M
WRITE (I¥RT, 9999)
4 (SSIG(J, K1), SEPS(J. K1),
& SSIG(J.K2), SEPS(J.K2). J=1, MUMT)
10 CONTINUE
c
IF(ISCTD. CT. 0) THEN
[F(IFLAG.EQ. 0) THEN
DO 30 I=1.MUMP
K2 = 2*1
Kl = K2-1
WRITE(IWRT, * (A10.215)") "CONC M
WRITE (IWRT, 9999)
& (CSIG(]. K1), CEPS(]. K1),
& CSIG().K2) . CEPS(],K2), J=1.MUMC)
30 CONTINUE
ELSE
WRITE(IWRT. * (A10.15)") *CONCX .
WRITE (IWRT. 9999)
& (CSIG(1, 1), CEPS(1. J}. J=1, MUMP)
IF(IFLAG.GT.0) THEN
WRITE(IWRT, * (A10.15)') 'STUD "M
. WRITE (IWRT, 9999)
& (CSIG1, J), CEPS(1, J}, J=MUMP+1, 2*MUMP-1)
END IF
END IF
END IF

RETURN
END
/* ./ ADD, NAME=ffshr.f, <2=23/69> <DATE=Dec/15 TIME=08:39 SIZE=2055> */

./ ADD LIST=ALL, NAME=f fshr. f
b ffshr
*** Shear deformation considered *** 1996/7/19 mod.

an 60 a0

subroutine ffshr(st,cs,sn,xyl, fkinv, revga)

**¢ if id=0 : st will be changed based on stiffness st & revga.

hidd id=1 : only shear compliance fkinv will be calculated into st.
--- diplacements : (ul,vl, thl,u2,v2, th2) ---

--- regga : kap/ga --- 1996/7/18 modified

(1) 1Pt =lexfl-1infl={Kf]*1dUf!

(2) idUsl={Fs]*idPt =[Fs]*[Kf}®idUf}

(3) 1dUt} = 1dUf! + 1dUs} =(1+[Fs}*{Kf]) * duf}

(4) {duft =Invert(I+{Fs]*[Kf]) *{dUt}

(5) [Kt] =[Kfl*Invert(I+[Fs}*{Kf])

N s B N B e B s B s B T B e M2 )

implicit  real*8(a-h.o-z)
dimension st(6,6), fkinv(6,6)

dimension bv(6)
dimension iwl(6), iw2(6)
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¢ *** Shear deformation considered ***
c

bv(l}= sn

bv(2)=-cs

bv(3)s 0.0d0

bv(4)=-bv(l)

bv(5) =-bv(2)

bv{6)= 0.0d0
*** check-begin ***
call checkd(6," ffshr/bv : *,0.bv,1,6)
call checkd(6, ffshr/st : *,0,st.6,6)
check-end ***

-=< (4) shear compliance fs(i,k)=xyl®revga®bv(i)*bv(k) >--=
- fs' (i, })=modsign(i. j)+fs(i.k)*st(k, j) >emm
do i=],6
bixrevga®xyl*bv(i)
do j=1.6
fkinv(i, j)=nodsign(i. j)
do k=1,6
fkinv(i, j)=fkinv(i, }) +bi*bv (k) *st k, j)
enddo
* enddo
enddo

anNnonoo0onoon
»
*
*

*** check-begin *** ’

*** check-end ***

060000

call minve(fkinv, 6,det, i}, iw2)

*** check-begin ***

check-end ***

0O N o600 a
-
3
.

-—< (5) st(i,j)=st(i,k)*fkinvik,j) >-—
do i=1,6
do j=1.6
bv(j)=0.0d0
do k=1,6
bv(j)=bv(j)+st(i,k)*fkinvik, j)
enddo
enddo
do j=1.6
st(i, j=bv(j)
enddo
enddo

*** check-begin ***
call checkd(6, " ffshr/st after minve() : ".0,st.6,6)
*** check-end ***

0o no6ao

return
end

/* ./ ADD, NAME=fncff0.f. <#=24/69> <DATE-Mec/15 TIME=08:39 SIZE=1014> %/

¢ Prowey

function fncffO(xx, i)

C 8
c i :lt2
C
implicit real*8 (a-h.o-z)
c -
if(i.eq.1) then
ret=dcosh(xx)
else if(i.eq.2) then ..
ret=xx*dsinh (xx) :
else
goto 999
endif
c
fncffO=ret
return
¢
ot
entry fncfx0(xx, i)
c
c i :1to3d
c
if(i.eq.1) then
ret=dexp{-xx)
else if(i.eq.2) then
ret=(1.0d0+xx) *dexp(-xx)
else if(i.eq.3) then
ret=dexp(xx)
else
goto 999
endif
c
fncfx0sret
return

call checkd(6.  ffshr/fkinv before minve() : °,0, fkinv.6,6)

call checkd(6, ' ffshr/fkinv after winve() : .0, fkinv,6,6)

c
999 continue
write(5. % "*** {nc{{00/Incfx0(} : out of range , i='

stop
c
end
/* ./ ADD, NAME=fncffl.f, <#=25/60> <DATE=Dec/15 TIME=08:39 SIZE=1022> */
¢
function fncffl(xx,i)
c
¢ i 1lto2
c 1 1] (1217
¢
implicit real*8 {a-h,o-z)
c
if(i.eq.1) then
ret=dsinh(xx)
else if{i.eq.2) then
ret=dsinh(xx)+xx*dcosh(xx)
else
goto 999
endif
c
fncffl=ret
return
c
ort vesos
entry fnefx](xx, i)
cosene
¢ i :1t3
o*s
if(i.eq.1) then
ret=-dexp(-xx)
else if(i.eq.2) then
ret=-xx*dexp{-xx)
else if{i.eq.3) then
ret=dexp(xx)
else
goto 998
endif
c
fncfxl=ret
return
[
c

999 continue
write(6,*) "*** fncff1(}/fncfx1(} : out of range , i="
stop
c
end

/* ./ ADD, NAME=fncff2.f, <#226/69> <DATE=Dec/15 TIME=08:39 SIZE=1032> */

Paddidd

function fncff2(xx,i)

sassh

c
c i 1to2
<
c
implicit real*8 (a-h,o-z)
¢
if(i.eq.1) then
ret=dcosh (xx)
else if(i.eq.2) then
ret=2. 0d0*dcosh(xx) +xx*dsinh(xx)
else
goto 999
endif
<
fneff2=ret
return
c
pryes
entry fncfx2(xx, i)
c
c i :1lted
c
if(i.eq.1) then
ret=dexp(-xx)
else if(i.eq.2) then
ret=(xx-~1. 0d0) *dexp(-xx)
else if(i.eq.3) then
ret=dexp(xx)
else
goto 998
endif
c
fncfx2=ret
return
c
999 continue

write(6,*) “*** fncff2()/fncfx2() : out of range , i=',
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stop
c
end
/% ./ ADD, NAME=fncffi.f, <%=27/60> <DATE=Dec/22 TIME=11:29 SIZE=1130> */
c L IX 12T [E22E2 QTR 12 1Y 3
function fncffi(xx,i)
¢ >N
¢ i :1to2 (Integral of fncff0 with respect to <x=0,xx>
¢ senss LT .
implicit real*$ (a-h,0-z)
c
if(i.eq. 1) then
ret=dsinh(xx)
else if(i.eq.2) then
ret=xx*dcosh(xx)-dsinh(xx)
else
goto 999
endif
c
fncffi=ret
return
c
C
entry fncfxi(xx,i)
c
¢ i :1to3 (Integral of fncff0 with respect to <x=0, xx>
c
if(i.eq.1) then
ret=-dexp(-xx)+1.0d0
else if(i.eq.2) then
ret=-(2. 0d0+xx) *dexp(-xx)+2. 0d0
else if(i.eq.3) then
ret=dexp(xx)-1.0d0
else
goto 999
endif
c
fncfxi=ret
return
c
999 continue
vrite(6,*) "*** fncffi()/fncfxi() : out of range . i=',i
stop
c
end
/* ./ ADD, NAME={rier.f, <#=28/69> <DATE=Dec/15 TIME=08:53 SIZE=2646> */
c
¢
c./ add list=all,nape=frier. f
¢ 1997/12/14
¢ iz=sectid(isect(in)) / define beta for each member
subroutine frier(iw, x,mmp.nfr,csk.coef,iwkl, iwk2)
implicit real*8(a-h,o-z)
divension  x{mmp),csk(2*nfr, mmp), coef (amp*mup)
dimension  iwkl(wap), iwk2(mmp)
data zero, one/0. 0d0, 1. 0d0/
data eps/1.0d-6/
data pi/3.1415926535d0/
c
nll(i, j)=i+2*nfr*(j-1)
nl2(i, j)=i+2*nfr*(nfrsj-1)
n21(i, jY=i+nfrs2*nfr*(j-1)
n22(i, jYai+nfre2®nfr*(nfrj-1)
c
c
if (mp. 1t. 2%nfr) goto 9999
c

if (mmp. gt. 2*nfr) then
do i=1,nfr
ti=dble(i)*pi
do j=l.nfr

tj=dble(j)*pi

vll=zero

vl2=zero

w21=zero

v22=zero

do k=1, mmp
wil=wll+dcos(x(k)*ti)*dcos (x(k)*tj)
vi2=w12+dcos(x (k) *ti)*dsin(x(k)*tj)
w21=v21+dsin{x (k) *ti)*dcos (x{k)*tj)
v22«¥22+dsin{x(k)*ti)*dsin(x(k)*tj)
enddo

nps=i+2*nfr*(j-1}

coef (nll (i, }))=vll

coef (nl2(i, j))=wl2

coef (n21(i, j))=w2]

coef (n22(i, j))=w22

enddo
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enddo
call minve(coef.2*nfr, det, iwkl. iwk2}
if(dabstdet). [t.eps) goto 9080
do i=1.2%nfr
do j=1, mmp
tj=x(j}*pi
vll=zero
do k=1,nfr
wli=wllecoef(nl1ii, k}) *decositj*dbletk))
& +coef(n12(i. k) ) *dsin{tj*dbletk))
enddo
cskii, j)=wll
enddo
enddo

*** Case of mmp = 2°nfr ****
else
do i=1,mmp
ti=x{(i)*pi
do j=1.nfr
cskii, ] y=dcos(ti*dble(j))
csk(i, j+nfr)=dsin(ti*dble(j))
enddo
enddo
call minve(csk. mmp. det, iwkl, iwk2)
if (dabstdet).1t.eps) goto 9999
endif

do i=1,mmp
xi=x(i)*pi
do j=1.mmp
vll=zero
do k=1,nfr
wll=wll+dcos(xi*dble(k))*csk(k )
& +dsin(xi*dble(k)) *csk{k+nfr, })
enddo
coef (i+mmp®(j-1))=wll
enddo
enddo

return

9999 continue
write(6,*) '
write(6,*) '* FRIER : error ! *
stop
end

* ./ ADD., NAME=hyslip.{. <#=29/69> <DATE=Dec/15 TIME=08:39 SIZE-=13908> */

./ ADD LIST=ALL, NAME=hyslip. f

EIERXES BSOS hyslip (new VerSiDn ) SESERERREE DS ELSESERLRSS
1996/11/16 * 1997/1/14 * 1997/5/6
This program presents revised Tri-linear slip hysteresis model.

subroutine hyslip

& (s,

& kst, alphl.alph2, qy, ql.q0, gam, beta, eta, x0, y0, dx,
& eks, ynev, xnew, xp, xn, idx )

xp.xn, id : need to be memorized.
generally adopted values : alphl=0.10, alph2=0.005

is : direction index.
if is<0, then dx assumed to be zero. and
eks will be passed only.

kst : Initial stiffness
alphl : Sencond stiffness ratio to kst
alph2 : Third stiffness ratio to kst

qy : Yield strength (must be positive)
ql : First turning point strength (must be positive)
q0 : Slipping strength (negative available)

gam . Stiffness Degradation index 0.2
beta : Slip stiffness degradation index (0.5}
eta . Strength Degradation index 0.0)

x0 : former x-value

y0 : former y-value

dx : incremental x-value for new state
*** [olloings are all output variables ***

eks : new modulus at given dx
ynew . new total y-value
xnev : nev total x-value (=x0+dx)
xp : maxipum experienced x-value
xn : minimun experienced x-value
*e0 Misc. (1]
idx : nnn (if idx=0., then initial values are set to xp/xn.)

+-==> idst :@ Yield State Index (0-1) O=Pre-yield l1=Post-yield
| +-=> idir : Direction Status (1/2) 1=Positive 2aNegative
| | +-> id : Local Hysteresis Index ({0]1-5)
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11
nnn = 100*Cdst)+10*(idir)+ (id)

id/idst | 0 ! 1

| <Init. call> |
| Elastic |
I Yield<l> ]
| Unloading |
| Slip state{l) |
| |
| |
| |

Yield<2>
Unloading
Slip state(l)
Slip state(2)
Unloading
Unloading

. from id=2

Slip state(2)
Unloading
Unloading

> from id=4
. from ids5

1 OH UL e LN — O

GO 6006000000060 060000KNO0DO0

Elastic =

. Yield<2> = alph2*kst
Y=kst2

1> = ailphl®kst
idst=0 Eselastic or kstl
idst=]
idst=2

<
E
:E
Y
idst=3 Y

o

c v

c1000
c1001

c s

Pl did

real*8(a-h, 0-2)

real®8  kst.ksty(2),kst], kst2

integer  trans(2), code, both

dimension sgnz(2), rdx(2)

dimension qqyorg(2).qqlorg(2), qqlorg(2). dyorg(2),dy1(2).ddy(2)
dimension dmax(2), ddmax(2), ymax(2), ydmax(2)

dimension qqyy(2)

dimension dy(2),qq0(2),dn0(2). kp0(2), pksp(2), pkdd(2)

implicit

common /dummy/p3, dn}

both/0/
sgnz/1.0d0, -1. 0d0/
zero, one, eps/0. 0d0, 1. 040, 1. 0d-6/

data
data
data

check-begin BOEINEIRINCIINRISIERONSEIPRSE

format (a, 5f12.6)

format (a, 15, 2x, 4£10. 4, £10. 4)
write(6,1001) *

check-end

if(is.1t.0) goto 9000

kstl=alphl®kst
kst2=alph2*kst

if(both.eq.1) then
gamrv =gam
betarv=beta
etarv =eta

else
ganrv =zero
betarv=zero
etarv =zero
endif

Defines qqyorg().aglorg(),dyorg().dyl (), ddy() ***
do i=1,2
qqyorg(i)=sgnz{i)*dabs{qy)
qqlorg(i)=sgnz(i)*dabs(ql)
qqlorg(i)=sgnz(i)*q0
dyorg(i) =qqvorg(i)/kst
dyl(i)  =qqlorg(i)/kst

ddy(i) =crossx(kstl,dyl{i), qqlorg(i),

& kst2, dyorg(i), qqyorg(i) )

(123

0 0

enddo
Preparations for Tri-linear ***

if(idx.eq.0) then
idst=0
idir=1
id =]
dmax(1)=qqlorg(1) /kst
dmax (2)=qqlorg(2) /kst
else
idst=idx/100
idir=(idx-100%idst)/10
id =(idx-100*idst-10*idir)
dmax(1)=xp
dmax (2)=xn
endif

isgn=3-2*idir
idrx=3-idir

if (dx. gt.zero) then
sgn= one

else if(dx.It.zero) then
sgn=-one

-<hy(1)>- idx, x0. y0, eks.dx’, idx, x0, 0. eks, dx

else

goto 9000 |
endif
c
xnew=x0+dx
¢

if(idst.eq.)) then
do i=1.2
kstyti)=kstl
qqyyti)=qqlorg(i)

dy(i) =dyl(i)
qg0(i) =qqlorg(i)
enddo
else
do i=1.2

rdx (i} =dabs (dmax{i)/ddy(i))
if(rdx(i).!t.one) rdx(i)=one
enddo

i=1,2

ksty(i)=kst2

do

red  =(rdx(i)**eta)*(rdx(3-i)**etarv)
qqyy(i)=qayorg(i)*red
dy(i) =dyorg(i)
qq0(i) =qqlorg(i)*red
enddo

if(idst.le.2) then
i=3-idst
ksty(i)akstl
qayy!(i)=qqlorg(i)
dy(i) =dyl(i)
qq0(i) =qqlorg(i)
endif

endif

c
¢ *** Defines rdx(), trans(),ddwax(), ynax (), ydmax() ***
do i=1,2
rdx (i} =dabs (dwax (i)/dyorg(i))
if(rdx(i).1t.one) rdx(i)=one

enddo
do i=1,2
trans(i}=0
red =(rdx(i)**gam)*(rdx(3-1) **ganrv)

ddmax (i)=dmax(i)*red

ymax (i) =ksty(i)*(dmax(i) -dy(i))+qqyy(i)
ydmax (i) =ksty(i)*(ddmax(i}-dy(i))+qqyy(i)
enddo

if(idst.le.2) then
if(idst.eq.0) then
napl=]
nmp2=2
else
nopl=3-idst
nop2=nmpl
endif
do j=nmpl, nmp2
if (sgnz(j)*(ddmax(j)-ddy(j)).gt.zero) then
trans(j)=1

ydmax (j)=kst2*(ddmax(j)-dyorg{j)) + qgyorgij)

endif
enddo
endif

c

c *** Defines dn0(), kp0(),pksp(),pkdd() ***
dn0(1) =dmax(1)-(ymax(1)-qq0(2))/kst
dn0(2) =dmax{2)-(ymax(2)-qq0{1))/kst
do i=1.2

red  =(rdx(3-i)**(-beta))*(rdx(i)**(-betarv))

kp0(i) =(ydmax(i)-qq0(i))/(ddmax(i)-dn0(3-i))
pksp(i)=kp0(i)*red
pkdd (i) =ydmax (i} /ddmax (i}

enddo
c
¢
c
¢ === Again_select : from id=2,4,5 only ==zs==
¢
800 continue
c
goto (100, 200, 300, 400, 500, 600, 700) , id
write(6,*) '*** hyslip ndex error (id) : ',id,’
stop
c
¢
¢ === id | =23 (idst=0) ==za=azza=zcazas=z==
c

100 continue
if ((xnew-dy(1))*(xnew—dy(2)). gt.zero) then
if (xnew.gt.dy(1)) then
idir=1
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else
idir=2
endif
isgn=3-2*idir
goto 2000
endif
eksakst
ynew=eks*xnew
goto 8838

=== id 2

200 continue
if (dble(isgn) *sgn. ge. zero) then
trans(idir)=0
goto 2000
endif
id=3
goto 800

== id : 3 (unloading from id=2) anzes=aas=

300 continue
if(dble(isgn)®*sgn. 1t.zero) then
p3=dn0(idir)
dnl=crossx{pksp(idrx).dn0(idir).qq0(idrx),

1] pkdd(idrx), zero, zero)

goto 6666

endif
if(dble(isgn)®(xnew-ddmax (idir)).ge. zero} goto 2000
pl=crossx (pksp(idir),dn0(idrx).qq0(idir),

& kst. dmax(idir), ymax(idir))
p2=crossx{pkdd(idir), zero, zero, kst,dmax(idir), ymax(idir))
if(dble(isgn)*(pl-p2). le. zero) then

codes0

px=p2
else

code=]

px=pl

endif
if(dble(isgn)*(xnew-px). le. zero) goto 3000
if (dble(isgn)*(x0-px). ge.zero) goto?777
if(code.eq.1) then

dpl=crossx{pksp{idir).dn0(idrx).qq0(idir),

& pkdd(idir), zero, zero)
if(dble(isgn)®*(xnew-dpl). It.zero) goto 4000
endif

goto 5000
=== id . 4

400 continue

if(dble(isgn)*sgn. ge. zero) then
if(dble(isgn)*(xnew-ddmax(idir)).gt. zero) goto 2000
dpl=crossx(pksp(idir), x0.y0, pkdd(idir), zero, zero)
if(dble(isgn)*(xnew-dpl).ge. zero) goto 5000
goto 4000
endif

id=6

goto 800

=== id . §

500 continue
if (dble(isgn) *sgn. ge. zero) then
if(dblelisgn)*(xnew-ddmax (idir)). ge. zero) goto 2000
goto 5000
endif
id=7
goto 800

=== id ! 6 (unloading from id=d) =az=m=axaa

600 continue
if(dble(isgn)*sgn. ge. zero} then
if (dble{isgn)*(xnew-ddmax (idir)). ge. zero) goto 2000
dpl=crossx(pksp(idir),dn0(idrx),qq0(idir),
& pkdd(idir), zero, zero)
if (dble(isgn}* (xnew-dpl ). gt. zero} goto 5000
pl=crossx(pksp(idir), dn0(idrx),qq0(idir). kst, x0, y0)
if(dble(isgn)®*(xnew-pl).gt.zero) goto 4000
goto 3000
endif
dnl=crossx(pksp{idrx),dn0(idir).qq0(idrx).
& pkdd(idrx), zero. zero)

p3=crossx'pksplidrx).dn0tidir}. q@dtidrx), kse, x0. y0)
if (dble(isgni*{p3-dnl). Je. zero} then
if (dabs'kst-pkdd(idrx)).gt. eps) then
dnl=crossx{pkdd(idrx}, zero. zero, kst, x0. y0)
p3=dnl
endif
endif
goto 6h66

: 7 {unloading from id=5) =sss=x=zze=

700 continue
if(dble(isgn)*sgn. ge. zero) then
iftdble(isgn)®*xnew-ddmax (idir)). ge. zero) goto 2000
if (dabstkst-pkdd(idir)).gt.eps) then
pl=crossx(pksp(idir),dn0(idrx),qq0(idir}, kst, x0,y0)
if(dble(isgn) *{xnew-pl).gt. zero) goto 5000
endif
goto 3000
endif
dnl=crossx{pksp(idrx),dnO(idir), aq0(idrx),
& pkdd(idrx), zero, zero)
p3=crossx(pksp(idrx)}.dn0(idir), qq0(idrx),kst. x0, y0)
if (dble(isgn)*(p3-dnl). le. zero) then
if(dabs(kst~pkdd(idrx)}.gt.eps) then
dnl=crossx (pkdd(idrx), zero, zero, kst, x0, y0)
p3=dnl
endif
endif
goto 6666

- ase

* index :@ 2

aonn o6 oa
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2000 continue
id«2
if(idst. le.2) then
if(trans(idir).eq.0) then
if(dble(isgn)*(xnew-ddy(idir)).gt.zero) trans(idir)=1
endif
endi f
2200 continue
if(trans{idir).eq. 1} then
idstaidir
eks=kst2
ynewseks* (xnew-dyorg(idir}}+qqyorg(idir)
if(dbletisgn)*(dmax(idrx)-ddy(idrx)). le. zero) then
idst=3
endif
¢ *** check-begins ***
write(6,*) ‘hyslip :
¢ *** check-ends ***
else
eks=ksty(idir)
ynewseks® (xnew-dy (idir)) +qqyy(idir)

passed yield / new idst=", idst

endif
if (dble(isgn)*(xnew-dmax(idir)). gt. zero) dmax(idir)=xnew
goto 8888
c
c .
¢ *index : 3 (fromw id=3,6)
c EEeEN
3000 continue
eks=kst
ynew=eks® (xnew-x0)+y0
goto 8888
c
c ress N
¢ *index @ 4
c

4000 continue
id=4
eks=pksp(idir)
ynew=eks* (xnew-dn) (idrx))+qq0(idir)
goto 8888
c
¢
¢ *index : 5
¢ res

5000 continue

id=5
eks=pkdd(idir)
ynew=eks*xnev
goto 8888

c

c

¢
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c./ ADD LIST=ALL. NAME=hystpc. f
¢ . Unloading * c EEIESEERTREEES hys[m SEREVEIFEIREBSICIRBER RSP SIS &EE
c* e LY TR TS AL YT YT LYY ) Subrou[ine hyS[DC( Ck_v. x()' y()‘ dx'
6666 continue & eks, xnew. ynew, xp, xn )
if (dble(isgn)*(xnew-ddmax (idrx)). It. zero} then C
idir =idrx ¢ xp : initially +1.0
idrx  =3-idir ¢ xn @ initially -1.0
isgn =-isgn c
goto 2000 isplicit  real*8ta-h,o-2)
endif data zero/0.0d0/
if(dble(isgn)®*(xnew-dnl). It.zero) then data unit/1.0d0/
idir=idrx c
idrx=3-idir eks=unit
goto 5000 xnew=x0+dx
endif ynew=y(+dx
if(dble(isgn)*(xnew-p3). It. zero) then c
idir=idrx if(dx. ge. zero) then
idrx=3-idir sgn=unit
goto 4000 Xpp=Xp
endif : idir=0
goto 3000 else
¢ sgn=-unit
c . Xpp=Xn
¢ * Passing dmpax * idir=l
c endif
7777 continue c
if(dble(isgn)*(xnew-dmax(idir)).gt.zero) then if(sgn*ynev. It.unit) return
if(trans(idir).eq.1) then ¢
1f(dble(isgn)*(xnew-ddy(idir)). lt. zero) then z0=crossx{unit, x0. y0, eky, xpp, sgn)
trans(idir)=0 if (sgn®(xpp-~z0).gt. zero) then
goto 2200 xpp=crossx (unit, x0, y0, zero, zero, sgn)
endif if(idir.eq.0) then
endif Xp=Xpp
goto 2000 else
endif Xn=xpp
eks=kst endif
ynev=eks®* (xnew-dmax (idir)) +ymax(idir) endif
goto 8888 [4
¢ : if (sgn*(xnew-z0).gt. zero} then
c eks=eky
C *** Next step *sssessssssse ynew=eky* (xnew-xpp) +sgn
c endif
8888 continue c
idx=100*idst+10*idir+id return
xp =dmax{]) end
xn =dpax(2) /* ./ ADD, NAME=iboun.f, <£=32/69> <DATE=Dec/15 TIME=08:39 SIZE=792> */
¢ *** check-begin * hddad C
c write(6.1001) *  -<hy(2)>- idx,xnew,ynew . idx, xnew, ynew c
¢ *** check-end **** baad C./ ADD LIST=ALL. NAME=iboun.
return C BESENSRREERERS IBOUN
c SUBROUTINE IBOUN(IS, F, DU, IFDX, NP, MIND,
9000 continue & HUMJ, MUMJ 3. CBAL, MS)
eks kst IMPLICIT REAL*8(A-H,0-2)
c xnew=x0 DIMENSION F(MUM]3)
c ynew=y0 DIMENSION DU(MUMJ. 3), IFDX(MUM]3), MIND (MUM]3)
¢ *** check-begin e C
c write(6,1001) * -<hy(2)>- idx,xnew,ynew ', idx, xnew, ynew IF(IS.EQ.0) THEN
¢ *** check-end e DO 10 I=1,4S
return IF(IFDX(I).GT.0) THEN
c F(1)=0.0D0
end c LRl Check_begin SEEABEER R SRS IEENRY
/* ./ ADD, NAME=hystpb.f, <¥=30/69> <DATE=Dec/15 TIME=08:39 S1ZE=522> */ ¢ else
c c £(i)=0.8*f (i)
' C e Check_end SESIENESSRSEBAR RS
c./ ADD LIST=ALL. NAME=hystpb. f END IF
c BEEEEIELBENEEE h)’Slpb EL 1] 10 CO}\TINUE
subroutine hystpb( x0, y0, dx, ELSE
& eks, xnev, ynev ) DO 40 I=1,NP
¢ DO 40 J=1,3
implicit  real*8(a-h, o-z) JJ=MIND(3*(I-1)4+])
data zero/0.0d0/ IF(IFDX(JJ).GT.0) THEN
data unit/1.0d40/ : F(J])=DU(T, J)*CBAI
[ ’ END IF
eks=unit 40 CONTIM'E
xnew=x0+dx END IF
ynew=y(+dx C
¢ RETURN
if(ynew.gt.unit) then END
eks=zero /* ./ ADD, NAME=intge.f, <£<33/6%> <DATE=Dec/15 TIME=10:29 SIZE=1949> ¢/
ynewsunit ¢
else if(ynew. t.-unit) then o
eks=zero C./ ADD LIST=ALL, NAME=intge. f
ynew=-unit C intgc b
endif SUBROUTINE intge
¢ & ( SECTD,AC. ZC, EC., YILDC.
return & TXA .TXZ, TEA, TEZ, TZZ,
end & beta, sigx.
/% ./ ADD, NAME=hystpc.f, <#=31/69> <DATE=Dec/15 TIME=08:39 SIZE=1013> */ & IS. ceks,
¢ 13 CSLP, CSIN, CSIG, CEPS, CDEE. icid.
c & MUMC, MUMSC, MUMP2 )
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o DO 20 J=1,MIMT

IMPLICIT REAL*8(A-H,0-2) sylold=ylnew(], I}
INTEGER  SECTD sy2old=y2new(J, I)
DIMENSION  AC(MUNSC, MUMC) , ZC (MUMSC, MIMC) syl=ylnew(}, )
DIMENSION EC(MIMSC, *) sy2=y2new(], 1)
DIMENSION YILDC(MUMSC, *),beta(*), sigx(*) epsii=seps(j, i)
DIMENSION TXAMUMP2), TXZ(MUMP2), TEA(MUMP2) deps=sdeetj, i)
DIMENSION TEZ(MUMP2), TZZ (MUMP2) eyl=xp{J,I)
digension ceks(mumc, pump2) ey2=xn(J, 1)
DIMENSION CSLP (MUMC, MUMP2) , CSLN (MUMC, MUMP2) id =isid(J. D)
DIMENSION CSIG(MUMC, MUMP2) , CEPS (MIMC, MUMP2) eks=ce
DIMENSION CDEE(MUMC, MUMP2), icid(mumc, mump2) sig=SSIG(J, )
C call ssrnew(is, ee. ep, ssbri, ssbrk, sgy, ssyr,
C *** SECTD : SECTID(ISECT(MEMBER)) *** & eps0, sylold. sy2oid. deps,
c & eks, sig, epsl, syl. sy2, eyl, ey2, id)
IF(SECTD. LE. 0) RETURN c *** tepporary *°**
C if(eks. 1t.0.5%e) then
atmp=0. 0d0 eks=(), 50%e
f tmp=0. 0d0 endif
DO 10 I=1, MUMP2 c *** temporary ***

BE=beta((I+1)/2) A =AA(ISECT, )

DO 20 J=1,MUMC Z =ZZ(ISECT, )
eksaceks(j. i) TXA(D) =TXA(]) +sig*A
SIG=CSIG(]. 1) : TXZ(D) =TXZ(1) +sig*Z*A
EPS=CEPS(J, 1) TEA(I) =TEA(D) +eks®A
DEE=CDEE(], 1) TEZ(1)Y=TEZ(1)+eks*Z*A
SLP=CSLP(J.T) TZZ(D=TZZ(1) +eks*2*Z*A
SLN=CSLN(J, 1D 20 CONTINUE
id =icid(J,1) 10 CONTINUE
CALL CONC(IS. C

] EC(SECTD, 1), EC{SECTD, 2), EC(SECTD, 3}, RETURN
& YILDC(SECTD, 1), YILDC(SECTD, 2), YILDC (SECTD. 3), END
& EPS, DEE. /% ./ ADD, NAME=iswap.f, <8=35/69> <DATE=Dec/15 TIME=08:39 SIZE=179> */
& eks, SIG, EPS1, SLP, SLN, 1D} C
¢ *** temporary *** C
ifeks.1t.0. 1*EC(SECTD, 1)) then C./ ADD LIST=ALL, NAME=iswap. {
eks=0. 5*EC(SECTD, 1) c* * JSWAP
endif SUBROUTINE ISWAP(I.])
c *** temporary *** K=1
A = AC(SECTD,]) * BE 1=]
Z = ZIC(SECTD, ) J=K
atmp=atop+a RETURN
ftop={tmp+a®sig EXND
SIG=-SIG /* ./ ADD, NAME=itoa.f, <%=36/69> <DATE=Dec/15 TIME=08:39 SIZE=1521> */
TXA(D) =TXA(I) +SIG*A [
TXZ(1) =TXZ(1) +SIC*Z*A [
TEA(D) =TEA(I) +eks*A C./ ADD LIST=ALL, NAME=itoa. f
TEZ(D)=TEZ(I) +eks*Z*A C ITOA *** sree e
nz(l)gnz(l)*eksﬂz.z"‘ C (11] CONVEm IA'IECER m C}{AR‘AC'I'ER LI 2222123 22 R YT 2
20 CONTINUE SUBROUTINE ITOA(S, IPOS, L. NDT}
if (mod(i,2).eq.0) then CHARACTER*!  S(*)
sigx{({i+1)/2)=ftmp/atuwp CHARACTER®1  NB(0:9),C
atop=0. 0d0 DATA NB/°O°,°1°,°2°.°3".°4",
f tmp=0. 0d0 & 560, TR/
endif DATA MAXLN /132/
10 CONTINUE C
C 11=1P0S
RETURN C
END IF(NDT.EQ.0) THEN
/% ./ ADD, NAME=intgs.f, <#=34/69> <DATE=Dec/15 TIME=08:39 SIZE=1766> */ IF(11. CT. MAXLN) GOTO 999
¢ S(ID="0
c 11=11+1
C./ ADD LIST=ALL, NAME=intgs. { ELSE
C INTGS NNDT=IABS(NDT)
SUBROUTINE INTGS 100 CONTINUE
& (ISECT , AA. ZZ,EE.EP, ssbri, ssbrk, ssyr. sgy. NNX=NNDT/10
& ™A .TXZ ,TEA TEZ ,TZZ . NNY=NNDT-NNX*10
& IS .ylnew ,y2new .xp  .xn . IF(I1.GT. MAXLN) GOTO 999
& SSIG .SEPS ,isid ,SDEE ., S{IT)=NB(X\NY)
& HUMT  MUMS . MUMP2 ) 1I=11+1
C IF(NL.NE.0) THEN
IMPLICIT REAL*8(A-H,0-2) IF((I1-1P0S).GT. \L} THEN
DIMENSION TXA(MUMP2), TXZ (MUMP2) , TEA(MUMP2) DO 10 I=IPOS. IPOS+NL-1
DIMENSION TEZ(MUMP2), TZZ (MUMP2) IF(11. CT.MAXLN) GOTO 999
DIMENSION  AA(MUMS, MUNT), ZZ (MUMS, MUMT) S(I1)="#
DIMENSION  ylnew(MUMT, MUMP2). y2new (MUMT, MUMP2) 11=11+1
DIMENSION xp (MUMT, MUMP2), xn (MUMT, MMP2) 19 CONTINUE
DIMENSION SSIG(MUMT, MUMP2) 1POS=IPOS+NL-1
DIMENSION SEPS (MUMT, MUMP2) RETURN
dizension isid(oust, mump2) END IF
DIMENSION SDEE (MUMT, MUMP2) END IF
C NNDT=NNX
C IF(NNDT. GT. 0) GOTO 100
DO 10 I=1, MUMP2 IF(NDT.LT.0) THEN
TXA(I)=0.0D0 : IF(II.CT. MAXLN) COTO 999
TXZ(1)=0. 0DO SUD="-'
TEA(T)=0. 0D0 11=1141
TEZ(1)=0. 0DO END IF
TZZ(1)=0.0D0 END IF
[ C
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IF(AL.NE. 0} THEN

D0 20 I=1I, IPOS+AL-1
IF(IL. GT. MAXLN) COTO 999
SUn="
I1=1141

20 CONTINUE
11=1POS+NL
END IF

NNX=1POS+(I1-1P0S)/2-1
DO 30 I=IPOS, NNX
NNY=1P0S+11-1-1
C=S(I)
S(I)=S(NNY)
S(NNY) =C
30 CONTINUE
C
999 CONTINUE
1P0S=11
RETURN
END
/* ./ ADD, NAME=patmlt.f, <#s37/69> <DATE=Dec/15 TIME=08:39 SIZEs577> */
c
¢
c./ add list=all, name=patmlt. {
[ matait
subroutine matmlt(c, coef, a,b, na, nb, nc)
c *** ((na.nc)=coe{*A(na.nb)#B(nb,nc) *sssssssssssssees
c

implicit reai*8(a-h,o-z)
dimension c(1),a(1),b(l)

ipa(i, j)=i+na®(j-1)
ipb(i, j)=i+nb*(j-1)
ipe(i, j)=i+na*(j-1)

do i=l,na
do j=1,nc
z1=0. 0d0
do kal,nb
zl=zl+a(ipa(i.k))*blipb(k.j))
enddo
clipe(i, j))=coef*z}
enddo
enddo

return
end
/* ./ ADD, NAME=minve.f, <#=38/69> <DATE=Dec/15 TIME=08:39 SIZE=2750> */
C
C
C./ ADD LIST=ALL, NAME=minve. f
C MINVE #ee= .
SUBROUTINE MINVE(A,N.D,L, M)
IMPLICIT REAL*8(A-H.0-2)
DIMENSION A(*),L(*).M(*)
data  zero/l.0D-30/

Ceeee SEARCH FOR LARGEST ELEMENT -----
D=0.0D0
NK=-N
DO 80 K=1,N
NK=NK+N
L(K)=K
M(K) =K
KK=NK+K
BIGA=A(KK)
DO 20 J=K.N
1ZaN*(J-1)
DO 20 1=K, N
1J=1Z+1
IF(DABS(BIGA) . GE. DABS(A(1]))) GOTO 20
BIGA=A(1])
L(K)s=I
M(K)=J
20 CONTINUE
Comm- INTERCHANGE ROWS ----eoeeeeeee
J=L(K}
IF(J-K) 35,35,25
25 KI=K-N
DO 30 I-=1.N
KI=KI+N
HOLD=-A(KD)
JI=KI-K+]
AKD=A(JD)
30 A(JD =HOLD
C—eeee INTERCHANGE COLUMNS --------uue-
B MK
IF(I-K) 45,45,38

38 JP=N* (-1}
DO 40 J=1.N
JK=NK+]
J1=JP+)
HOLD=-A(JK)
AUK=A(ID
40 A(JD) =HOLD
€ ~----- DIVIDE COLtMN BY MINUS PIVOT
C (VALUE OF PIVOT ELEMENT IS CONTAINED IN BIGA)
45 IF(DABS(BIGA).LE. zero) THEN
D=0.0D0
vrite(6,%) ' °
write(6,*) * *** MINVE : pivot = zero (",biga,
& ') s’
vrite(6,%) '’
RETURN
END IF

D0 55 I=1,N
IF(I-K) 50.55,50
50 IK=NK+1
[F(DABS(A(IK)).LT. zero) A(IK)=0.0D0
A(IK)=A(IK)/ (-BIGA}
55 CONTINUE
Coammmme REDUCE MATRIX wecommemmmme
D0 65 I=1,N
TK=NK+1
HOLD=A(IK)
1J=1-N
DO 65 J=1,N
1J=1J+N
IF(I-K) 60,65, 60
60 IF(J-K) 62,65,62
62 KJ=IJ-1+K
A(1J)=HOLD*A(K])+A(1])
65 CONTINVE
[ O DIVIDE ROW BY PIVOT -----cemmm
KJ=K-N
DO 75 J=1.N
KJ=KJ+N
IF(J-K) 70.75,70
70 IF(DABS(A(K])).LT. zero) A(KJ])=0.0D0
A(K])=A(K]) /BICA
75 CONTINUE
[ PRODUCT OF PIVOTS —-weemmcomee
D=D+dlog(dabs(BIGA))
[o. REPLACE PIVOT BY RECIPROCAL ---
A(KK)=1. 6DO/BIGA
80 CONTINUE
o FINAL ROW AND COLUMN INTERCHANGE ---

K=N

100 K=(K-1)

IF(K) 150,150, 105
105 I=sL(K)

IF(I-K) 120,120,108
108 JQ=N*(K-1)

JR=N*(1-1)

DO 110 J=1.N
JK=JQ+]
HOLD=A(JK)
J1=]R+]
A(JK)=-A(JT)

110 A(JD) =HOLD
120 J=M(K)

IF(J-K) 100,100,125
125 KI=K-N

DO 130 I=1,N
KI=KI+N
HOLD=A(KD)
J1=KI-K+J
AKD=-A(JT)

130 A(JI) =HOLD

C
GO TO 100
C
150 RETURN
END

/% ./ ADD, NAME=modsign. f, <#=39/6%> <DATE=Dec/15 TIME=08:39 SIZE=226> */

[

¢
c./ ADD LIST=ALL, NAME=modsign. f
¢ *** modsign{) *** return 1 if i=j, otherwise 0
Function modsign(i, j)
c
if(i.eq.j) then
modsign=1
else
modsign=0
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endif

return

end
/* ./ ADD, NAME=msgstp.f, <#=40/69> <DATE=Dec/15 TIME=08:39 SIZE=318> */
C

C
C./ ADD LIST=ALL, NAME=wsgstp. f
c

SUBROUTINE MSGSTP(IW, MSG)

C eoee

CHARACTER ~ MSG*(*)

IF(I¥.EQ. () STOP

FRITE(IN.*)

WRITE(IW,*) NSG

SToP
C *** NEVER RETURNED ***

END
/% ./ ADD, NAME=mstfst.f, <#=41/69> <DATE=Dec/15 TIME=08:39 SIZE=3151> */
C
C
C./ ADD LIST=ALL, NAME=mst fst. f
C -—- MOD 1991.11.21
C --- MOD 1994/07/07
¢ --- mod 1997/01/16
c MSTFST
SUBROUTINE MSTFST

( IS, M, MMP, ISCTD, IFLAG,

YILDC, coef,

CEXS. CSIG, CEPS, CDEE, CSLP, CSLN, icid,

idtop, t0612, 11206,

T12,T1212,MT12,

MUMM, MUMP, MUMPM3, MUMPP3, MUMPZ, MUMSC, MUMC )

13
&
]
&
&
]

IMPLICIT REAL*8(A-H,0-Z)

DIMENSION YILDC(MUMSC, *), coef (mump-1)
DIMENSION T1212(MT12,MT12)

DIMENSION T12(MUMPM3+MUMP-1)
DIMENSION CEKS (MUMC, MUMP2)

DIMENSION CSIG(MUMC, HUMP2)

DIMENSION CEPS(MUMC, MUMP2)

DIMENSION CDEE (MUMC, MUMP2)

DIMENSION CSLP (MUMC, MUMP2)

DIMENSION CSLN(MUMC, MUMP2)

DIMENSION icid(MUMC, MUMP2)

dimension idtmp(mump)

dimension t0612(6, pumpn3+muwp-1), t1206 (mumpu3+mump-1, 6)
data zero/0. 040/

C *** idtmp() not in use ***

¢ *** check-begin ***

do j=1, mmp
iwc(j)=idtap(j)
enddo

check-end ***

N 6 6n
-
-
»

IF(ISCTD. EQ. 0. OR. IFLAG. LE. 0. OR. WMP.LE. 1) THEN
RETURN
END IF

DO 10 =1, WMP-1
cfx=coef (i)
IF(IFLAG.GE. 2) THEN
EKS <CEKS(1, MMP+1)
fce =CSIG(1, MP+1)
dsp =CEPS(], MP+1)
feel=fee
dsp0=dsp
DEE =CDEE(1, MMP+I)
SLP =CSLP(1, WP+1)
SLN =CSLN(1, MMP+I)
id =icid(l,MMP+I) .
Call hyslip ( is,
yildc(isctd, 4)*cfx,
yildc(isctd,8), yildc(isctd,9),
yilde(isctd,5)%fx,
yilde(isctd,6)*cfx.
yildc(isctd, 7)*cfx,
yilde(isctd, 10), yilde(isctd, 11), 0.0d0,
dsp0, fecl, dee,
eks, fcc, dsp. slp, sln, id)
if(meq.l.and. {.eq.1) then
write(6,’ (1h ,a,4x,i4,3(12.3)") °
id, fce,dsp, eks

e Qe Qe e Re Re Re O

icid, f.dk ; ",
.
endif
sna _ see
if(iabs(jkl).eq.1.and. iabs(jk2).eq.1) then
i£(id/100.eq. 1. and. mod{id. 10).eq. 2) idtap(i)=1
endif

GO0 a0 0600600

C e temporary ***
C LE2 L] Check'begln SEEEEENFIRS LRI EEILETILENSSENRNAREERI OGS
c write(6, " (lh ,a,3{10.3,.10.4,i5:")
c & '* mstfst <fcc.dsp.eks.dd. id> : ', fcc.dsp, eks, dee, id
C *RER Check_end PEREISRSEEIEEEEBNESOINSRLSHEOSNEESIAERS
if(eks. t.0.10%ildc(isctd. 2 *%¢fx) then
eks = 0.1*yildc(isctd. 4)%cfx
endif

a

*** temporary
ELSE
eks = yilde(isctd. 4)*cfx
fee = csig(l, omp+i) +eks*cdee(], nop+i)
c idtepiil=0
ENDIF

a

mx=3* (mop-1) +i
t12tex) = t12(mx)+fcc
t1212(ox, mx) = t12121mx, mx) + eks

©

10 CONTINUE

c
<
C s Chmk‘mgln FEESSAPEO SRS IESEDE SR O ENE RN SRR NG GRO 00N
c write(6,*) "*** pstfst idtmp() : °, (idtwp(j). j=!, map-1)
c write(6,*) °  conc : ', (iwc(j), j=], nmp)
c vrite(6.*) ' stud ;. (iws(}), j=1, mmp-1)
C skes Check'end - L 11 ¢ ]
C

RETURN

END

/* ./ ADD, NAME=pstif.f, <#=42/69> <DATE=Dec/15 TIME=08:39 SIZE=1708> */
C

C
C./ ADD LIST=ALL. NAME=wstif. f
c *EB mIF LA il 2 SN RESS
SUBROUTINE MSTIF(M, IDIVD. CM. BV, T0606, T0612, T1206,
T1212,MT12,706, T12,
MUMPM3, MUMP)
IMPLICIT REAL*8(A-H.0-2)
DIMENSION CM(6,6),BV(6)
DIMENSION T0606(6, 6), T0612(6, MUMPM3+MUMP-1)
DIMENSION T1206 (MUMPM3+MLMP-1, 6)
DIMENSION T1212(MT12,MT12)
DIMENSION T06(6). T12 (MMPM3+MUMP-1)

&
&

IF(IDIVD.EQ. 1) THEN
D0 10 I=1,6
T06(I)=BY(I)
DO 10 J=1.6
T0606(1, J) =CM(1. ])
10 CONTIME
RETLRN
END IF
C
C-—-M=1
IF(M.EQ. 1) THEN
D0 30 I=1.3
T06(1}=BV(D)
T12(1}=BV(I+3)
DO 30 J=1.3
T0606(1, J)=CM(1, ]}
TO612(I, J)=CM(I, J+3)
T1206(1, J)=CM(1+3, )
TI1212(1, ])=CM(143.J+3)
30 CONTINLE
RETIRN
C-——M>1&M<IDIVD
ELSE IF(M.CT.1.AND.M.LT. IDIVD) THEN
MS=(M-2)*3
D0 50 I-=1.6
MI=MS+]
T12MI}=T12(MI) +BV(D)
DO 50 J=1.6
MJ=M5+]
TI212(HI M]) =T1212CHT 3} +CM(T, 1)
50 CONTIME
RETURN
C -— M = IDIVD
ELSE
MS=3*(IDIVD-2)
DO 70 1=1.3
T06(1+3)=BV(I+3)
T12(1+MS)=T12(1+MS) +BV(1)
PO 70 J=1.3
TO606(1+3., J+3)=CM (143, ]+3)
T1212(1+MS, J+MS) =T1212(1+¥S, J+MS) +CM(1, )
T0612(1+3, J+MS)=QM(1+3. )
T1206C1+4S, J+3)=(M(1, J+3)
70 CONTINVE
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END IF

RETURN
END

/* ./ ADD. NAME=pstifc.f, <Z=43/69> <DATE=Dec/16 TIME=20:50 SIZE=74hl> */

C
C

C./ ADD LIST=ALL, NAME=mstifc. f

C -— MOD 1991.11.21
C -—~ MOD 1994/06/28
C ——- MOD 1997/01/12

C

O 0O N 06006006006

***+ check-end

*¢+ MSTIFC *oee
SUBROUTINE MSTIFC
( LARGE, IS. M. IDIVD, ISCTD, IFLAG,
CS0, SNO, XM. WM,
TUVM, AC. ZC. EC.
beta, sigx,
CEKS, CSIG, CEPS, CDEE., CSLP, CSLN, icid,
idtap,

YILDC,

MUMM, MMP, MMPM3, MUMPP3, MUMP2,
MUMSC, ¥UMC )

Re B @° Re 2o Re Re Re Qo

IMPLICIT  REAL*8 (A-H,0-2)
DIMENSION XM (MUMM, MMP+1) , YM (MUMM, MMP+1)
DIMENSION  TUVM (MUMM, MUMPP 3 +MWP-1)
DIMENSION  AC(MUMSC, MUMC), ZC (MUMSC, MIMC)
DIMENSION EC(MUMSC, *)
DIMENSION YILDC(MUMSC, *), beta(mmp). sigx {mmp)
DIMENSION T0612(6, MMPM3+MMP-1)
DIMENSION T1206(MMPM3+MMP-1,6)
DIMENSION TO0606(6, 6), T1212(MT12, NT12)
DIMENSION T06(6), T12(MMPM3+MMP-1)
DIMENSION CEKS (MUMC, MUMP2)
DIMENSION CSIG{(MUMC, MUMP2)
DIMENSION CEPS(MUMC, MMP2)
DIMENSION CDEE (MUMC, MUMP2)
DIMENSION ~CSLP(MUMC, MUMP2)

- DIMENSION CSLN(MUMC, MUMP2)
DIMENSION icid(MUMC, MUMP2)
dimension idtmp(mop)

DIMENSION (CC(2.2).CK(8,8),TT(2,8).BV(8)
DIMENSION WK(2,8),WKB(2), IPOS(8), IUV(8)

T06, T12, T0606, T0612, T1206, T1212. MT12,

IF((ISCTD.EQ. 0).0R. (IFLAG.EQ.0)) THEN
RETURN
END IF
MUMP = IDIVD
MUMPM3 = 3*(IDIVD-1)
IF(IFLAG.LT. 0. OR. MUMP. EQ. 1) THEN
1DX=0
JDX=0
JMAX=6
UI =0.0D0
U] =0.000
END IF
***+ check-begin
CALL CHECKD{ 6,
& e < MSTIFC : CEPS >
& m, ceps, suac, nunp?2 )
CALL CHECKD( 6,
& e < MSTIFC : CDEE >
& n, cdee, mumc, munp2 )
CALL CHECKD( 6,
[ I ] < MSTIFC : CEKS >
] , ceks, nunc, puzp? )

DO 10 I=1,MUMP o
IF(IFLAG. GT. 0. AND. MUMP. CT. 1) THEN
IF(I.EQ.1) THEN
IDX=0
JDXal
IMAX=7
UI =0.0D0
U =CEPS(1. MUMP+1)
DO 20 K-1,3
1POS(K) =1
IWV(K) =K
IPOS(K+4) =2
T0V(K+4) =K
20 CONTINUE
1P0S(4) =2
IUV(4) =MUMPM3+1
ELSE IF(I.EQ.MUMP) THEN
IDX=1

30

40

45

&
&
&
&

JDX=0

JMAX=T

Ul =CEPSt] MOMP+1-1)

UJ =0.0D0

1POS(1)=2

IUV(]) «MUMPM3+1-1

DO 30 K=1.3
1POS(K+1)=2
IUV(Ke1) =MUMPM3+K-3
1POS(K+4)=1
TUV(K+4) =K+3
CONTINUE

ELSE

1DX=1

JDX=1

JMAX=8

Ul =CEPS(1,MUMP+1-1)

U] =CEPS(1,MMP+1 )

DO 40 K=1. JMAX
1POS(K) =2
CONTINUE

TUV(1) =MUMPM3+1-1

TUV(5) =MUMPM3+ I

DO 45 K=1.3
TUV(K+1)=3%(1-2) 4K
TUV(K+5)23*(1-1) +K
CONTINVE

END IF

< CASE OF IFLAG<0 or MUMP=] >z==

ELSE
[F(MUMP.EQ. 1) THEN
DO 55 K=1,6
IPOS(K) =1
T0V(K) =K
CONTINUE
ELSE
IF(I.EQ.1) THEN
DO 50 K=1.3
[POS(K) =1
1POS(K+3) =2
WK =K
TUV(K+3)=K
CONTINUE
ELSE IF(I.EQ MUMP) THEN
DO 60 K=1.3
IPOS(K) =2
IPOS(K+3) =1
IWV(K} =MUMPM3.K-3
IUV(Ke3)=K+3
CONTINUE
ELSE
DO 70 K=1.6
IPOS(K)=2
IEV(K) =3*(1-2)+K
CONTINUE
END IF
END IF
END IF

EKS=CEKS(1. )

SIG=CSIG(1. )

EPS=CEPS(1. 1)

DEE=CDEE(1. 1)

SLP=CSLP(1, 1)

SLN=CSLN(1,1)

id =icid(1,1)

CALL CONC(IS,
EC(ISCTD, 1) EC{ISCTD. 2}, EC(ISCTD, 3),
YILDC(ISCTD, 1), YILDC(ISCTD, 2),
YILDC(ISCTD. 3) EPS, DEE.
EKS, SIG, EPS1.SLP, SN, id)

idtwp(i)=0

I daddddbidd

if(eks. 1t.0. 10%ec(isctd. 1)) then
eks=0. 1*ec(isctd, 1)
idtop(i)=l]
endif

¢ vseesssTEsEs

&
&
&

sigx(i)=sig

SIG=-SIC

CALL TRANSC(LARGE, IDX, JDX, CS0, SN0,
TUVM(M, 3*1), TUVM(M, 3*(1+1)), UL, U],
MO D), XM, T+ 1) M, D, YMOM, T41),
ZC(ISCTD, 1), TT. SPAN)

TEA = EKS*AC(ISCTD. 1)*beta(i)/SPAN

c*** check-begin ***

C

O 60

&
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write(6,*) ‘*** EKS,AC(ISCTD.1),BETA(I),SPAN : TEA'
write(6,*) EKS. AC{ISCTD. 1), BETA(I), SPAN, TEA

write(6,*) "*** idx, jdx.cs0, sn0, TUWM], TUWM2, UL, U], ",

*ZC, SPAN'



write(6,*) IDX, JDX.CSO, SN0,
& TCVM(M, 3*D), TUVM(M, 3* ¢+ 1)), UL UYL
& ZC(ISCTD. 1), SPAN
wvrite(6,*) "*** X1.X2,Y1,Y2 M=" M, 11=",0,")"
write(6,*) XMM, 1), UM, T+1), YMOM, T) YM(M, T+1)
44+ check-end ***
CC(1. 1) = TEA
CC(1,2) =-TEA
CC(2.1) =-TEA
(C(2,2) = TEA
¥KB(2) = SIG*AC(ISCTD. 1)*beta(l)
¥KB(1) =-WKB(2)
CALL MULTX(CK, CC, TT.BY, WKB, 2, 8, 2, JMAX. WK)

NN oonn

DO 80 J=1, JMAX
IF(IPOS(J).EQ.1) THEN
TUB(1UV(]))=T06 (TUV(])) +BV(])
DO 90 K«1, JMAX
IF(IPOS(K).EQ. 1) THEN
T0606 (IUV(K), IUV(])) =
& TO606 (IUV(K), IUV(J)) +CK (K. J)
ELSE
T1206 (TOV(K), TUV(J)) =
& T1206 (TUV(K), IUV(J)) +CK(K. J)
END IF
90 CONTINUE
ELSE
TI2(IWV(J)) =T12(TUV(])) +BV(])
DO 100 K=1, JMAX
IF(IPOS(K).EQ. 1) THEN
T0612(1WV(K), IWV(])) =
& TO612(IUV(K), IUV(J) ) +CK(X, J)
ELSE
T1212(1WV(K), TWV(])) =
& T121Z(IUVCK), TEV(])) +CK(K. J)
END IF
100 CONTINUE
END IF
80 CONTINVE
C s8R ChCCk-begin SERSENEERIOENL AR OIFSSEOI NI IS NNNNSES
CALL CHECKD( 6, " ~---—- < MSTIFC : CC > —ommomemn M-J o
& 100°M+].CC, 1.4 )
CALL CHECKD( 6, * ------- < MSTIFC © TT > =ececmmmmn M-] o
& 100*M+1, TT, 2, JMAX)
CALL CHECKDA 6, --~-umv < MSTIFC : (K > ——eecmeemn M-J o
100*M+1, CK. 8, JMAX )
CALL CHECKI( 6. " «oemem- < MSTIFC @ TV > cecmeemen M-J
4 100°M+ I, ILV, 1, JMAX )
CALL CHECKI( 6, ----~-- < MSTIFC : IPOS > ---eoomuen M-J o
& 100*M+1, IPOS, 1. jMAX )

*3¢* check-end

OO0 aon a0 a 00080

10 CONTINUE

(o]

RETURN
END
/% ./ ADD, NAME=multi.f, <#=44/69> <DATE=Dec/15 TIME=08:39 SIZE=413> */
v
¢
C./ ADD LIST=ALL, NAME=guiti.f
c XSS EEIEN SIS MULTI
SUBROUTINE MULTI (AV, BM,CV. ABC)

¢
IMPLICIT REAL*8(A-H,0-2)
DIMENSION AY(6),BM(6,6).CV(6), AB(6)

ABC = 0.0D0
D0 10 1-1,6
AB(I)=0. 0DO
D0 20 J=1.6
AB(1)=AB(I) +AV(J)*BM(J. 1)
20 CONTINUE
ABC=ABC+AB(I)*CV(1)
10 CONTINGE
C
RETURN
END
/* ./ ADD, NAME=multx.f, <#=45/69> <DATE=Dec/15 TIME=08:39 SIZE=738> */
C

C
C./ ADD LIST=ALL, NAME=multx. f
C MULTX
SUBROUTINE MULTX(CT.CC.TT, BT, BB,
& MNC, MNT, NC, NT, WK)

IMPLICIT REAL*8(A-H,0-2)
DIMENSION CT(MNT, MNT), CC(MNC, MNC), TT(MNC, MNT)
DIMENSION BT(MNT), BB(MNC) , WK (MNC. MNT)

DO 10 I=1,NC

DO 10 J=1.NT
WK(I,])=0.0D0
DO 10 K=1,XC
WKL J3=WKCLL ) +CCULL KO *TTHUK, )
10 CONTIME

DO 20 K=1,XC
CTUL J)=CT(L, J)+TT(K, DY *WK (K. )
20 CONTINLE
[
DO 30 I=1.AT
BT(1)=0. 0D0
DO 30 K=1,NC
BT (D) =BT(1}+TT(K. I) *BB(K}
30 CONTINUE
4
RETURN
END

/* ./ ADD, NAME=neqval.f, <%=46/69> <DATE=Dec/15 TIME=08:39 SIZE=2341> */

o

c
c./ ADD LIST=ALL, NAME=neqval. {
* neqval *
subroutine neqval{ npl.np2, jcond,
wuwj, ind, nind. mats, *)

¢ *** The lower-number node is to be a based node.
¢ jeond @ XYT (X=0/1/2, Y=0/1/2. T=0/1)
c
¢ ~-- X ~—- (x-displacement)
3 ‘0" : X of higher-number node is independent of X of based node.
¢ '1" ¢ X of higher-number node is equivalent to X of based node.
c '2" ¢ X of higher-number node is equivalent to Y of based node.
¢ -—= Y -~ (x-displacement)
c *0" : Y of higher-number node is independent of Y of based node.
c ‘1" : Y of higher-number node is equivalent to Y of based node.
c *2" : Y of higher-number node is equivalent to X of based node.
¢ --- T ~— (rotation)
¢ ‘0" : T of higher-number node is independent of T of based node.
c ‘1" . T of higher-number node is equivalent to T of based node.
c N
¢

digension ind(*), mind(*)

integer  cond(3), rep(2)

data rep/1,-1/
c
c

ipl=ind(npl}

ip2=ind(np2)

if(ipl*ip2.eq.0.0r. ipl.eq. ip2) then
write( 6,*) "*** error data in Q command! : ‘., npl,npZ
write(iw,*) "*** error data in Q command! : '.npl.np2
return 1
endi f

iil=ain0(ipl, ip2)

112=max0(ipl, ip2)

ipl=iil

ip2=112

cond(1}= jcond/100

cond(2)=(jcond-100%cond(1))/10

cond{(3)= jcond-cond (1) *100-cond(2)*10
c »hy _mxin (2 1]

hd write(6,”) "* Q : cond = ', cond
C *%% _and *e*
c
3=3*zumj
c
do k=1.3

if(cond(k).ne.0) then
keep=3*(ip2-1) +k
k1=3*(ipl-1)+k
if(k.1t.3.and.cond(k).eq.2) then
kl=kl+rep(k)
endif
iflag=0
do i=1,m3
if(ind(i).gt.mind(keep)) then
iflag=iflag+]
mind(i)=mind(i)-1
else if(mind(i).eq.nind(keep)) then
nind(i)=nind(kl)
endif
enddo
c s _Mgin e
. wvrite(6.*) "* Q : ipl,ip2 keep.kl,cond(k) = ',
. & ipl, ip2, keep. k1, cond (k)
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C *** _end ***
iftiflag.gt.0) mpats=mats-1
endi f
enddo

return
end

/% ./ ADD, NAME=nonpln. f, <4=47/69> <DATE<Dec/17 TIME=12:47 SIZE=63388> */

c
c

c./ ADD LIST=ALL, NAME=nonpln. f
C --- MOD 1992.04.09
C -—- Revised on 1993.12.03 ——-emmmmmmmme
C -— Revised on 1994.07.07 ----
C --- Revised on 1996.07.20 —--
C -— Revised on 1997.01.17 —---
C --- Revised on 1997.11.16 «w--
C ~— Revised on 1997.12. 14 —mcmmmmmmmmme e

C NONPLN o

SUBROUTINE NONPLN ( LARGE, ibflag. nyildc,

& IR, IW MT1,MT2, IWRT, IPSKIP, MTR, MTW, MER, MEW, MUMM,
& MUMJ, MUMP, MUMT, MUMR, MUMS, MUM] 3, MUMPM3, MUMPP3, NUMP2,
& MBAND, MUMSC, MUMC, TITLE, NRND, MIND, JOINT, ISECT, INV, IFD,
& 1A, IB, SECTID, IFLAG, isid, ICID, IFDX, IRIGID, IDIVD, TIME,
& idtmp, oshr, ishrid, revga, fkinv,
& COFAC, DINTL, RIGID, OFSTL, OFSTG, FRND, ARND, STT, BVT, STM, stmpin,
& BVM,DEAD, X, Y.XM,YM, TUV,SUV, UV, UVM, FE, FF, FFT, DU, DF,
& A Z,7M.sgy DEL, DEJ, YILDS, REACTK. UVDEP,
& UXDEP, TUVM, SUVM, FMEM, T0612, T1206, T1212, T12, TXA. TXZ,
& TEA, TEZ, TZZ. ORCCS, ylnew, y2new, xp, xn, SSIG, SEPS,
& SDEE, CSLP, CSLN, CEXS, CSIG, CEPS, CDEE, YILDC, AC, ZC, EC, beta,
& csk.cort, aled, xxpos, sigx. nbeta, nfrier. work )}
[ et LESELOE S S JRE, Sy S s SR UM S S .
L ] L]
* MMM : NMMBER OF MEMBER .
*  MUMJ : NQMBER OF JOINT .
*  MUMP : NUMBER OF SECTIONED VEMBER IN A MEMBER  *
* MUMC : NUMBER OF SLICED ELEMENTS IN CONCRETE SLAB *
* MUMT : NUMBER OF SLICED ELEMENTS IN STEEL .
*  MUMR : NUMBER OF SPRING (FOR NODAL POINT) ¢
*  MUMS : NUWMBER OF TYPE OF SECTION .
*  MUMSC: NUMBER OF TYPE OF SECTION WITH CONCRETE  *
*  DF(MUMJ, 3):INPUT EXT. LOAD .
*  DU(MUMJ, 3) :INPUT DISPLACEMENT .
¢ FFT(MUMJ3),FF(MUM]3), FEQMUM], 3) : *
* INCREMENTAL LOADS *
* TUY : GLOBAL DISPLACEMENT AT NODES o
*  TUW : TUV FOR MEMBERS hd
* SUV : INCREMENTAL DISPLACEMENT AT NODES hd
* SUVM : SUV FOR MEMBERS hd
* UVl : INCREMENTAL DISPLACEMENT AT NODES DURING *
d A STEP .
* UWM : UV] FOR MEMBERS hd
* *
*  stepin(oumm, *) b
* 1-8: [Kppl*Kpl, 9-10:{Kpp]*inFp *
*  ishrid(mumm) : O=no shear deformation *
. positive=member with shear deformation. .
* revga(oshr) : kap/(CAs) *
*  fkinv(36.mshr*mump) : Inv(I+[Fs][K{]) *
» L
* MUMJ3 - MUMJ * 3 -
* MUWPH3 = (MUMP-1)*3 .
¢ MUPP3 = (MUKP+1)*3 .
¢ MMP2 = MUWP * 2 .
. L]
* NFL : OUTPUT OPTION ( 100*0PO + 10°0P1 + OP2 )  *
¢ 0P --- STEP & NODE F-D OUTPUT (1=ON 0=0FF) *
* <ETIRWG+ETIRWS(0)> *
* OP1 --- STEP & MEM F-D OUTPUT (1=ON 0=0FF) *
* <ETIRWC+ETIRWS(1)> *
* 0P2 -— ELEMENT S-S QUTPUT (1=ON 0=0FF) .
* <ETIRWG+ETIRWX> hd
L] L]
*--< DESCRIPTION OF YILDC(SECTID(SCTH),N) >ooomcmcmmeeeee .
*JFLAG(SCT®) : 0 -1 1 2 3 4 5 (temp) *
. N .
* yilde(s,1) c-s-b —=> -> > - - - .
. (s,2) c-5-8] ==> -=» -=> =3 -=> -=> .
. (5,3)  €-8-1 ~=> > > > > > .
. (s,4) %% **¢ K5t > o> > o> .
. (s,5) *** *** (Fy) Fy -=> - --> .
* (s,6) *s% es* a:x 1 0 f] 5 > (D .
* (s.7) see dkr 0x 00 0 --> -> ) *
. (s.8) set wes sae 10 al > o> (sigy) *
. (s,9)  s%s %% w32 () a2 > o> (sigu) *
. (s,10) #es #es ee¢ (0 ( papg > --> (th) *
. (s,11) se+ #es 4+ (0 beta --> --> (landa) *
.

(s,12) *s¢ #** pitch -o> —> —> —> *

EC(ISCD, 1) :ECE EC(1SCD, 2):ECY EC(ISCD.3):ECS *
(2 1) eC“ﬂUmSC. l[)) .- [mwrary use PSR RBE USRI GO NS RSSO S
ec{iz.4) : total width

ec(iz,3) : bl (width for vield region)

ec(iz,6) : nslab (nuwber of slab : default=2)

ecliz,7) : itype (type slab end : default=l<cont>, 2<free>
ec(iz, 8) : ncyc (cycle of loading : defaultal)

»

irigid(ie, 1) : left node | irigid(im,2) : right node
value = on (two digits)
m=0 : rigid-connected end
=1 ! pin-connected end
n=0 : no rigid portion incorporated
a] : rigid portion incorporated

LI I SN . N TS T S A AR N )

IMPLICIT REAL*8(A-H,0-2)

---unix only for system time call —mmmemmmomameaecos
real*4 ta(2)
logical chrg
CHARACTER MP . MJ , W, ML, MB, ME, WF , W
CHARACTER MH . MI , MO, MR . MC ., MT , WK
CHARACTER NREAD*80 .NREADX*80 ,TITLE*(*),
& MOJI, INDX, FIRST, RELAT(3), BLNK10*10
CHARACTER detext*12

o

DIMENSION REAL(7),REALX(7), IND(999)
DIMENSION TT(2.8)
DIMENSION ISW(10)

DIMENSION COFAC(MUMP+1), DINTL(MUMP-1)
DIMENSION OFSTL(MUMM, 4* (MUMP-1)), OFSTG(6, MUMR)
DIMENSION IRIGID(MUMM. 2). RIGID(MUMM, 2), IDIVD (MUMM)
DIMENSION X(MUMJ), Y(MUMJ), INV(MUM])
DIMENSION IFD(MUM]. 3), IFDX(MUM)3)
DIMENSION DU(MUMJ, 3), DF(MUMJ. 3) , BVM(MUMM, MUMPM3 +MUMP-1)
DIMENSION  DEAD (MUMM, 2* (MUMP-1))
DIMENSION FE(MUMJ, 3)
DIMENSION TUV(MUMJ3), SUV(MUMJ3), UV1(MUM]3)
DIMENSION STT(MUM]3, MBAND), BVT (MUMJ 3) , MIND (MUM] 3)
DIMENSION FF(MUM]3),FFT(MUM]3)
DIMENSION NRND(MUMR), FRND(3. MUMR) . ARND (3, MUMR)
DIMENSION  JOINT (MUMM, 2), ISECT (MUMM)
DIMENSION ~ STM(MUMM, MUMPM3+MUMP-1. 6), stopin (mumm, *),

& UVM (MUMM, MUMPP3+MUMP-1)
DIMENSION  XM(MUMM, MUMP+1), YM(MUMM, MUMP+ 1)
DIMENSION sgy (MUMM)

¢ *** 5on 0 dummy ***

DIMENSION DEI (MUMT+MUMC), DEJ (MUMT+MUMC) ,

& 2 (MUMT +HUMC)
DIMENSION TUVM(MUMM, MUMPP3+MUMP-1),

& SUVM (MUMM, MUMPP3 +MUMP-1)
DIMENSION FMEM(MUMM, 6), REACTK (MUMM, 2)
INTEGER SECTID (MUMS)
DIMENSION A (MUMS, MUMT) ., Z (MUMS, MUMT)
DIMENSION YILDS (MUMS), IFLAG (MUMS)
DIMENSION UVDEP(MUMPP3), UXDEP (MUWP-1)
DIMENSION T0612(6, MUMPM3+MUMP-1)
DIMENSION T1206(MUMPM3+MUMP-1, 6)
DIMENSION T1212( (MUMPM3+MUMP-1)* (MUMPM3+MUMP-1))
DIMENSION T12(MUMPM3+MUMP-1)
DIMENSION TXA(MUMP2), TXZ (MUMP2) , TEA(MUMP2)
DIMENSION TEZ(MUMP2), TZZ (MUMP2)
DIMENSION  IA(MUMPM3+MUMP-1), 1B (MUMPM3+MUMP-1)
DIMENSION YILDC(MUMSC, *}, EC(MUMSC, *)
DIMENSION  AC(MUMSC, MUMC) , ZC (MUMSC, MUMC)
DIMENSION ORGCS(MUMM, 2)
DIMENSION ylnew(MUMT, MUMP2), y2new (MUMT, MUMP2)
DIMENSION  xp (MUMT, MUMP2), xn (MUMT, NUMP2)
DIMENSION SSIG(MUMT, MUMP2), SEPS (MUMT, MUMP2)
DIMENSION  SDEE (MUMT, MUMP2)
DIMENSION  CSLP (MUMC, MUMP2) , CSLN (MUMC, MUMP2)
DIMENSION CEXS(MUMC, MUMP2) , CDEE (MUMC, MUMP2)
DIMENSION CSIG(MUMC, MUMP2) , CEPS (MUMC, MUMP2)
DIMENSION isid(mumt, mump2), ICID (MUMC, MUMP2)
dimension beta(mump, nbeta), work (2*nump)
dimension csk(2*nfrier*nump. nbeta)
dimension cort {auap®oump, nbeta)
dimension alod({mump*mump, nbeta)
dimension xxpos(mump, nbeta)
dimension sigx(mump, nbeta)
dimension ishrid(pumm), revga(®), fkinv(36, nump, *)
dimension idtwp(mump)

PSS SR T S, MU U S T S N S A

dimension nnl(6),nn2(2)

DATAMP , M] , W, M., MB. ME. W, Q/
: I A I =T A O
DATAMH , MI, MO, MR, MC, MT ., MK/

i W0 R e T K
DATA BLNK1O /° '/
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c
C

common /ivk/ nnwk(2), nwk(l)
comzon /wk / nawk(2),awk(1)
common /ssdata/ssyr, ssbri, ssbrk
common /dummy/tmp3, topdnl

2583

5030
5035
5100

5110

5120
6000

6100

FORMAT(IH . 1P, 3E25. 4, el5.4,al2)
FORMAT(IH , " (*,13.")"." DET='.al2.1P,4E12.4)
FORMAT(/1H . 4X." ( IT.DISP * IT.DISP )'.
4X,' ( ST.DISP * ST.DISP )",
4X, " (IT.DISP"2/ST.DISP"2)",
4X," - SUM OF FF',

4X, ' DETERMINANT /)

.4X," C IT.DISP * IT.DISP )",
4X." ( ST.DISP * ST.DISP )*,
4X," (IT.DISP"2/ST.DISP"2) ",
4X.* SUM OF FF",

4X, ' DETERMINANT* /)
FORMAT(IH . "N, FX.FY,FM =", 15,3F13.3)
FORMAT(IH ,/1H . *** MATRIX INDEX ***
& "MATRIX SIZE = *,110,5X, 'BAND WIDTH =
& /IH 4C N (D X Y T
FORMATC (1H ,4(4X.13," (*,13,")

Re Ao Rv Q=

FORMAT( 1H

Re 2o Rv Qe

" 5K,

" 110,
Rl

", 314,4X)) )

CALL CPUTIME(CTIMEL, IRET1)

GO OO0

LARGE-0 : Small displacement problem.
LARGE=1 : Large displacement problem.
largex=0 : during converge ***

’e Re

2586
LARCEX=0

N =0

NUMJ =0

NUMM =0

NSAME=0

NBAND=0

NUMSC=0

ishr =0

NL =0

MATS =0

FOLLOWINGS ARE WORK FILE DESTINATIONS **¢
MR =10

MW =11

MER =12

MEW =13

Ro g0 o

ZERO =0.0D0
1ZERO=0

Re Ro R

amxlen=zero 2600

5

2581

&
2582

OPEN(MTR, STATUS=" SCRATCH' . FORM=" UNFORMATTED" )
OPEN(MTW, STATUS=" SCRATCH" , FORM=" UNFORMATTED" )
OPEN(MER, STATUS=" SCRATCH" , FORM=' UNFORMATTED" )
OPEN(MEW, STATUS=" SCRATCH" , FORM=" UNFORMATTED" }

DO 5 I=1, MUMR
NRND(T) =1ZERO

D05 J=1.3
FRND(J. I) =ZERO
ARND(], I} =ZERO
CONTINUE

OO0

10

IPNWM=0
IF(IPSKIP.EQ.0) IPSKIP=1
IF(MT1.NE.O) THEN
READ(MT1) NUMR, NUMJ, NUMM, NBAND, NS, EE, EP,
ssyr, ssbri, sshrk,
MAXIT, MINIT, MATS, NFL
DO 2581 I=1,MUMM
READ(MT}) ISECT(I). IDIVD(I) sgy(I)
ishrid(i),
(JOINT(I, K), ORGCS(I, K), REACTK (LK),
[RICID(IL, K),RIGID(I,K), K=1,2)
MMP=IDIVD(I) i
if(ishrid(i).gt.0) then
kl=ishrid(i)
read(ntl) revga(kl),
((fkinv(j.k0. k1), j=1,36),k0=1, nmp)
endif
READ(MT1) (DEAD(I, J).J=1,2*(MMP-1))
READMT) (OFSTL(I.]),J=1,4*(0P-1))
READ(MT1) (OMCT, ). YM(L, J), J=1,MMP+])
READ(MTL) (TUVM(I, J).J=1,3* (MMP+1) +M¥P-1)
CONTINUE
DO 2582 I=1, MUM]
READ(MT1) X(I),Y(D).
FE(I. 1), FE(I. 2),FE(L. 3), INV(])
CONTINUE
DO 2583 I=1,MIM]3

15

Re Re

e Re Ro

loNeNe]

9%
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READWMTD) TUVAI) MIND(D
CONTINVE

do k=1, nbeta
READ(MT1) (beta(j.k!. )=, nump)
READMT]) (csk(j.k}.j=1,2*nfrier*oump)
READ(MT1) (cort(j.k).}=l, pump*mump)
READ(MT1) (xxpos(j.k}, j=1, oump)
enddo

DO 2584 =1, MIMS

READ(MT1) YILDS(I).SECTID(D), IFLAG(D)

READ(MT1) (A(1.J).Z(1. J). J=1.MUMT}

K = SECTID(I)

IF(K.GT.0) THEN
READ(MT1) (EC(K.J).J=1.3)
READ(MTD) (YILDC(K, J). J=l.nyildc)
READ(NT1) (AC(K. J), ZC(K, J). J=1, MUMC)
END TF

CONTINUE

READ(MTL) (ISK(D), I=1,10)
READ(MT1) IND
[F(MUMR. GT. 0) THEN

DO 2586 J=1,MUMR

READ(MT1) NRND(J).
FRAD(1, ), FRND(2, ]) . FRND(3. ),
ARND(1, J), ARND(Z, J), ARND(3, ])
READ(MT1) (OFSTG(K.J]).K=1,6)
CONTINUE
END IF
amx]en=ZERO
DO 2600 I=1, MMM

il=joint(i, 1)

i2=joint (i, 2)

xxx=x(i2)-x(il)

yyy=y(i2)-y(il)

xyl=dsqrt (xxx*xxx+yyy*yyy)

if(xyl.gt.amxlen) amxlen=xyl

1Z = ISECT(I)

MP = IDIVD(])

CALL READMX(MT1, SECTID(IZ). IFLAG(12),
ylnew, y2new, xp. xn, SSIG. SEPS, isid,
CSLP. CSLN, CEKS, CSIG, CEPS, ICID.
MUMT, MUMC, MMP, MLMP2)

CALL WRITMT(MTR, 0, SECTID(IZ). IFLAG(IZ),
ylnew, yZ2new, xp, xn, SSIG, SEPS, isid., SDEE,
CSLP, CSLN, CEKS, CSIG, CEPS, ICID, CDEE.
MIMT, MUMC, MWP, MUWP2)

CONTINUE

REWIND MT1

ENDFILE MTR

REWIND MTR

GOTO 290
END IF

zeses sEees

DATA READ START
REPEAT

CONTINUE
CALL SKPCMT (IR, IW, NREAD, "¥¥", *590. *550)
CONTINUE

MOJT = NREAD(1:1
IF(MOJI. EQ. MK)
IF(MOJI.EQ. MP)
IF(MOJI.EQ.MT)
IF(MOJI. EQ. MH)
IF(MOJI.EQ. MDD
IF(MOJI.EQ. MO)
IF(MOJI.EQ.MR)
IF(MOJ 1. EQ. MC)
[FMOJI.EQ."Z") €O TO 121
IF(MOJI.EQ."U") GO TO 117
IF(MOJI.EQ. M) GO TO 120
IF(MOJI.EQ.MQ) GO TO 130
IF(MOJI.EQ.MM) GO TO 150
IF(MOJI.EQ.ML) GO TO 190
IF(MOJI.EQ."X") THEN

if{nread(8:10}.ne.’

goto 10

ENDIF

88888888V
33333333

— e b e
ot e b e O D
oo dSS

') read(nread, ' (7x.13)') NFL

GO To 295

e K a8

CONTINUE
NUMR=NUMR+1
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C
c
c

(RN ol

n

o

READ(NREAD. * (1X, I3,6X. 3F10.0*)
& I1, (ARND(I, NUMRY, I=1,3}
NRND(NOMR) =IND(I1)

CALL SKPCMT(IR, IW, NREAD, " ¥¥", *500, *360)
IF(NREAD(1:10). NE. BLNK10} COTO 15
READ(NREAD. * (10X, 6F10.0)")

& (OFSTG(1. \UMR). 1=1.6)

GO T0 10

ses D s4s

100 CONTINVE
READ(NREAD, " (10X, 2F10.0)") EE, EP
-— brISH (default=0.001) ---
k0=30
if{nread(k0+1:k0+10). ne.blnk10) then
read(nread(k0+1:k0+10)," (f10.0)*) ssbri
end if
~-- brKIH (default=0.0005) ---
k0=40
if (nread(k0+1:k0+10). ne. blnkl0) then
read(nread(k0+1:k0+10)," (10.0)") ssbrk
end if
--- fyp/fp (default=0.75) ---
k0=50
if (nread(k0+1:k0+10). ne. blnkl0) then
read(nread(k0+1:k0+10), " (f10.0)") ssyr
end if
-—- epl/epY (default=10.0) ---
k0=60
if (nread(k0+1:k0+10). ne. blnkl0) then
read(nread(k0+1:k0+10), " (f10.0)") ssar
end if
-— fp/fy (default=l.30) ---
k0=70
if (nread(k0+1:k0+10). ne. bink10) then
read(nread (k0+1:k0+10), " (£10.0)") fpfy
end if
CO T0 10

e T [ ] ese

110 CONTINUE
READ(NREAD, * (1X, I3, 5X, A1, 7F10.0)")
& I1, INDX, (REAL(D), 11,1
YILDS(I1)=REAL(6)
CALL SDATA(IW.MOJI, I1,REAL(1),REAL(2),REAL(3).
& REAL(4), REAL(5), A, Z, REAL(7), MUMS, MUMT)
GO TO 116

*ay 0 \ R , C a8
115 CONTINUE
READ(NREAD, * (1X, 13, 5X,Al, 7F10.0)")
& I1, INDX. (REAL(D), [=1.7)

YILDS(I1)=REAL(6)

[F(MOJI.EQ.MR) REAL(2)=REAL(3)

CALL RDATA(IW,MOJI.I1,REAL(1),REAL(2),A.Z,
4 REAL(7), MUMS, MUMT)

*** Exstra input for sectional information ***
116 CONTINUE

SECTID(I1)=0

IFLAG(I1) =0

IF(INDX.EQ.” ') GOTO 10

NUMSC=NUMSC+1

SECTID(I1)=NUMSC

CALL SKPCMT(IR, IW, NREADX, " ¥¥', *590, *590)
IF(NREADX (1:10) . NE. BLNK10)
& CALL MSCSTP(IW, 'ERROR...SECTION DEF (keyword:'//
& MOJ1//t ZECY )

e Read EC s8X
READ(NREADY, * (10X, 3F10.0)") (EC(NUMSC, 1), I=1,3)
*** ec(numsc.4) : total width ***
ec{numsc, 4) =zero
if(nreadx(41:50). ne. bink10) then
read(nreadx(41:50),*) ectnumsc,4)
endif
*** ec(numsc,5) : b0 *e*
ec(nunsc, 5) =zero
if (nreadx(51:60). ne. blnk10) then
read (nreadx (51:60), *) ec(numsc, 5)
endif
*** ec(nuasc,6) : nsiab *** (i5)
ec(numsc, 6) =2, 0d0
if(nreadx(61:65).ne.’ ') then
read (nreadx(61:65), *) ec(numsc, 6)

endif
¢ *** ec(numsc,7) : itype *** (i3)
ec {nuamsc, 7} =0
if(nreadx(66:70).ne.” ') then
read(nreadx(66:70),*) ec(numsc, 7}
endif
c *** ec(numsc, 8-10) : temp ***
ecinumsc, 8)=zero
eclnumsc, 9)=zero
ec(numsc, 10) =zero

CALL SKPCMT (IR, IW, NREADX, "¥¥", *500, *590)
IF(NREADX(1:10). NE. BLNK10)
CALL MSCSTP(I¥. *ERROR. ..SECTION DEF (keyword:'//
MOJI/7) )
READ(NREADY, * (10X, 7F10.0)") (REALX(D),1=1.7)

Re f2o

IF(INDX.EQ."C") THEN

YILDC(NUMSC, 1)= DABS(REALX(4))

YILDC(NUMSC, 2)= DABS(REALX(5))

YILDC (NUMSC. 3) =-DABS (REALX(6) )

CALL CDATA(IW, NUMSC,
& REALX(1), REALX(2) . REALX(3),
& AC, ZC, REAL(T7), MUMSC, MUMC)
ELSE
CALL CDATA(IW, NUMSC,

REALX(1).1.0D0, REALX(2),
AC,ZC,REAL(7),MUMSC, 1)

YILDC(NUMSC, 1)= DABS(REALX(3))
YILDC(NUMSC. 2)= DABS(REALX(4))
YILDC(NUMSC, 3) =-DABS (REALX(5))
YILDC(NUMSC, 4)= REALX(6)
YILDC (NUMSC, 5}= REALX(7)
yildc(numsc, 6) = 1.0d0
yildc(nuwsc,7) = zero
yildec(numsc, 8) = 1.0d0
yildc(numsc,9) = zero
yildc(numsc, 10)= zero
yildc(numsc, 11)= zero

R Re

[

IF(INDX.EQ. 'F") THEN
IFLAG(TY) = -1
ELSE IF(INDX.EQ."E') THEN
IFLAG(ID) = 1
ELSE IF(INDX.EQ."G') THEN
IFLAG(I1) = 2
ELSE IF(INDX.EQ.'S") THEN
IFLAG(I1) = 3
CALL SKPCMT(IR, I¥, NREADX, " ¥¥", *500, *590)
IF(NREADX(1:10). NE. BLNK10)
& CALL MSGSTP(IW, 'ERROR...SECTION DEF (keyword:’
3 /MOJL/7/8Y )
READ (NREADY, * (10X, 6F10.0)*)
& (YILDC(NUMSC, 1), I=6.nyildc-1)
ELSE [F(INDX.EQ."U") THEN
IFLAG(I1) = 4
CALL SKPCMT(IR, IW, NREADX, " ¥¥', *590, *590)
IF(NREADX(1:10). NE. BLNK10)
CALL MSGSTP(I¥. 'ERROR...SECTION DEF (keyword:’
/MNOJL/7° ) )
READ(NREADX, * (10X, 6F10.0)*)
& (YILDC(NUMSC, 1), I=6, nyi ldc-1)
ELSE IF(INDX.EQ.'X") THEN
IFLAG(I1) = 5
CALL SKPCMT(IR, IR, NREADX, * ¥¥*, #590, *390) !
[F(NREADX(1:10). NE. BLNK10)
& CALL MSGSTP(IW, 'ERROR...SECTION DEF (keyword:'
& /MOJ1/7° /%))
READ (NREADYX, * (10X, 6F10.0)")
4 (YILDC(NUMSC, 1), I=6. nyildc-1)
ELSE
CALL MSCSTP(IW, 'ERROR...SECTION DEF (keyword:
& V2L NV VAN
END IF

Re Ro

if(indx.NE.'F') then
cal! skpeot(ir,iv.nreadx, ' ¥¥’, *590, *590)
if(nreadx(1:10).NE. blnk10)
call wsgstp(IW, 'ERROR. ..SECTION DEF ('
/ML 7 7/INDXZ 7))
read(nreadx, ' (10x, £10.0)") yildc(numsc,nyildc)
end if

2 R

END IF

o

goto 10

#*+ 7 : BOX SECTION **

OO0 n
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121 CONTIME CALL SKPQMT(IR. IW, NREADX, " ¥¥', #3507, *500)

READ(NREAD, " (1X. 13, 5X, AL, 7F10.0)") IF(NREADX (1:10). NE. BLAK1O)
& 11, INDX, (REAL(D),1=1.7) & CALL MSGSTP(IW, 'FRROR...SECTION DEF (keyword:'
' YILDS(I1)=REAL(6} & /MOJ1/77 /00 )
CALL BOXSCT(IW, I1,REAL(1),REAL(2),REAL(3), READ (NREADX. * (10X, 6F10. 0y ")
& REAL(4), A, Z,REAL(7), MUMS, MUMT) & (YILDC(NIMSC, [}, 1=6, nyildc-1)
G0 T0 116 ELSE IF(INDX.EQ."X') THEN
C IFLAG(IY) = 5
C CALL SKPCMT (IR, I%, NREADX, " ¥¥°, *500, *5080)
[% **+ | : USER DEFINED SECTION *»* IF(NREADX(1:10). NE. BLNK10)
C & CALL MSGSTP(IW, 'ERROR...SECTION DEF (keyword:"
117 CONTINVE & /MOJL// /%) )
READ(NREAD, * (1X, 13,5X, A1, 7F10.0)") READ (NREADX, * (10X, 6F10.0) ")
& 11, INDX, (REAL(D), I=1,7) 4 (YILDC(NMSC, 1), =6, nyildc-1)
SECTID(IN)= 0 ELSE
IFLAG(ID) = 0 CALL MSGSTP(IW. ERROR...SECTION DEF (keyword:®
YILDS(I1) = REAL(1) & /MOJL/7 7 7/ INDX /) )
IF(INDX.EQ." *) THEN END IF
CALL UDATACIR, IW, I1,NUMSC, A, Z, AC, ZIC, END IF
& MUMS, MUMSC, MUMT, 0 ) - C
GOTO 10 CALL UDATA(IR, IW, I1,NUMSC, A, Z, AC, ZC.
END IF & MUMS, MUMSC, MUMT, KEEP)
C c
NUMSC=NUMSC+ 1 goto 10
SECTID(I1) =NUMSC c
C c
CALL SKPCMT(IR, I¥, NREADX, "¥¥", *500, #550) C haadl Bhadd
TF(NREADX (1:10). NE. BLNK10) [
& CALL MSGSTP(IW, 'ERROR...SECTION DEF (keyword:'// 120 CONTINUE
& M0J1//° /ECY" ) NUMJ=NUMJ+1
< READ(NREAD, * (1X. 13, 6X, 2F10.0)")
READ (NREADX, * (10X, 3F10.0) ") (EC(NUMSC, I).1-=1,3) & 1. XCNUMD), YANUM))
c *** ec(numsc,4) : total width *** NNJ =3*NUMJ-2
ec (numsc, 4) =zero MIND(NN] ) =NNJ
if(nreadx(41:50). ne. blnk10) then MIND(NN]J +1)=NNJ+1
read(nreadx(41:50),*) ec(numsc,4) MIND(NNJ+2)=NNJ+2
endif C
¢ *** ec(numsc.5) : b0 *** IND(I1)=NUM]
ec{nuosc, 5) =zero INV(NUM]) =11
if (nreadx(51:60).ne. blnk10) then MATS=MATS+3
read(nreadx(51:60). *) ec(numsc, 5) GO T0 10
endif 4
¢ *** ec(numsc,6) : nslab *** (i5) C **¢ Q (EQUIVALENCE)***
ec(nuasc, 6)=2. 0d0 C

if(nreadx(61:65).ne.” ') then 130 CONTINUE
read(nreadx(61:65),*) ec{numsc, 6} READ(NREAD, * (1X,313)") 11,12.13
endif call negqval(il.i2,i3,
c *** eclnumsc,7) : itype *** (i5) & nuwj, ind, mind. mats, *590 )
ec (numsc, 7) =0 G0 T0 10
if(nreadx(66:70).ne.” ') then C
read(nreadx(66:70),*) ec(numsc.7) C bhadl Bhidd
endif ¢ (M n#l nk2 sect® Kx Ky [pin(l)] [pinR}] [div] [rg(L)] [rg(R}] [k/CA) )
¢ *** ec(numsc, 8-10) : temp *** c pin(L): null,any char (null=none, any=pin)
ec(numsc, 8)=zero c pinil): null.any char (null=none,any=pin}
ec(numsc, 9)=zero [ div ! bink, |-oump (blnk=nump)
ec(numsc, 10)=zero c rg{L) : blak, length (blnk=0)
< c rg(R) : blnk, length (blnk=0)
YILDC (NUMSC, 1)= DABS(REAL(2)) c k/GA . blnk, shear compliance (blnk=0)
YILDC(NUMSC, 2)= DABS (REAL(3)) C
YILDC (NUMSC, 3)=-DABS(REAL(4)) 150 CONTINUE
YILDC(NUMSC, 4)= REAL(5) READ(NREAD, * (1X, 313, 2F10.0) ")
YILDC(NUMSC, 5)= REAL(6) & 11.12. 13, REAL (1), REAL(2)
yi lde (nupsc, 6) = 1.0d0 NUMM=NUMM« 1
yildc(numsc, 7) = zero M=NUMM
yilde(numsc, 8) = 1.0d0 11=IND(11)
yildc (numsc,9) = zero 12=IND(12)
yilde(nuasc, 10)= zero JOINT(M, 1) =11
yildc(numsc, 11)= zero JOINT(M, 2)=12
YILDC (NUMSC, nyi 1dc) =REAL(7) ISECT(¥ )=I3
c sgy (M) =YILDS(13)
IF(INDX.EQ."C") THEN ¢ sgp{M)=1. 3d0*sgy ()
KEEP = MUMC ] . REACTK(M, 1) = REAL(1)
ELSE . REACTK(M, 2) = REAL(2)
KEEP = 1 o C
IF(INDX.EQ. 'F") THEN ¢ *** Pin connected nodes [32-34,35-37] ***
IFLAG(I1) = -1 do k=1,2
ELSE IF(INDX.EQ.'E’) THEN irigid(m, k)=izero
IFLAG(T1) = 1 k1=32+3*(k-1)
ELSE IF(INDX.EQ."G’) THEN k2=3443%(k-1)
IFLAG(I1) = 2 if (nread(kl1:k2).ne.binkl0(1:3)) then
ELSE IF(INDX.EQ.'S’) THEN irigid(m k)=10
IFLAG(I1) = 3 endif
CALL SKPCMT(IR, IW. NREADX, ' ¥¥', *590, *590) enddo
IF(NREADX(1:10). NE. BLNK10) c
¢ CALL MSGSTP(IW. 'ERROR...SECTION DEF (keyword:' ¢ *** Member division [38-40] ***
& /MOJ1/70/8) ) IDIVD(M) WLMP
READ(NREADX, * (10X, 6F10.0)") ki=38
¢ (YILDC(NUMSC, I), 1=6, nyi ldc-1) k2=40
ELSE IF(INDX.EQ.'U") THEN IF(NREAD(k1:k2). NE. BLNK10(1:3)) THEN
IFLAG(I1) = 4 READ(NREAD(k1:k2), *) KO
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IF(KC. LT. 1. OR. KO. GT. MUWP) IF(KLNE.O)

& CALL MSCSTP(IW, "ERROR...= OF DIVISION' & CALL MSGSTP(IW, "ERROR...COFAC/MEM")
& /7" INCONSISTANT. MEM') IF(COFAC(1).CT. ZEROY THEN
IDIVD(M)=KO if(od(irigidie, 1),10).eq.0) irigidim, D=irigid(m. 1)+}
END IF RIGID(M. 1) =XYL*COFAC(1)
WP = IDIVD(M) END IF
C IF(COFACIMMP+1).LT. 1. 0D0) THEN
K0=11*3 if(mod(irigid(m, 2),10).eq.0) irigidim, 2)=irigid(m, 2)+1
K1=K0-1 RIGID(M, 2) =XYL*{(1. 0DO-COFAC (MMP+1)}
K2=K1-1 END IF
MI1=MIND(K2) C DEAD
MI2-MIND(K1) ELSE IF(NREAD{(2:5).EQ. DEAD') THEN
MI3=MIND(K0) IF(INDX.EQ."X") THEN
C KO = -1
K0=12°3 ELSE IF(INDX.EQ.'Y") THEN
K1=KD-1 Ko =0
K2=K1-1 ELSE
MJ1-MIND(K2) CALL MSGSTP(IW, "ERROR...DEAD L.")
MJ2-MIND(K1) END IF
MJ3=MIND(KO) - . if (nread(7:8).eq. "EQ") then
[% do k=1, mmp-1
MIA=MINO(MI1, MI2 MI3, MJ1.MJ2.M]3) read(nread(11:20),*) dead(m, 2*k+k0)
MIB=MAXO(MI1,MI2, MI3, MJ1.MJ2,M]3) enddo
C else
NB=MIB-M[A+1 CALL RDBETA(IR, TW, -2, NREAD, M, MUMM.
NBAND=MAXO (NBAND, NB) 4 MMP-1, 2, KO, DEAD, K1)
XXX=X(12)-X(11) IF(K1. NE. 0)
YYY=Y(12)-Y(11) & CALL MSCSTP(IW, ERROR...DEAD L.")
XYL=DSQRT (XXX*XXX+YYY*YYY) endif
if(xyl.gt.anxlen) amxlen=xyl C OFST
XXX=XXX/XYL ELSE IF(NREAD(2:5).EQ. OFST') THEN
YYY=YYY/XYL KO = -4
ORGCS (M, 1) =XXX IF(NREAD(6:6).EQ. ' +') THEN
ORGCS(M, 2)=YYY KO = KO+1
C ELSE IF(NREAD(6:6).EQ."-") THEN
RIGID(M, 1) = ZERO KO = K0+2
RIGID(M.2) = ZERO ELSE
COFAC(1) = ZERO KO = 999
COFAC (MMP+1)=1. 0DO END IF
c IF(INDX.EQ."Y') THEN
¢ *** Auto division w/o rigid portion [41-50,51-60] *** KO = K0+2
if (nread(41:50). ne.binkl0. or.nread(51:60). ne. blnkl0) then ELSE IF(INDX.NE.'X’) THEN
do k=1,2 KO = 999
kl1=41+10%(k-1} END IF
k2=50+10*(k-1) IF (KO. GE. 999)
if (nread(k1:k2).ne.bink10) then & CALL MSGSTP(IW, "ERROR. ..OFSTLA')
kO=1+omp* (k-1) if(nread(7:8).eq. 'EQ") then
irigid(m k)=irigid(m, K)+! do k=1, omp-1
read(nread(k1:k2).*) rigid(n. k) read(nread(11:20}, *) ofstl(m. 4*k+k0)
cofac(k0)=dble(k-1) +dble(3-2*k) *rigid(m k)/xyl enddo
endi f else
enddo CALL RDBETA(IR, IW, -2, NREAD, M, MUMM,
endif & MMP-1, 4, KO, OFSTL. K1)
xxx=(cofac (mwp+1) -cofac (1)) /dble(mmp) IF(K1.\E. 0)
do k=2.mmp & CALL MSCSTP(IW, "ERROR...OQFSTLA"}
cofac (k) =cofac (1) +xxx*dble (k-1) endif
enddo C DEFL
c ELSE IF(NREAD(2:5).EQ. DEFL’) THEN
¢ *** Shear compliance [61-70] *** IF(INDX.EQ."S") THEN
if (nread(61:70). ne. blnk10) then FIRST = 'S’
ishr=ishr+l READ(NREAD, * (10X, F10.0)") DINTL(D)
ishrid(m)=ishr ELSE IF(INDX.EQ.’Q') THEN
Read(nread(61:70),*) revga(ishr) FIRST = 'Q’
else READ(NREAD, * (10X, F10.0)*) DINTL(1)
ishrid(m)=0 ELSE
endif FIRST = 'S
c READ(NREAD, * (10X.F10.0)") DINTL(D)
¢ *** Define fp/fy (default=1.3) [71-80] *** FIRST = 'N'
c if(nread(71:80) . ne. bink10) then CALL RDBETA(IR, IV, -2, NREAD, 1.1,
¢ Read(nread(71:80),*) xxx & MMP-1, 1, 0, DINTL. K1)
¢ sgp (M) =xxx*sgy (M) IF(K1.NE. 0)
c endif & CALL MSGSTP(IW, "ERROR...DEFL/MEM')
c : END IF
D0 §20 I<1,MP-1 o NONE OF INDEX -orommmmmmmmcmemme
DEAD(M, 2¢1-1) =ZERO ELSE
DEAD(M, 2*1 ) =ZERO CALL MSGSTP(IW, 'ERROR...MEMBER ID.')
OFSTL(M, 4*1-3)=ZERO END IF
OFSTL(M, 4*1-2) =ZERO [ END OF SUB INDEX UNDER MEMBER ------
OFSTL(M, 4*I-1)=ZERO CALL SKPCMT (IR, IW, NREAD, * ¥¥", *590, *390)
OFSTL(M, 4*] )=ZERO 610 CONTINUE
820 CONTINUE C
C DO 830 I=1,MMP+1
FIRST = * * XM(M, 1) =X(11) +XYL*orgcs(m, 1) *COFAC(I)
CALL SKPCMT (IR, IW, NREAD, "¥¥", *590, *590) YM(M, I)=Y(11)+XYL*orges(m, 2) *COFAC(I)
DO 610 WHILE(NREAD(1:1).EQ.” ) 830 CONTINUE
INDX = NREAD(10:10) C
c DIVD IF(FIRST.EQ."S') THEN
IF(NREAD(2:5) . EQ. ' DIVD') THEN REAL(1)=XYL-RIGID(M. 1) -RICID(M. 2)
CALL RDBETA(IR, I¥, -2, NREAD, 1, 1. IF(REAL(1).LE. ZERO) CALL MSGSTP(IW,
& MMP+1, 1.0, COFAC, K1) & *ERROR. . . EFFECTIVE SPAN IS NEGATIVE/MEM')
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840

850

s NeNel o

DO 840 I=2.MWP
REAL(2) = DINTL(I}*DSINC (XYL*COFAC(D)-
RIGID(M, 1)) /REAL(1)*
. 3. 1415926535900 )
MM, 1) =XM(M, 1) -REAL(2) *orges(m. 2)
YM(M, 1) =YM(M, [} +REAL(2) *orges (. 1)
CONTINUE
ELSE IF(FIRST.EQ.'N') THEN
do i=2, mmp
xo(m. i)=xp{m, i)-dint](1)%orges(n, 2)
ya(m, i)=yo(s, i}+dint] (1)*orges(m, 1)
enddo
ELSE IF(FIRST.EQ.'N') THEN
DO 850 1=2.MVP
XM(M, D=XM(M, T)-DINTL(I-1)*orgcs(m, 2)
YM(M, 1) =YM(M, 1) +DINTL(I-1)*orges(m. 1}
CONTINUE
END IF

G0 T0 15

84 | ses

190 CONTINUE

&

READ(NREAD. * (1X,313)*) 11,12
MAXIT=IABS(I1)
MINIT=1ABS(12)
IF(I1.LT.0.0R. 12.LT.0) GO TO 290
WRITE(IW. 6000) MATS, NBAND
WRITE(I¥, 6100)
(1, INVCT), (MIND(3*(I-1)+]), J=1,3), I=1, NUM])

<
¢ *** Calculates stud stiffness ***

CALL checkf(I¥, ' ===< YILDSIM'MS) >e==", 0, YILDS, 1. MUMS:

if{nbeta. gt.0) then
k=0
do i=1, mumm
iz=sectid(isect(i))
iftiz. gt.0) then
k=k+1
zap=idivd(i)
CALL checkf (IW, =2=< xpos(mmp) >=== ibeta :°,
& k+100*i, xxpos(1,k), 1. nmp)
CALL checkf (I¥, ' ===< beta(mpp) >a== ibeta @',
& k+100*i, beta(l, k), |, mop)
CALL checkf (IW, *s==< csk(2n, ump) /FOURIER >=== ibeta :
& k+100*i, csk(1,k), 2*nfrier, nmp)

CALL checkf (IW, ' ===< cort (mup, mmp) /FOLRIER >=== ibeta .,

& k+100*i, cort (1. Kk}, omp, map)

CALL checkf (¥, "===< alod(ump, map) /FOLRIER >==x ibeta :°,

& k+100*i, alwd (1. k), nop, omp)
endif
enddo
endi{

TF(MUMSC. GT. 0) THEN
CALL checkd(IW,

e Pw

MUMSC, YILDC, MUMSC, nyi 1dc)

"===< YILDC(MUMSC,3 OR 8) 12:stud pitch >=== MUMSC : °

CALL checkd(IW, === EC(MUMSC,3 or 10) »===",0,EC, MUMSC, 10)

END IF
IF(MUMR. GT. 0) THEN

DO 870 1=1,MUMS
IF(SECTID(I). GT. 0. AND. IFLAG(1).EQ.5) THEN
1Z=SECTID(1)
call estkst{yildc(iz, 6),yildc(iz, 7). ee,

& yilde(iz,8),yildc(iz, ®),
& yilde(iz, ), ec(iz. D),
11 yilde(iz, 10}, yilde(iz, 11),
& yilde(iz, 4),yildc(iz, 5).
& real (1), real (2), real (3),
& real (4), real (5), real (6) )
DO 860 J=1,6
YILDC(1Z, J+5)=REAL(])
860 CONTINUE
END IF
870 CONTINUE

<
-

s

¢ *** Calculates effective vidth of slab : beta(mump, nbeta) ***
LJ L]

do j=1,nbeta
do i=1,nump
sigx(i, j)=zero
enddo
enddo

call dfbetO(iw, beta, ec,idivd, isect,sectid,
¢ joint, X, y.Xm, ym, mumm, mumsc.mump,
& nbeta, nfrier, xxpos, csk, cort, alnd)

CAU. checki (IW, zeag JOINP(MUW. 2) >eas’ B
& 0, JOINT, MUMM, 2)
CALL checki (I, ==a< IRIGID(MUMM, 2) >===',
& 0, IRIGID, MUMM, 2)
CALL checkf (IW, *===< RIGID(MUMM, 2) >==a’,
& 0,RIGID, MUMM, 2)
CALL checki (I, ' ===< IDIVD(MUMM) >==a’,
& 0, IDIVD, 1, MUMM)
CALL checki (IW, ' ===< Shear Compliance ID (mumm) >===',
& 0, ishrid, 1, oums)

CALL checkd(IW, ' ===< Shear Compliance (k/CA} >=== wmshr : '

[ ashr, revga, 1, nshr)

CALL checkf (IV, * ===< XM(MUMM, MUMP+1) >==2",
4 0, XM, MUMM, NUMP+1)

CALL checkf (IW, ' sz=< YM(MUMM, MUMP+1) >=z==',
& 0, YM, MUMM, MUMP+1)

CALL checkf (I, ===< DEAD(MUMM, 2* (MUMP-1) >a==’,
& 0, DEAD, MUMM, 2* (MUMP-1))

CALL checkf (IV, ' ===< OFSTL (MUMM, 4* (MUMP-1) >===",
& 0, 0FSTL, MUMM, 4 (MUMP-1) )

CALL checkf (IW, * sa=c ORCCS(MUMM, 2) >===", 0, ORGCS, MUMM, 2)
CALL checkf(IW, " ==x< REACTK (MMM, 2) >a==", 0, REACTK, MUMM, 2)

CALL checkf(IW, " sxs< Sig_y(MUMM) >=sa",0, sgy, 1, HUMW)
CALL checki (IW, ‘sss< ISECT(MUMM) >=a=",0, ISECT, 1, MUMM)

CALL checki (IW, " a=s< SECTID(MUMS) >=== MUMS : ',
& MUMS, SECTID. 1, MUMS)
CALL checki (IW, ' ===< IFLAG(MUMS) >===",0, IFLAG, 1, MMS)

o000 a6 6n

c

[

CALL checki (IW, “==x< NRND(3, MUMR) >===",0,NRAD. 1, 3*MUMR)
CALL checkd(IW, "===< ARND(3.MUMR) >===",0.ARND, 1, 3*MUMR)
CALL checkf (IW, * ===< OFSTG(6,MMR} >===",0, OFSTG, 1, 6*MUMR)
END IF

*** check-begin compon ***
write(6,*) "nnwk : °,nnwk
vrite(6,  (10i8)") (nwk(i), i=1.nnwk(1))

write(6,*) "nawk : °,nawk

write(6, (5f16.6)") (awk(i), i=1,nawk(1))
*** check-end common ***

2° Bo @0 RS Ro RO RO Re

IF(NFL.GT. 0. AND. IWRT. GT.0) THEN

CALL ETIRWG(IWRT, ibflag. JOINT, ISECT,
IDIVD, IRIGID, RIGID, ORCCS. sgy.
REACTK, DEAD, OFSTL. X. Y, INV, MIND,
xm, yo,
NRND. ARND, OFSTG, YILDS, SECTID, IFLAG,
A, Z. BETA.EC,YILDC,
AC. ZC,EE,EP, ssbri. ssbrk,
MUMM, MUMJ, MUMP, MUMT, MUMR, MUMS,
MUMSC, MUMC, nbeta)

END IF

REWIND MIR

c *** Set initial value to each elepent ***

205

206

207
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DO 210 T<1, NIMM
MMP2=2*1DIVD(I}
DO 205 J=1,WMP2
DO 205 K=1,MUMT
FRITE(MIR) zero, zero, zero, zero, ZERO, ZERO, izero
CONTINUE
1Z=SECTID(ISECT(I))
IF(1Z.CT.0) THEN
ECE = EC(IZ,1)
SY0= DABS(YILDC(IZ, 1)/ECE)
EY0=-DABS(YILDC(IZ, 3)/ECE)
IF(IFLAG(ISECT(I)).EQ.0) THEN
DO 206 J=1,MMP2
DO 206 K1, MUMC
WRITE(MTR) SYO.EYO, ECE, ZERO, ZERO,
1ZERO
CONTIME
ELSE
DO 207 J=1,IDIVD(D)
WRITE (MTR) SYO.EYO, ECE, ZERO, ZERO.
1ZERO
CONTINUE
IF(IFLAG(ISECT(1)).CT.0) THEN
call coefst(dint], xm, ym, yildec(iz, nyildc),
i, idivd(i), oumm, sump)
IF(IFLAG(ISECT(I)).EQ.1) THEN
EY0-ZERO
ELSE
EYO=YILDC(IZ,5)/YILDC(IZ, 4)
END IF
DO 208 J=1, IDIVD(I)-1
WRITE(MTR) EYO, -EYO.dint1(j)*YILDC(IZ.4),



4 ZERO. ZERO, IZERO
208 CONTINUE
END IF
END IF
END IF
210 CONTIMUE

ENDFILE MTR
REWIND MIR
DO 220 I=1,NUMJ
DO 220 J=1.3
FE(I. J)=ZERO
220 CONTINUE
DO 230 I=1, MATS
TUV(I) =ZERO
230 CONTINUE
DO 240 I=1,NUMM
DO 240 J=1. MUMPP3+MUMP-1
UW(I, J)=ZERO
TUWM(I, J)=ZERO
240 CONTINUE
C

C *** NEXT STEP
C
290 CONTINVE
NS=NS+1
WRITE(IW, " (1H1, 132A1)") (°-",1=1,132)
C
295 CONTINUE
C
WRITE(6.*) "NS='.NS
DO 310 I=1,MUMJ3
SUV(T)=ZERO
uvl (1) =ZERO
310 CONTINUE
DO 315 I=1, NUMM
DO 315 J=1, MUMPP3+MUMP-1
SUVM(T, J)=ZERO
315 - CONTINUE
C
DO 319 J=1.MUMP2
DO 317 K=1, MUMT
317 SDEE(K. J)=ZERO
DO 318 K1, MUMC
318 CDEE(K, })=ZERO
319 CONTINVE
C
REWIND MER
DO 320 Is1,NUMM
1Z=1SECT(1)
CALL WRITMT( O,MER, SECTID(I1Z), IFLAG(IZ).

14 ylnew, yZnew, xp, xn, SSIG, SEPS, isid. SDEE,

& CSLP. CSLN, CEKS, CSIG, CEPS, ICID. CDEE.
& MUMT, MUMC. IDIVD(I). MUMP2)
320 CONTINUE
ENDFILE MER
REWIND MER
IF(NSAME. GT. 0) THEN
1S=I1
IST=0
G0 TO 425
END IF

208

OO

IFFRC=1
CBAI=1.0 DO

C
C  REPEAT BOUNDARY CONDITIONS
C

350 CONTINUE
CALL SKPCMT(IR, IW, NREAD, " ¥¥", *500, *590)
MOJI = NREAD(1:1)
IF(M0JI.EQ.MB) GO TO 380
IFFRG=!
IF(MOJI.EQ.ME) GO TO 420
IF(MOJI.EQ.MF) THEN
NS = NS-1
GOTO 580
END IF
IF(MOJI.EQ."X') THEN
IF(NREAD(2:4) .NE." ")
4 READ(NREAD(2:4),*) MAXIT
IF(NREAD(5:7) .NE.* ")
& READ(NREAD(5:7),*) MINIT
IF(NREAD(8:10).NE." °
READ(NREAD(8:10),*) NFL
END IF
GO To 350

(o **+ B e*+ READ BOUNDARY CONDITIONS
[
330 CONTINUE
READ(NREAD. * (1X, 213, 3A1, 3F10.0)")
& 11,12, (RELAT(D), [=1, 3}, (REAL(D). I=1.3)
IF (IFFRG.EQ.1) THEN
DO 355 1=1,NM]
DO 355 J=1.3
IFD(L )3 =0
IFDX(3*(I-1)+]) =0
DF (I, ])=ZERO
DU(T, JY=ZERO
355 CONTINUE
IFFRG=0
ENDIF

INSIND(11)
IFDON. 1)=12/100
IFDUN, 2)=(12-100IFD(JN. 1))/10
IFD(N. 3)=12-100TFDON, 13-10*1FD(IN, 2)
DO 410 J=1.3
IF(IFDUN. J).EQ. 0) THEN
IF(RELAT(J).EQ."A") IFD(JN, J)=-999
DF(JN. J)=REAL(])
IFDX(MIND(3* (JN-D)+J)) = O
ELSE
IF(RELAT(J). Q. "A") THEN
DUCIN, ]) =REAL(]) ~TWV(MIND(3* (JN-1)+]))
ELSE
DUCIN, J)=REAL(])
END IF
IFDX(MIND(3* (JN-1)+])) = IFDUN, )
END IF
410 CONTINGE
€0 10 350

ses [ oavs

o NNl

420 CONTINUE
READ(NREAD, * (1X,313,F10.0)") 11,12, 13, ADMER
IF(NREAD(21:30).EQ. BLNK10) THEN
CBAI = 1.0
ELSE
READ(NREAD, * (20X, F10.0)") CBAI
END IF

IST =0
NUMNS=0)
IS =1
NSAME=12
IF(I3.EQ. 0) THEN
ISK(10)=1
NPR=1
ELSE
ISW(10)=0
NPR=13
END IF
WRITE(6.*) 'END OF READ E-CARD’

(o]

WRITECI¥. * (1H . 132A1)") (-, 1=1,132)

THIS IS THE LABEL FOR CASE OF NSAME>O

sEeReNeRel

sese

425 C 0 NT 1 N UE

oo

DO 430 I=1,NUMJ
DO 430 J=1,3
IF(IFD(I, §).LT.0) THEN
FE(L ) =DF(L.J)
IF(1. ))=0
DF(L.J). =ZERQ
ELSE if(ifd(i,j).eq.0) then
FE(I, J)=FE(L, J)+DF (1, J)*CBAI
END IF
430 CONTINUE
[
NPRMOD=MOD{NUMNS, NPR)
IF(ISW(10).EQ. 1.0R. NPRMOD. EQ.0) THEN
ISK(1)=1
WRITE(I¥, 5100)
ELSE
ISK(1)=0
WRITE(I¥. 5110}
END IF

C
C Ll 2] REPFA e
C
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435 CONTINLE EXD IF

¢ END IF
C e++**» SFPA] YIELDS GLOBAL STIFFAESS MATRIX & C
c INTERNAL FORCE VECTOR **#ssssssssansasavosens ¢ *** Renewal of stress-strain for each element ***
C REWIND MTR
CALL SEPAI( LARCEX, REWIND MTW
& JOINT ,STT .BVT .SIM ,stmpin,BVM REWIND \ER
& ishrid, revga . fkinv , REWIND MEW
& DEAD ,OFSTL , IDIVD , IRIGID,RIGID ,dint} , c
& x.y. XM Y, A Z EE EP, sgy, DO 194 1=1, MMM
& ISECT ,NBAND ,MATS .PMEM IS NSECT = ISECT(I)
& MIND |, REACTK, TUVM ,ORGCS , IZ = SECTID(NSECT)
4 To612 ,T1206 ,T1212 .T12 . TYA .TXZ WP = IDIVD(D)
& TEA ,TEZ .TZZ .BETA 1A 1B ., CALL READMT(MTR, MER, IZ, IFLAG(NSECT),
& MUMM, MUMP, MUMT, MUMS, MUMJ3, MUMPM3, MUMPP3, MUMP2, & yinew, y2new, xp, xn, SSIG, SEPS, isid, SDEE.
& nbeta, cort, alad, sigx. work, & CSLP, CSLN, CEKS, CSIG, CEPS, ICID, CDEE,
& ylnew, y2new, xp, xn, SSIG, SEPS, isid, SDEE, & MIMT, MIMC, MMP, MUMP2)
& CSLP, CSLN, CEKS, CSIG, CEPS, ICID. CDEE, DO 402 J=1, 2%
& idtap, DO 492 K=1, MUMT
& MUMSC, MUMC, SECTID, IFLAG. YILDC, AC. ZC, EC, tst=SEPS(K, ])
& MER MR ) . eyosylnew(k, j)
c s syo=y2new(k, j)
¢ *** check-begin *** call ssrnew( is,ee, ep, ssbri, ssbrk, sgy(I), ssyr,
c CALL checkd( 6, 'BVT (JUST AFTER SEPA1) AT NONPLN', & tst, eyo, syo, sdee(k, j).
c & 0, BVT, 1, MUMI3) & dum, ssig(k. j),seps(k. ), ylnew(k, j), y2new(k. j),
¢ *** check-end *** & xp(k. }),xn(k, j), isid(k, i) )
DO 438 I=1,MUM]3 492 CONTINUE
() =ZERO ¢
438 CONTINGE IF(12.CT.0) THEN
DO 440 I=1, NUMJ IF(IFLAG(NSECT) . EQ. 0) THEN
DO 440 J=1.3 DO 450 J=1, 2*WMP
1J=(1-1)*34+] DO 450 K=}, MUMC
FR(I1J)=FF(1])+FE(L. ) TST=CEPS(K. J)
440 CONTINUE CALL CONC(IS.,
DO 442 1=1.MUMJ3 & EC(1Z,1),EC(1Z.2),EC(1Z. ),
FF (D) =FF (1) -BVT(I) & YILDC(IZ, 1), YILDC(1Z, 2),
442 CONTINUE 4 YILDC(IZ, 3), TST. CDEE(X. ]},
IF(NUMR.NE. 0) THEN & CEKS(K. J). CSIG(K. J), CEPS(X. ).
DO 444 I-1.NOMR & CSLP(K, ]}, CSLN(K, J), ICID(K, ]))
J=\RND(1)*3 450 CONTINUE
FF(J-2)=FF(J-2)-FRND(1. ) C - IFLAG NOT ZERO ~-emmrmmmmeme
FF(J-1)=FF(J-1)-FRND(Z. ) ELSE
FF() )=FF(J )-FRAD(3. 1) DO 451 J=1.MMP
444 CONTINUE TST=CEPS(1. J)
END IF CALL CONC(IS,
¢ & EC(Z, 1 ,EC(1Z,2) EC(1Z.3).
IF(IS.NE.©) GO TO 500 & YILDC(IZ, 1), YILDC(IZ, 2),
IF(IST.EQ.0) GO TO 500 & YILDC(IZ, 3), TST, CDEE(1, ]).
C & CEKS(1. J), CSIG(1, J), CEPS(1. ),
¢ *** Convergency condition *** 1994/6/17 & CSLP(1. J), CSLN(1, J) . ICID(1, ]))
TUVI=ZERO 451 CONTINVE
TSUV=ZERO c
eyo=ZERO if(iflag(nsect).GT.0) then
DO 470 I=1,NUMJ*3 call coefst(dintl, xm, ym, yildc(iz, nyildc),
if(mod(i,3).eq.0) then & i, mop, DU, pump)
tuvi=tuvl+(amxien*uvl(i))**2 end if
tsuv=tsuv+(amxlen®suv(i))**2 c
if(id((i-1)/341,3).EQ.0) IF(IFLAG(NSECT).CE. 2) THEN
& eyo=eyo+ (ff(i)*ff(i)/amx}en) DO 452 J=MVP+], 2%\P-1
else ey0=dint! (j-map)
TUVL=TUV1+UVI (1) *UVI(D]) tst=ceps(l. j}
TSUV=TSUV+SUY (1) *SUV(1) tsg=csig(l, )
1 (ifd((i-1}/3+1,m0d(1,3)).EQ. 0) top3=zero
& eyo=eyo+ff(i)*ff (i) topdnl=zero
end if call hyslip ( is.
470 CONTINLE & yilde(iz, 4)*eyD,
c tuvl=DSQRT (tuvl) & yilde(iz.8), yilde(iz.9).
¢ tsuv=DSQRT (tsuv) & yilde(iz, 5)%ey0,
c eyo =DSQRT (eyo) 13 yilde(iz, 6)*ey0,
TST=TUVI/TS(V & yilde(iz, 7)%ey0,
WRITE(I¥, 5030) TUV1, TSUV, TST. eyo. detext & yildc(iz, 10), yildc(iz, 11). zero,
FRITE( 6.5035) nsame, detext, eyo, TUV], TSUV, TST 4 tst, tsg, cdee(l,j),
detext=" ' & ceks(1. j), csig(l,}), ceps{l.j).
C & cslp(l,§), csin(l,j), icid(l,}))
IF(IST. LE.MINIT) GOTO 500 c
IF(IST.LT. MAXIT. AND. TST. GE. ADMER) GOTO 500 ¢ if(i.eq.l.and. j.eq.mmp+l) then
C c ifticid(l,j).gt.100) then
C A c vrite(6, ' (1h ,a,2i4.19.3,9.4,19.2,4f9.4)")
C **+**» UAS BEEN CONVERGED. c ‘ns .
[ sotrenes c * ns. icid(]. ), csig(l, }).ceps(l, j).
¢ c * ceks(1, j).cslp(l,j), csin(l,)), top3, tmpdnl
IPNUM=IPNUM+1 c endif
C c if(ns.eq.201) then
IF(MOD (IPNUM, IPSKIP).EQ.0 . AND. ¢ stop
IWRT.GT.0 ) THEN c endif
i1aNFL/100 c endif
12=(NFL-100*11)/10 <
IF(iwrt.gt.0) THEN 4352 CONTINUE

CALL ETIRWS(IWRT, ibflag. il,i2, TUV, BVT, FMEM, TUVM,
& MIND. NS, [DIVD, MUM]J , MUMM. MUMP)

ELSE IF(IFLAG(NSECT).EQ. 1) THEN
DO 453 J=MMP+1. 2*WMP-1
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ey(=dint!(j-zmp)
CEPS(1, J)=CEPS(1, JY+CDEE(L. )

CSIGUL, jY=CSICU1, ) +eyO*YILDC(1Z, 4) *CDEE(1. ]}

453 CONTINVE
END IF
END IF
END IF
CALL WRITMT(MT¥, MEW, IZ, IFLAG(NSECD),

& ylnew, yZnew, xp, xn., SSIG, SEPS. isid. SDEE,
& CSLP. CSLN. CEKS, CSIG, CEPS, ICID, CDEE,
& MUMT, MUMC, MMP, MUMP2)
c
IF(MOD(IPNUM. IPSKIP).EQ. 0 . AND.
& MOD(NFL, 10).NE. 0 .AND. IWRT.GT.0) THEN
CALL ETIRWX(IWRT. ibflag. I, IZ. IFLAG(NSECT).
& SSIG, SEPS, CSIG, CEPS,
& MUMT, MUMC, MMP)
END IF
c
494 CONTINUE
C
ENDFILE MEW
ENDFILE MTW
REWIND MTR
REWIND MTW
REWIND MER
REWIND MEW
CALL ISWAP(MIW,MTR)
CALL ISWAP (MEW, MER)
IF(MOD(IPNUM, IPSKIP).EQ. 0) THEN
c *** sdee, cdee @ dummy ***
CALL ETIRW(
& IW, TITLE, ISW, NUMJ . NUMM, FFT, FE, BVT,
& UV1, SUV, TUV, SUVM, TUVM, UVM, FMEM,
& sigx,beta, nbeta,
& SSIG. SEPS, isid, sdee, cdee,
14 CSIG. CEPS, ICID,
& ISECT, IDIVD, SECTID, IFLAG,
& JOINT. NS, INV, MIND, MUMM., MUMJ, MUMT, MUMC,
& MIMJ3, MUMPP3, MUMP2, MUMP, MUMS, MTR )
END IF
C
NSAVE=NSAME- 1
NUMNS=NUMNS+1

C --~<FOR UNIX_CALL ONLY>-c-cmcmmmeeeeee
ctimel = etime(tm)
IF(TIME. GT. ZERO. AND. ctimel. GT. TIME)
& GOTO 580
C --~<FOR FACOM_CALL ONLY>-—-cocmcmmee o

c CALL CLOCK (IRET2)
c IF(TIME. GT. ZERO. AND. DBLE (IRET2) . GT. TIME)
c & GOTO 580
C ~=~cFOR IBM_CALL ONMLY>-rmmmmmmmmmmeeee
c CALL CPUTIME(CTIME2. IRET2)
C IF(TIME. GT. ZERO. AND. IRET1. NE. 8. AND.
C & IRET2.EQ.0) THEN
C IF(CTIME2. CE. (CTIMEL+TIME)) GOTO 580
C END IF
C
G0 TO 290
C
C
c (L1 HAS No'r BEN CONVERGED Y'E'r. LITZ I EL LT 2L 12T 1]
C
c

500 CONTINVE

e}

IF(NUMR. GT. 0) THEN
DO 502 I=1, NMR
MJO=(NRND(D)-1)*3
DO 880 K=1,3
] = MIND(MJO4K)
CALL TOUCH(ARND(K, ), TUV(J).

& OFSTG(2*K-1, 1), OFSTG(2*K, 1), R1.R2)
SIT(J.1) = STT(J.1) + Rl
880 CONTINUE
502 CONTINUE
END IF
C
DO 503 I=1,MUMJ3
FFT(I)=ZERO
503  CONTINUE

C sonee check-begin sadssen

C
c & 0,FFT, 1. MATS )
c CALL checkd( 6, FF (JUST AFTER 0) BEFORE IBOUN AT NONPLN',
c & 0.FF , 1. MUMJ3 )
C #*%¢s check-end **oesee
DO 505 J=1,MUM]3
1]=MINK(D)

FFT(1J3=FFT(1])+FF (]}
305 CONTINLE
SESES Check-begin SEAEIEE
CALL checki ( 6, IFDX BEFORE IBOUN AT NONPLA',
& 0, IFDX. 1.MATS)

CALL checkd( 6, 'FFT (JUST AFTER 0) BEFORE IBOUN AT NONPLN'.

]

BN W T o I o B e}

CALL checkd( 6, 'FFT BEFORE 1BOUN AT NONPLN',
0, FFT. LMATS )

ssses check-end *Petee*

CALL IBOUNGIS, FFT. DU, IFDX. NUMJ, MIND.

¢

&

&

0O N o o060 on

MUMJ, MUM] 3. CBAL. MATS)

il il Check-begin 2505488

CALL checkd( 6. "STT BEFORE SSOLV AT NONPLN'.
0. STT, MUMJ 3, NBAND)

CALL checkd( 6, 'FFT AFTER IBOUN AT NONPLN',
0, FFT, 1,MATS )

sek0s chock-end *oetese

CALL SSOLV(IW,MATS, NBAND. FFT. STT, V1. IFDX.

&

&
&
&

OO0 0 AN On

DET, MUMJ 3)

ssees check-begin cseene

CALL checkd( 6, 'STT AFTER SSOLV AT NONPLN',
0, STT. MUM] 3, NBAND)

CALL checkd( 6, "FFT AFTER SSOLV AT NONPLN',
0.FFT, 1.MATS )

CALL checkd( 6, "UV1 AFTER SSOLV AT NONPLN',
0,Uv1, 1. MATS )

#5088 chack.end ***eer

vrite(detext,’ (1p.el2.4)") det

Ae6a

*** Calculation of each element strain for next step ***

REWIND MER
REWIND MEW

Do

Ro Qo e

890
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562 I=1, NUMM

NSECT=ISECT(I)

[1Z=SECTID(NSECT)

WP = IDIVD(I)

CALL READMT( 0 . MER. IZ, IFLAG(NSECT),
yinew, yZnew, xp. xn, SSIG, SEPS, isid, SDEE,
CSLP, CSLN, CEKS, CSIG, CEPS, ICID, CDEE,
MUMT, MUMC, MWMP, MUMP2)

D0 510 J=1.3*(\MP-1)
UVM(I, J+3)=BVM(L, J)
CONTINUE
IF(IFLAG (NSECT). GT.0) THEN
DO 511 J=1,MdP-1
UVMUT, 3% (MMP+1)+] 3 =BVM(T, 3¢ (MMP-1)+])
CONTIME
END IF

[F(chrg(IRIGID(I. 1}, 1). or.chrg(IRICID(1.2). 1) ) THEN
CALL TRANRG(LARCEX, RIGID(I, 1), RIGID(I, 2),
ORCCS(I.1).0RCCS(1, 2),

TUV(MIND(3*JOINT(L, 1)), TUV(MIND(3*JOINT(I, 2))),

REALX)
DO 890 K=1.2
Wo = 3*(JOINT(1.K)}-1)
M1 = 3* (-1
REAL (Mj1+1) =LV (MIND(M]0+1)) +
REALX(2*k-1) *UV1 (MIND(MJ0+3))
REAL (M]J1+2) =UV1 (MIND(MJ04+2)) +
REALX(2*k ) *UVI(HIND(MJU+3))
REAL(M]J1+3)=UV1 (MIND(M]04+3))
CONTINCE
ELSE
DO 900 K=1,2
W0 = 3*(JOINT(I.K)-1)
M1 = 3*(K-1)
Do 900 J=1.3
REAL(MJ1+])=UV1 (MIND(M]O+]))
CONTINUE
END IF

pin-related procedure ---—-

call pinprc(nl,nnl.n2.nn2,
chrg(irigid(i, 1), 2),
chrg(irigid(i,2).2))

MJ1=3*(\WP+1)
M0=3* WP-1)
DO 520 J=1,MJO
DO 520 kk=1,nl
k=nn} (kk)



UVM(T, J43) =UVMCT, J+3)+STMUT, ], K) *REAL (K)
520 CONTIME
[F(IFLAG(NSECT).GT.0) THEN
DO 521 J=1,MMP-1
DO 521 kk=1,nl
k=nnl (kk)
UVM(T, MJ1+]) <UVM(T, MJ 1400 +
& STM(T, MJ0+]. K) *REAL(K)
521 CONTINUE
END IF

--- pin-related procedure ------
--- Dp=-{Kpp]Kp1(D1)-[Kpp)Kp2(D2) - [Kpp] inFp ---
=-skpl (D1) -skp2(D2) -fp
do ks=1,n2
xxx=-stopin(i, n1*n2+k)
do jel,nl
xxx=xxx-stopin(i.k+n2*(j-1)) *real (nnl (j))
enddo
do j=1,0j0
xxx=xxx-sto (i, j, nn2(k)) *uvm(i, j+3)
enddo
if(iflag(nsect).gt.0) then
do j=1, mp-1
xxx=xxx-stn(i,0j0+j, nn2(k)) *uvm (i, mji+j)
enddo
endif
real (nn2(k) ) =xxx
enddo

on 6o

DO 530 J=1.3
UVM(1. ] )=REAL(])
UVM(T, J+3*MMP) =REAL (J +3)
530 CONTINUE
DO 535 JJ=1,M]1
UVDEP(}J)=UW(L. J )
535 CONTINUE
IF(TFLAG(NSECT). CT.0) THEN
DO 536 JJ=1, MMP-1
UXDEP(]]) <UVM(1. MJ1+]])

536 CONTINVE
END IF
¢
DO 540 K=1, MUMT
IM(K) =Z (NSECT. K)
540 CONTINUE
IF(1Z.GT. 0. AND. IFLAG(NSECT).EQ. 0) THEN
MMCT=MUMC
DO 541 K=1.MUMC
DUKMIMT) =ZC(IZ,K)
541 CONTINUE
ELSE
MMCT=0
END IF
¢
kO=ishrid(i)
DO 550 J=1,\MP
CALL DEPS(MMCT, J, XM(LJ), XM(I, J4+1),
& YM(I, J), YM(L, J+1), DEI, DEJ,
& M, IVDEP, k0, fkinv(1, j, kO), MUMT)
DO 542 K=1, MUMT
SDEE(K, 2°J-1) =SDEE(K. 2*J-1) +DEI (K}
SDEE(K,2°J )=SDEE(K.2*J )+DEJ(K)
542 CONTINUE ‘
IF(WMCT. NE. 0) THEN
DO 543 K=1, MUWC
CDEE(K, 2*J-1) =CDEE (K, 2*]-1) -DEI (K+MUMT)
CDEE(K.2°] )=CDEE(K, 2*J }-DEJ (K+MUMT)
543 CONTINUE
END IF
550 CONTINVE
¢ .
IF((IZ.GT.0). AND. (IFLAG(NSECT).NE.0)) THEN
IF(IFLAG(NSECT).LT.0) THEN
DO 551 J=1, MWP
CALL TRANSC(LARGEX, 0.0,
4 ORGCS(I, 1), 0RGCS(T, 2),
& TUVM(T, 3*]), TUVM(T, 3*(J+1)),
4 ZERO. ZERO,
4 XM(L 1), XML J+ 1),
4 YH(L J), YN(T, J+1),2CC1Z, 1),
& TT.XYL)
EYO0-ZERO
DO 910 K«1,3
EY0=EYO+TT (2. K+3) *UVDEP (3*]+K)
& -TT(1.K ) *UVDEP(3°]+K-3)
910 CONTINLE
CDEE(1, J)=CDEE(1, J)-EYO/XYL
551 CONTINUE

ELSE

C *sssossane CAST O [FLAGS() ¥eessssssssesens

C

Er..

===¢ CONCRETE : J=1,MMP >===
DO j=1.omp
i().EQ. 1) then
ils0
i2=]
eyo=ZERO
syo=CEPS(1, MMP+])
else if(j.LT.omp) then
ilal
i2=1
eyo=CEPS (1. MMP+]-1)
syo=CEPS(1, M{P+J)
else
il=1
12<0
eyo=CEPS (1, MMP+]-1)
syo=ZERO
end if
CALL TRANSC(LARGEX, i1, i2,0RGCS(I. 1), ORGCS(I.2).
TUVM(I. 3*]). TUWM(I, 3*(J+1)). eyo. syo,

4 XMCL, ), MU, J+1) YMCLL 1) YMCLL J+ 1),
& IC(1Z. 1, TT.XYL)

i{(j.EQ.1) then
EYO=TT(2.4) *UXDEP(])
DO 920 K=1,3
EYO=EYO+TT(2. K+4) *UVDEP (3*J+K) -

& TT(1.K )*UVDEP(3*]+K-3)

920

CONTINUE
else if(j.LT.mmp) then
EY0=TT(2, 5) *UXDEP(])-TT(1, 1) *UXDEP(J-1)
DO 930 K=1,3
EYO=EY0+TT(2, K+5) *UVDEP (3%] +K) -

& TT(1, K+1)*UVDEP(3*J+K-3)

930

CONTINCE
else
EY0=-TT(1, 1) *UXDEP(}-1)
DO 940 K=1,3
EYO=EYO+TT (2, K+4) *UVDEP(3*]+K) -

4 TT(1. K+ 1) *UVDEP(3*] +K-3)

940

e Ke)

700

o

C *es

560

CONTINUE
end if
CDEE(1, J)=CDEE(1, J) -EYO/XYL
end do

===< SHEAR CONNECTOR : J=1,MMP-1>=== (corrected on 1997/1/12)

DO 700 J=1, MMP-1
CDEE(1, MMP+])=CDEE(1, MMP+]) + uxdep(j)
CONTINUE

END IF
END IF

RENEW X-Y CORDINATES ***
if(LARGE.EQ. 1) then
DO 560 J=1,MMP+1
XMCT, ) =XM(T, J) +UWM(T, 3*]-2)
YMCL, JY=YM(I, J) +UVM(I, 3*]-1)
CONTINUE
end if

CALL WRITMT( O , MEW. IZ, IFLAG(NSECT),

& ylnew, yZnew, xp. xn. SSIG, SEPS, isid, SDEE,

&
&
562
[

e Nl

570
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CSLP, CSLN, CEKS, CSIG, CEPS, ICID. CDEE.
MUMT, MUMC, MMP, MUMP2)
CONTINLE

ENDFILE MEW
CALL ISWAP(MEW. MER)

IF(NMR. CT. 0) THEN
DO 564 I=1,NDMR
MJO=(NRNDT) -1)*3
DO 960 K=1.3
J = MIND(MJO+K)
CALL TOUCH(ARND(K. I}, TWV(])+V1(]),
OFSTG(2*K-1,1),0FSTG(2*K, I}, R,
FRADKK. 1) )
CONTINMGE
WRITE(I¥, 51200 NRND(I).
FRND(1, I}, FRND(2. 1), FR\D(3. )
CONTINUE
END IF

DO 570 1J=1,VATS
TUV D =TWV (1)) +LVI(1))
SUVI))=SLV(1]) +UVI(1])
CONTINUE



576

577

575

C
C
c

DO 575 I=1, NtM¥
WMP=1DIVD(I}
Mj1=3*(MMP+1)
MJO=3* (MMP-1)
DO 576 J=1.M]1
TUVM(L, 1) =TUW(T, ) AWCLL )
SUVM(I, J)=SUVM(I, J)+tVM(L, )
CONTINUE
IF(IFLAG(ISECT(1)).GT.0) THEN
DO 577 J=MJ1+1,M]1+4WMP-1
TUVMCL, J) =TUVM(I, ) +UVM(T, §)
SUVM(T, J)=SUVM(L, J)+UWM(I. ])
CONTINUE
END IF
CONTINVE
IST=1ST+1
18=0
G0 TO 435

+++ END OF JOB ***

580 CONTINUE

IF(MT2.GT.0) THEN
REWIND MIR
REWIND MT2
WRITE(MT2) MUMM, MUM], MUMP, MUMT, MUMR, MUMS,

14 NBAND, MUMSC, MUMC, nbeta, mshr
WRITE(MI2) NUMR. NUMJ, NUMM, NBAND, NS, EE, EP,
& ssyr, ssbri, ssbrk,
¢ MAXIT, MINIT, MATS, NFL
DO 581 D=1, MUMM
WRITE(MT2) ISECT(I). IDIVD(I). sgy(D),
& ishrid(i),
& (JOINT(1, K}, ORGCS(1. K, REACTK (1, K),
& IRIGID(I, K) ,RICID(I,K) . K=1,2)
WP = IDIVD(D)
if(ishrid(i).gt.0) then
kl=ishrid(i)
write(nt2) revga(kl),
& ((fkinv(j.k0, k1), j=1,36),%0=1, nmp)
endif
WRITE(MT2) (DEAD(I, J),]J=1.2¢(MMP-1))
FRITE(MT2) (OFSTL(L,J),J=1,4*(\MMP-1))
WRITE(MT2) (XM(I.]).YM(1.1).J=1.MMP+1)
WRITE(MT2) (TUVM(L. ]), J=1, 3* (MMP+1) +MMP-1)
581 CONTINUE
DO 582 Is1, MUMJ
WRITE(MT2) X(I),Y(D).
& FE(L 1), FE(LL 2), FE(1,'3), INV(D)
582 CONTINUE
DO 583 I=1,MUMJ3
FRITE(MT2) TUV(D), MIND(D)
583 CONTINUE
C
do k=1, nbeta
WRITE(MT2) (beta(j.k).j=!, nump)
WRITE(MT2) (csk(j.k). j=<l.2*nfrier*zump)
FRITE(MT2) (cort(j.k).j=!.punp*zump)
WRITE(MT2) (xxpos(j, k), j=1, oump)
enddo
c
DO 584 I=1,MMS ‘
1Z-SECTID(I) !
WRITE(MT2) YILDS(D), IZ. IFLAG(I
WRITE(MT2) (ACL, J),Z(1. )Y, J=1. MUMT)
IF(1Z.GT.0) THEN
WRITE(MT2) (EC(IZ, ]),J<1,3)
FRITE(MT2) (YILDC(IZ.)), J=1.nyildc)
FRITE(MT2) (AC(IZ.]).ZC(IZ,]), J=1,MUMC)
END IF
584 CONTINUE
C
WRITEMT2) (ISW(I),I=1,10)
WRITE(MI2) IND
IF(MMR.GT. 0) THEN
DO 720 j=1,MUMR
WRITE(MT2) NRND(]).
& FRND(1, ]) FRND(2. ]) ,FRND(3. ]},
& ARND(1, J), ARND(2, ), ARND(3, ])
WRITE(MT2) (OFSTG(K. J).K=1.6)
720 CONTINUE
END IF
C
DO 600 I=1, MUMM
1Z=ISECT(I)
WP = IDIVD(I)
CALL READMT(MTR, 0, SECTID(1Z), IFLAG(IZ),
& ylnew, yZnew, xp. xn, SSIG, SEPS, isid, SDEE,
& CSLP, CSLN, CEKS, CSIG, CEPS., ICID, CDEE,

& MOMT, MIMC, WMP. MUMP2)
CALL WRITMX(MT2, SECTID(IZ), IFLAG(ID),
& ylnew, y2new, xp. xn, SSIG, SEPS. isid.
& CSLP, CSLN. CEKS, CSIC, CEPS. ICID.
& MUMT, MIMC. MMP, MUMP2)
600 CONTINUE
ENDFILE MT2
END IF
C  *** END OF MT2>0 ***
C
500 CONTIME
RETURN
END
/* ./ ADD, NAME=passl.f, <%=48/6%> <DATE=Dec/16 TIME=18:49 SIZE=3534> */
c
c
c./ ADD LIST=ALL, NAME=passl. f
c passl
subroutine passl{ IR, IW, MUMM, MUM], mshr. nbeta,
& iwk, MUMR, MUMS, MBAND, MUMSC)
c
dimension  iwk(1)

C
c o
10

15

leReNe

90

oo Ne]

110

200

e Xa R el

120

COMMON/DUM/ MIND(999), IND(999)

character moj i, nread*80, nrec (80}, BLNK*10
character sectno*3

equivalence (nread,nrec(1)}, (moji,nrec{l))
equivalence (sectno, nread(2:4))

DATA BLNK /' Y/

MUMR =0
MUMS =0
MUMJ =0
MUMM =0
MUMSC=0
MBAND=0
wshr =0
nbeta=0

* REPEAT sos

CONTINUE
CALL SKPCMT(IR.6,nread.’ ¥¥',*9999, *1111)
CONTINUE
IF(oji.EQ."K
IF(moji.EQ."T'
IF(moji.EQ."H’
IF(moji.EQ." I
IF(moji.EQ. 'O
[F(moji.EQ.'R’
IF(moji.EQ."'C’
IF(woji.EQ."Z’
IF{moji.EQ."U
IF(moji.EQ." ]
[F(moji.EQ."Q
[F(moji.EQ.'W
[F(moji.EQ.'F
G0 TO 10

8888888888888
3333333333333

ses K ses

CONTINUE
MUMR=MUMR+ 1
G0 T0 10

**T,H.IT.R.0.Z8&U (USER DEF) ***

CONTINUE

read(sectno, *) il

if (il gt. mums) mums=il
iwk(il)= 0

if(nrec(10).eq.” ') goto 10
ivk(il)= 1

CALL SKPCMT(IR,6,nread, " ¥¥',*9999, *1111)

D0 200 WHILE(nread(1:10).EQ. BLNK)
CALL SKPCMT(IR. 6, nread, ' ¥¥',*9999, *}111)
CONTINUE

MUMSC=MUMSC+1

G0 T0 15

L2 1] J "

CONTINUE
READ(nread, ' (1X,13)") I
MUMJ =MUM] +1
1F(MUMJ. GT. 333) THEN
WRITE( 6, %)

& "ERROR ... NUMBER OF POINTS GT 333
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WRITE(IW, *)
& "ERROR ... NUMBER OF POINTS GT 333°
STOP
END IF
NNJ =3*MUMJ-2
MINDONN]  )=NN]
MIND{NNJ+1)=NNJ+1
MIND{NNJ+2)=NNJ+2
IND(T1)=MUM]
G0 TO 10

C *** Q (EQUIVALENCE)***
C

130 CONTINUE
READ(nread. ' (1X,313)") 11,12,13
call neqval(il.i2,i3.
& wuntj, ind, mind, mats, *10 )
GO T0 10

se i *2% nread(61-70) : Shear compliance (k/GA)
il=nl i2=n2 {3=sect®

N sYeKe]

150 CONTINUE
READ(nread, " (1X,313)") 11,12,13
if(iwk(i3).eq.1) nbeta=nbetas+l
¢ *** check-begin ***
c write(6,*) (M) i1,i2,i3 : ".il,i2,i3
c *** check-end ***
MUMM=MUMM+1
H=IND(ID)
12=IND(12)
KO=I1*3
K12K0-1
K2sK1-1
MI1=MIND(K2)
MI2-MIND(K1)
MI3-MIND(KO)
K0=12*3
K1=K0-1
K2=KI-1
MJ1=MIND(K2)
MJ2=MIND(K1)
MJ3=MIND(KO)

C
MIA=MINO(MI1,MI2, MI3. MJ1.MJ2. M]3)
MIB=MAXO(MI1, MI2, MI3, MJ1,MJ2,M]3)
C
NB=MIB-MIA+1
VBAND=MAXO (MBAND, NB}
c
if(nread(61:70).ne.bink) then
ashrsmshr+l
endif
[
CALL SKPCMT(IR, 6, nread, "¥¥', *9099, *1111)
DO 300 WHILE(nread(1:1).EQ." ")
CALL SKPCMT(IR,6.nread, "¥¥',*9999, *1111)
300 CONTINUE
G0 T0 15
C

C  END OF CARD READ
C
9999 CONTINUE

REWIND IR
READ(IR. *)
c
RETURN
¢
c

1111 CONTINUE ’
WRITE(6,*) *... READ ERROR FOUND ..."
SToP
END

/* ./ ADD, NAME=pinjnt.f, <#=49/69> <DATE=Dec/15 TIME=08:39 SIZE=5185> */
¢

c
c./ ADD LIST=ALL, NAME=pinjnt. {

c pinjnt
¢ === Renewal made on 1996/7/16 =x=
c
subroutine pinjnt (t0606, t06, mx,
& nl.nnl, n2,nn2,
& t12,t0612, t1206, t1212, ounx)
c

implicit  REAL*8(a-h,o0-2)

divension nnl(*),nn2(*)

dimension t0606(6,6),t06(6), t12 (mumx)

divension t0612(6, mumx), t1206(munx, 6), t1212 (oumx *mumx)
c *** idl :@ left end pin-connected.

**¢ 1d2 : right end pin-connected.

exF1=K11*D1+K1p*Dp+K12*D2+inF1 99
exPp=Kpl*D1+Kpp*Dp+Kp2*D2+inFp=0 (2) -pin-
exF2=K21*D1+K2p*Dp+K22*D2+inF2 (3}

From (20 : [] = invert

Dp=-[Kpp]* iKp}*D}+Kp2*D2+inFp!

exFl= iK11-K1p®* [Kpp] *Kpli *D1+ iK12-K1p* [Kpp] *Kp2! *D2+ linF1-K1p*[Kpp] *inFp!
exF2= {K21-K2p* [Kpp] *Kp!: *D1+ IK22-K2p* [Kpp] *Kp2! *D2+ |inF2-K2p* [Kpp)*inFp!

K11'=K11-Klp*[Kpp)*Kpl inF1’ =inF1-K1p*[Kpp] *inFp
K12* =K12-K1p*(Kpp)*Kp2 inF2" =inF2-K2p* [Kpp]*inFp
K21' =K21-K2p*[Kpp] *Kp!
K22' =K22-K2p* [Kpp] *Kp2

<Qutput>

t0606 (nn2(*), nnl(*)) : skpl

t06(nn2(*)) : fp

t1206(*, nn2(*)) : skp2(T)=stm{mesbr,nn2(i),*)

La B T T o T T o T N T e Y e B e S e T o S o S s W o S o WY o T = B s S o T 2

dimension iv1(2), iw2(2)
dimension skpp(2*2), skip(4*2), skpl(2*4), fp(2)

data zero/0. 0d0/
c
c
¢ -—- skpp @ [Kpp]
do i=1,n2
do j=1,n2

m=i+n2*(j-1)
skpp (o) =t0606 (nn2(i}, nn2(j))
end do
end do
¢ *** check-begin ***
call checkd(6, *===<skpp : Orginal>===', 0, skpp.n2.n2)
check-end ***
call minve(skpp,n2,det, iwl, iw2)
*** check-begin ***
call checkd(6, ===<skpp : Invert >==="0, skpp,nZ,n2)
**+ check-end ***
--- sklp : Klp*{Kpp]
do i=1.nl]
do j=1.n2
a=zero
do k=1,n2
2=a+10606 (nn1 (i), nn2(k) ) *skpp (k+n2* (j-1))
end do
sklp(i+ni®*(j-1))=a
end do
end do

oo
-
s
4

N6 o0n

¢ --~ skpl : [Kpp]*Kpl
do i=1,n2
do j=l.nl
a=zero
do k=1.n2
a=a+skpp(i+n2*(k-1))*t0606(nn2(k), nnl(j))
end do
skpl(1+n2*(j-1})=a
end do
end do

¢ -— KI1" : K11-K1p*(Kpp]*Kpl=K11-sklp®Kpl ----mmmmmmmemmmeen
do i=1l.nl
do j=l.nl
a=t0606 (nnl (i}, nnl (3 })
do k=1,n2
a=a-sklp(i+nl*(k-1))*t0606(nn2(k},nnl (j))
end do
t0606(nn1 (i), nnl(j))=a
end do
end do

¢ -—- inF1" @ inF1-Klp*(Kpp] *inFp=inFl-sklp*inFp ~~-=ecmmmmmmmev
do i=1,nl
a=t06(nnl (i))
do k=1,n2
a=a-skip(i+nl®*(k-1))*t06(nn2(k))
end do
t06{nn1{i))=a
end do

c
¢ --- Define fp() : [Kpp]*inFp ------
do i=1.n2
fpli)=zero
do j=l,n2
fp(1)=fp(i)+skpp(i+n2*(j-1))*t06(nn2(;))
end do
end do
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c ¢ *** idl : left end pin-connected.

¢ -—- Memorize t0606(nn2(*), nnl1(*} & t06(nn2(*}) ———~—- ¢ *** id2 : right end pin-connected.
[ as skpl & fp S
do i=1,n2 [
do j=1.nl indx=0
10606 (nn2(i), nnl (j)) =skpl (i+n2*(j-1)) 1f(idl) indx=indx+10
end do if(id2} indx=indx+ 1
t06(nn2(i))=fp(i) c
end do if(indx.eq. 11} then
c nl=4
¢ *** check-begin *** nnl(1)=1
¢ call checkd(6, ' ===<t0606 : Converted>===',0, t0606, 6,6) nnl (2)=2
c call checkd(6, '===<t06 : Converted>===',0,t06, 1,6) nnl (3)=4
¢ stop nnl(4)=5
c *** check-end *** n2=2
c nn2(1)=3
if(mx. le.0) return nn2(2)=6
[ else if(indx.eq.10) then
c nl=5
¢ —— K12' : K12-K1p*[Kpp] *Kp2=K12-sk1p®Kp2 ------—ooaeeecemenn anl(1)=1
do i=1,nl nn1(2)s2
do jsl.mx nnl(3)=4
a=t0612(nnl (i), j) nnl(4)=5
do k=1,n2 nnl(5)=6
a=a-sklp(i+nl*(k-1))*t0612(nn2(k), j) n2=1
end do nn2(1)=3
10612(nnl (i), j)=a else if(indx.eq. 1) then
end do nl=5
end do nnl(1)=1
c nnl(2)=2
¢ ——- K21" : K21-K2p*{Kpp] *Kpl =K21-K2p®*skp]l ~=cmcmmmmmmmmemeee nnl(3)=3
do i=1,mx nnl (4)=4
do j=i,nl nnl(5)=5
a=t1206(i,nnl(})) n2=1
do k=1,n2 nn2(1)=6
a=a-t1206(i, nn2 (k) ) *skpl (k+n2*(j-1)) else
end do nl=6
t1206(i, anl(j))=a n2=0
end do do i=1.nl
end do nnl(i)=i
c enddo
¢ --- K22' : K22-K2p*(Kpp] *Kp2 endif
do i=1,mx ¢
do j=1,mx return
a=t1212(i+mx*(j-1)) end
do k=1,n2 /* ./ ADD, NAME-rdata.f, <#=51/69> <DATE=Dec/15 TIME=08:39 SIZE=2426> */
temp=zero [4
do 1=1,n2 [
temp=teup+t1206 (i, nn2(1) ) *skpp(1+n2*(k-1)) C./ ADD LIST=ALL, NAME=rdata. {
end do C === 1893/10/18 modified
a=a-temp*t0612(nn2(k), j) C === 1996/7/20 modified
end do C* RDATA
t1212(i+mx*(j-1))=a SUBROUTINE RDATA(IW,MOJI.II,H, B, A,Z, Z0, MUMS, MUMT)
end do C
end do IMPLICIT REAL*8(A-H.0-2)
c DIMENSION A(MUMS, MUMT) , Z (MUMS, MUMT)
¢ - inF2' : inF2-K2p*(Kppl®*inFp = inF2-K2p*fp -——ouoemmeemeeen - CHARACTER MOJI . MO . MR . MC
do i=1,ox DATA MO MR .MC / 0", 'R, 'C" /
a=t12(i) data PAI/3.1415926535900/
do j=1,n2 c
a=a-t1206(i.nn2(})) *fp(j) AAF (x) =x-0. 5DO*DSIN(2. 0DO*x)
end do GCF (x)={2.000/3. 0D0) *DSIN(x} **3
t12(i)=a [
end do c
c 5000 FORMAT(IH . 15x, 1P, 3E13.4)
¢ --- Memorize t1206(* nn2(*)) as skp2 ~----—--meuue 5010 FORMAT(1H . 'ERROR AT MOJI DATA R")
do i=},n2 6000 FORMAT(1HO, 15x,
do j=1,mx & * UNIT-AREA Z-COORDINATE")
a=zero . 6010 FORMAT(1HO, I5x,
do k=1,n2 ‘ & ' AREA S I
a=asskpp(i+n2*(k-1))*t0612(nn2(k). j)
enddo IF(MOJI.EQ.MO) GO TO 300
£1206(j, nn2(i))=a IF(MOJI.EQMR) GO TO 400
end do IF(MOJI.EQ.MC) GO TO 450
end do ¢
c WRITE (IW, 5010)
return ¢
c RETURN
end C
/* ./ ADD. NAME=pinpre.f, <#=50/69> <DATE=Dec/15 TIME=08:39 SIZE=1068> */ C son () »»e
c 300 HH=H/DBLE(MUMT) *B
c DO 320 I=1,MUMT
c./ ADD LIST=ALL, NAME=pinprc. f 320 A(IL D=HH
c pinprc HH=H/DBLE (2*MUMT)
¢ === Renewal made on 1996/7/16 === DO 340 I=I, MUMT
c 340 Z(IL, I)=HH*DBLE (MUMT+1-2*1)
subroutine pinprc(nl,nnl,n2,nn2, idl, id2) GO TO 800
¢ c
dimension nnl(*),nn2(*) C *** PIPE *** H:OUTER DIAMETER B:THICHNESS <<H
logical idl, id2 400 CONTINUE
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D=H ¢ 6000 EQF DETECTED
T=B [
I'TH=PAL/DBLE (MUVWT) C (TC}  TO BE COMPARED WITH MMP
LA=T*(D-T)*U'TH C (RT1: NEXT COMMAND RETURNED TO AREAD
DO 410 I=1,MUMT ¢ (RT2} NEXT LINE RETRUNED TO NREAD
TH=PAL/2. -UTH*. 5-(1-1)*l'H ¢ (RTY  DATA RETURNED TO BETA(*.*)
Z(I1. 1)=(D-T)/2. *DSIN(TH) C IF ID<0. THEN PROCEDURE BEGINS WITH NREAD.
AULD = (A C OTHERWISE BEGINS WITH READING NEXT LINE
410 CONTINUE C
GO TO 800 CHARACTER  TEXT*80, TXT(8)*10, BLNK*10
[ EQUIVALENCE (TEXT.TXT)
C *** MARU *** H:DIAMETER, B:OVAL-RATIO DATA BLNK /* */
450 CONTINUE c
R=0.5°H NC=0
IF(B.LE. 0.0D0) THEN 1CODE=0
T=1.000 IF(IR.LE.O .OR. ID.EQ.0 .0R.
ELSE & TABS(ID).GT.3 .OR. IMSC.GT.MUMSC) GOTO 999
T=B C
ENDIF IF(ID.LT.() THEN
TH = PAI/DBLE(MUMT) TEXT=BLNK//NREAD(11:80)
IX = MUMT/2 ELSE
UA=0. 0DO CALL SKPCMT(IR. I¥, TEXT, ' ¥¥", #0998, *999)
D =0.0D0 END IF
DO 460 Is1,IX IF(IABS(ID).EQ.3) GOTO 100
UAL=AAF(1*TH) C
D1 =GCF(I*TH) Co=22¢ ID = +/- 2 OR 3 >e==
ACLL I)=T*R*R*(UAL-UA) DO 200 WHILE(TXT(1).EQ. BLNK)
Z(I1, D =R*(D1-D)/(LAL-LA) DO 10 12,8
UA=UAL [F(TXT(I).NE. BLAK) THEN
D D] NC=NC+1
460  CONTINUE IF(NC. GT. MUMP) GOTO 2000
C READ(TXT(I), ' (F10.0)", ERR=999)
1f (MOD(MUMT, 2).EQ. 1) THEN & BETA(IMSC, JMLT*NC+JBASE)
ACTL, TX+1) =T*R*R* (AAF (DBLE(IX+1) *TH) -UA) END IF
Z(I1, 1X+1)=0.0D0 10 CONTINUE
ENDIF IF(NC. CE. MUMP) GOTO 1000
c CALL SKPCMT(IR, IW, TEXT, " ¥¥", *9999, *999)
DO 470 I-=1.IX 200 CONTINUE
AL MMT+1-1)= AL D) GOTO 3000
Z(IT MMT+1-1)=-Z(11, D 9
470 CONTINUE C ===¢ [D = +/-3 >===
[ 100 CONTINUE
800 CONTINUE DO 300 WHILE(TXT(1).EQ.BLNK)
AAA=Q. 0DO CALL SKPCMT (IR, W, TEXT, " ¥¥', *9999, *909)
AAZ=0. 0DO 300 CONTIME
AZZ=0.000 GOTO 3000
WRITE(I¥, 6000) C
DO 900 I=1.MUMT C *** EXACT AMOUNT *=*
Z(11, D=Z(11,1)+20 1000 CONTINUE
WRITE(I¥,5000) ACII,D),Z(I1. D) RETURN
AM=AMACTL D) o
MZ=AZHAIL D*Z(1L 1) € *o% NOMUNMP sooennse
AZZ=AZZ+AIL D *Z(IL D*Z(IL 1) 2000 CONTINUE
900 CONTINUE IF(IABS(IDY.EQ.2) THEN
FRITE(IW, 6010) CALL SKPCMT(IR. IW, TEXT. "¥¥". #1000, *999)
FRITE(IW, 5000) AAA, AAZ, AZZ DO 400 WHILE(TXT(1).EQ.BLNK)
RETURN CALL SKPCMT (IR, IW, TEXT, " ¥¥', *1000, *999)
END 400 CONTINUE
/* ./ ADD, NAME=rdbeta.f, <£=52/69> <DATE=Dec/15 TIME=08:39 SIZE=3174> */ END IF
c NREAD=TEXT
o ICODE=1
C./ ADD LIST=ALL, NAME=rdbeta. f RETURN
c OSSPSR EEP SRR RDBEI‘A c
SUBROUTINE RDBETA(IR, IV, ID. NREAD, IMSC, MUMSC, C *** NCMUNP sosssses
& MUMP, JULT. JBASE, BETA, ICODE) 3000 CONTINUE
IMPLICIT REAL®*S (A-H,0-7) NREAD=TEXT
CHARACTER NREAD*80 ICODE=-1
DIMENSION BETA(MUMSC, *) RETURN
C *** GENERALLY BETA(MUMSC,MUMP) *** C
C -~- SPECIFICATIONS C **% ERROR *eersesves
C IR : UNIT & TO READ FROM 999 CONTINUE
o IF : UNIT & TO WRITE TO [CODE=999
[ ID : SWITCH INDEX (SEE BELOW) RETURN
o MUMP : REQUIRED NUMBER OF DATA TO READ o
C VALID ONLY IF ID NOT +/-3 C *** EOF DETECTED BEFORE REQUIREMENTS ARE MET ***
C BETA(®.*) : VARIABLE TO STORE DATA TO 9999 CONTINUE
C ICODE : RETURN CODE ICODE=90999
C IMSC. JMLT. JBASE : BETA(IMSC, JMLT*I+)BASE) RETURN
C (I=1, M¥P) END
C /* ./ ADD. NAME=readnmt.f, <%=53/69> <DATE=Dec/15 TIME=08:39 SIZE=2236> */
C ID MUMP NREAD BETA ICODE COMMENT C
C ¢
C +/-3 -- (RT1) -- 0 SKIPPED UNTIL NEW CMD. C./ ADD LIST=ALL. NAME=readnt. f
C +-1 (TO) -- (RT) 0 EXACT AMOUNT C READMT
C +/-1 (T0) (RTD) (RT) -1  INSUFFICIENT/ERROR SUBROUTINE READMT
C +/-1 (TC) (RT2) (RT) 1  SURPLUS/WARNING & ( MTR, MER, ISCTD, IFLAG,
C +/-2 (TC) -- (RT) O EXACT AMOUNT & ylnew, y2nev, xp, xn, SSIG, SEPS, isid, SDEE,
C +/-2 (TC) (RTY) (RT) -1  INSUFFICIENT/ERROR & CSLP, CSLN, CEKS, CSIG. CEPS, ICID, CDEE,
C +/-2 (TC) (RT1) (RT} 1  SURPLUS/WARNING & MUMT, MUMC, MUMP, MMP2 )
C 999  ERROR c

- 181 —



IMPLICIT REAL*3(A-H,0-Z) IF(MTX.NE. O THEN

DIMENSION  ylnew (MUMT, MP2), y2new (MUMT, \WMP2) READWMTXY  ylnew, y2new. xp. xn, SSIG, SEPS. isid
DIMENSION  xp (MUMT, MMP2) . xn (MUMT, MMP2} IFCISCTD. GT. &) THEN
DIMENSION SSIG(MUMT, MMP2), SEPS (MUMT, \MP2) [F(IFLAG.EQ.0) THEN
DIMENSION isid(mumt, mmp2), SDEE (MUMT, MMP2) MXP2=MIWP2
DIMENSION ~CSLP(MUMC, MMP2) , CSLN (MUMC, MMP2) MXC =MUMC
DIMENSION CSIG(MUMC, MP2), CEPS (MUMC, MMP2) ELSE
DIMENSION  CEKS(MUMC, MMP2), TCID (MUMC, MMP2) IF(IFLAG.GT. 0) THEN
DIMENSION CDEE (MUMC, MMP2) MXP2=2*MUMP-1
c ELSE
MUMP2 = 2*MUMP MXP2=MUMP
C EXD IF
IF(MIR.NE.0) THEN MXC = 1
DO 10 J=1,MMP2 END IF
DO 10 K=1, MUNT DO 30 J=1,MXP2
READ(MTR) yinew(K.]), y2new(K, ]}, DO 30 K=1,MXC
& xp(K. D). xn(K. ), ) READ(MTX) CSLP(X,]),CSLN(K, ]).
& SSIG(K, J), SEPS(K, J), isid(k, j) & CEKS(K. ), CSIG(K, ),
10 CONTINUE . & CEPS(K, ). ICID(K. D)
IF(ISCTD. GT. 0) THEN 30 CONTINUE
IF(IFLAG.EQ.0) THEN o END IF
MXP2-MUMP2 . END IF
MXC =MUMC . C
ELSE : RETURN
IF(IFLAG.CT. 0) THEN END
MXP2=2*MUMP-] /* ./ ADD, NAME=sdata.f, <#=55/69> <DATE=Dec/15 TIME=08:39 SIZE=3573> */
ELSE C
MXP2=MUMP C
END IF C./ ADD LIST=ALL, NAME=sdata. f
MXC = 1 c SDATA *
END IF SUBROUTINE SDATA(I®,MOJI, I1,H,B.TW,TF,R.A,Z.70,
DO 30 J=1,MXP2 & MUMS, MUMT)
DO 30 K«1,MXC C
READ(MTR) CSLP(K, J),CSLN(K. 1), IMPLICIT REAL*8(A-H,0-2)
& CEKS(K, J),CSIG(K. J), CHARACTER MOJ1
& CEPS(K, ). ICIDKK, 1) DIMENSION A(MUMS, MUMT), Z (MUMS, MUMT)
30 CONTINUE DIMENSION HH(3),WW(3)
END IF C --- MUMT >= 12
END IF 5000 FORMAT(1H , 15X, 1P, 3E13.4)
C 5010 FORMAT(1H , "ERROR AT MOJI DATA")
IF(MER. NE.0) THEN 5020 FORMAT (1H , 20X, "A(CM**2)", 8X, "Z(CM)")
DO 20 J=1, MUMP2 5030 FORMAT (1M , 18X,
DO 20 K=1.MUMT & TAAA(CM®*2)  AAZ(CM**3)  AZZ(CM**4)")
READ(MER) SDEE(K.}) 5040 FORMAT(’ 20 =, 1P, D12.5/)
20 CONTINUE C
IF(ISCTD.GT.0) THEN IF(MOJI.EQ.'H’) GO TO 20
IF(IFLAG.EQ.0) THEN IF(MOJILEQ.'I") GO TO 50
MXP2=MUMP2 IF(MOJT.EQ."T") GO TO 200
MXC =MUMC G0 10 130
ELSE C
IF(IFLAG.CT.0) THEN [y *H*
MXP2=2*MUMP-1 20 CONTINLE
ELSE HH(1)=0. 5D0*TW+0. 238D0*R
MXP2-MUMP HH(2) =0. SDO*TW
END IF IF(MOD(MUMT. 2).EQ. 1) THEN
MXC = 1 HH(3)=0. 2D0*TW
END IF ELSE
DO 40 J=1,MXP2 HH(3)=0.0D0
DO 40 K=1,MXC END IF
READ(MER) CDEE(X, ]) : WW(1)=2. 0D0* (TF+0. 238D0*R)
40 CONTINUE WK (2)=2. 0DO*(TF+0. 9DO*R)
END IF WK (3)=H
END IF THI = (B-T¥-1.8D0*R)/DBLE (MUMT-6)
C ¥1 = 2.0D0°TF
¢ ***** check-begin **etesss Hl = 0.5D0*TW+0.9D0*R
c write(6,*) '*** READMT (*,mtr,’,’.mer,") DONE. **** NB= (MUMT-6) /2
C **%** check-end **e¢stsr DO 30 I=1,MB
RETURN A(I1, ) =TH] *W1
END Z(11, 1)=0. 5D0*B-TH1*(DBLE(I)-0.300)
/* ./ ADD, NAMEareadmx.f, <#=54/69> <DATE=Dec/15 TIME=08:39 SIZE=1297> */ 30 CONTINCE
C D0 40 1=1,3
C H2=HH(I)
C./ ADD LIST=ALL, NAME=readmx. "~ F2-FW (D) .
C #eossveneanans READMK h A(I1, I+NB) = (H1-H2) *(¥1+¥2) /2. 0DO :
SUBROUTINE READMX Z(11, T+NB) = (H1+H2+ (HI*W1+H2*W2) / (W14W2) ) /3. 0DO
& ( MTX, ISCTD, IFLAG, Hl=H2
& yinew, y2nev, xp, xn, SSIG, SEPS, isid, ¥i=¥2
14 CSLP, CSLN. CEKS, CSIG, CEPS, ICID, 40 CONTINLE
& MUMT, MUMC, MUMP, MMP2 ) IF(MOD(MUMT. 2) .EQ. 1) THEN
C ACTL MUMT/2+1) =2. ODO*HH(3) *H
IMPLICIT REAL*8(A-H,0-2) Z(11, MUMT/2+1)=0. 0DO
DIMENSION  ylnew(MUMT, MMP2), y2new (MUMT, MMP2) END IF
DIMENSION  xp (MUMT, MMP2), xn (MUMT, MMP2) GO TO 100
DIMENSION SSIG(MUMT, MMP2), SEPS(MUMT, MMP2), i sid (sumt, mup2) C
DIMENSION CSLP(MUMC, MMP2) , CSLN (MUMC, MMP2) c *1
DIMENSION CSIG(MUMC, MMP2), CEPS (MUMC, MMP2) 50 CONTINUE
DIMENSION CEKS (MUMC, MMP2), ICID (MUMC, ¥MP2) IF(MUMT.LT. 12)
o & CALL MSGSTP(IW, 'ERROR...SECTION DEF/MUMT<=12")
MUMPZ = 2*MUMP TH1<TF/3. 0DO
C DO 60 I=1,3
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A(I1, 1) =B*THI
2(11, 1)=0. 5D0*H-THI* (DBLE(1)-0. 5D0)
60  CONTINLE
HH( 1) =0. 3DO*H-TF-0. 238D0*R
HH(2) =0. 3DG*H-TF-0. 9D0*R
¥¥ (1) =TW+0. 476D0*R
WH(2)=TW
Hi=0. SDO*H-TF
W1=TW+1.8D0*R
DO 70 1=4,5
H2=HH(I-3)
¥2=W¥ (1-3)
A(T1, T)=(H1-H2) * (R14¥2) /2. 000
Z(I1. D)= (H1+H2+ (H1*W14H2*%2) / (W142) } /3. 0DO
Hi<H2
W1=¥2
70 CONTINUE
THi=(H-2. ODO*TF-1. 8D0*R)} /DBLE (MUNT-10)
H1 = 0.5DO*H-TF-0. 9D0*R
DO 80 I=6,MUMI/2
ACT1, 1) =TW*TH]
2(I1, I)=H1-TH1* (DBLE(1-6)+0. 5D0)
80  CONTINUE
IF(MOD(MUNT, 2).EQ. 1) THEN
A(11, MUMT/2+1) =TH*TH1
Z(11, MUMT/2+1)=0. 0DO
END IF

100 CONTINUE
DO 110 I=1, MUMT/2
J=MUMT+1-1
A(IL D)=A(ILLD
2, D=-2(11.D
118 CONTINUE
DO 111 I=1, MUMT
211, 1) = Z(I1,1) + 20
11 CONTINUE

G0 To 115
C
C *CUTT. *
200 CONTINUE

WRITE(IW,5040) Z0
NB = 0.35*MUMT
IF(NB.EQ.0. OR. (MUMT-NB).LE. 0
& CALL MSGSTP(IW, "ERROR...SECTION DEF/CLT T*)
Hl = TF/DBLE(NB)
A(I1.1)=B*H1
Z(I1,1)=H-H1/2.0D0+Z0
DO 210 1=2,NB
A(IL D=ACTL D)
Z(11, 1)=2(11,1-1) - H1
210 CONTIMEE
HIF=H-TF
HZ = HTF/DBLE (MIMT-NB)
ACT1, NB+1) TW*H2
Z(11,NB+1)=HTF-H2/2.000 + Z0
DO 220 I=NB+2, MUNT
A(TL, D=A(11,\B+1)
211, D=Z(11,1-1) - H2

220 CONTINUE DIMENSION T0606(6. 6), TO6(6), CM(6,6),BV6)
C DIMENSION ST11(6.6), BV1(6)
[ * PRINT A, Z,S.1 * dimension nnl(6),nn2(2)
115 CONTINUE c
AAA=O. 0DO common /ssdata/ssyr, ssbri, ssbrk
AAZ=0. 0DO data nyilde/12/
AZZ=0.0D0 C
DO 120 I=1, MUMT C THIS FUNCTION CREATES TOTAL STIFFNESS K AND
AA=AMRACTL. ) C INTERNAL FORCES (FIN) : FEX = K * DU + (FIVM
AAZ=AAZ+A(IL, D*Z(11. 1) C
AZZ-AZZ+A(11, D) *2(11, D211 D C IF1"1 = {T0606 TO612{ ID1'| + 1T06'|
120 CONTINUE C IF2 1 ITI206 T1212) D2 | ITi2 |
WRITE(IW, 5020) c
DO 125 I=1, MUMT ¢ (B1)' = (TR)*(D1)
WRITE(I¥, 5000) A(I1. D), Z(11.D) ¢
125 CONTINUE C  (CM)==>1T0606 T06121 (BV)==>|T061 FOR EACH MEMBER
WRITE(IW, 5030) 9 iT1206 T12121 IT121
WRITE(IK, 5000) AAA, AAZ, AZZ C
RETURN C (02 = (T1212)" *((F2)-(T12))-(T1212)" *(T1206)*(TR) *(D1)
130 ¥YRITE(IW, 5010) C = (BW) + (STM) * (TR)*(DD)
RETURN C
END C (F1) = (TR)"*( (T0606)-(T0612)*(T1212)" *(T1206) ) *(TR)*(D1) +
/% ./ ADD. NAME=sepal.f, <$=56/69> <DATE=Dec/16 TIME=23:01 SIZE=13301> */ [ (TR)"* ((T06)+(T0612)*(T1212)" *((F2)-(T12)))
C C = (STI1)*(D1) + (BVD)
[o [«
C./ ADD LIST=ALL, NAME=sepal. { C (B = (T1212)"*((F2)-(T12))
C sesssosinnsans GEpAY ¢ b C (STM) = -(T1212)" *(T1206)
¢ === pod 1993/10/12 === C
c === god 1994/07/07 =a= C (BVI) = (TRY"*((T06) + (TN612)*(BVM))
¢ === mod 1997/12/15 == € (ST11) = (TRY"*((T060B) + (TN612)*(STH))*(TR)
C

SUBROUTINE SEPA1 ( LARCE,

Ro Ro @v po Re R° Ru P Re o RO 29 Ro O Rw Re

JOINT ,STT  BVT  ,STM
ishrid, revga , fkinv ,
DEAD ,OFSTL . IDIVD . [RIGID.RIGID . coef
x.y. MM YN . A Z EE EP. sgy,
ISECT ,NBAND ,MATS ,PMEM IS

MIND . REACTK.TUVM | ORGLS .

T0612 ,T1206 .T1212 ,T12 ,TXA .TXZ
TEA .TEZ ,TZZ ,BETA .IA .IB
MMM OMUMP  MUOMT  MIMS

MIMJ3 | MUMPM3, MUMPP3, MIMP2 |

nbeta ,cort, almd, sigx, work,

ylnew, y2new, xp, xn, SSIG, SEPS, isid, SDEE.
CSLP. CSLN, CEXS, CSIG, CEPS, ICID, CDEE,
idtmp,

MUMSC, MUMC, SECTID, IFLAG.

YILDC. AC, ZC. EC. MER .MIR )

.stmpin, BV

IMPLICIT REAL*8(A-H,0-Z)
LOGICAL  chrg

INTEGER

SECTID (MUMS)

DIMENSION  JOINT (MUMM, 2), ISECT (MUMM) , IDIVD (MUMM)
DIMENSION IRIGID(MUMM. 2), RIGID(MIMM, 2). coef (mump-1)
DIMENSION  STT(MUMJ3, NBAND) , BVT (MUMJ3) . MIND (MUMJ 3)

DIMENSION

dimension stmpin{gumm,*)

DIMENSION DEAD(MUMM, 2* (MUMP-1))

DIMENSION OFSTL(MUMM, 4* (MUMP-1))

DIMENSION  A(MUMS, MUMT), Z (HUMS, MUMT), IFLAG(MUNS)
DIMENSION T0612(6. MUMPM3+MUMP-1)

DIMENSION T1206(MUMPM3+MUMP-1, 6)

DIMENSION  T1212((MUMPM3+MUMP-1) * (MUMPM3+MUMP-1))
DIMENSION  T12(MUMPM3+MUMP-1)

DIMENSION TXA(MUMP2), TXZ (MUMP2), TEA(MUMP2)
DIMENSION TEZ (MUMP2), TZZ (MUMP2)

DIMENSION x(*), y(*), XM(MUMM, MUMP+ 1), YM(MUMM, MUMP+1)
DIMENSION  sgy (MUMM)

DIMENSION  [A(MUMPM3+MUMP-1), IB(MUMPM3+MUMP-1)
DIMENSION FMEM (MUMM, 6), REACTK (MUMM, 2)

DIMENSION ~ TUVM(MUMM, MUMPP3+MUMP-1)

DIMENSION ORGCS(MUMM, 2)

DIMENSION YILDC(MUMSC, *)

DIMENSION  AC(MUMSC, MUMC) , ZC (MUMSC, MUMC) , EC (MUMSC, *}
DIMENSION  ylnew(MUMT, MUMP2), y2new (MUMT, MUMP2)
DIMENSION  xp(MUMT, MUMP2) , xn (MUMT, MUMP2)

DIMENSION

DIMENSION SDEE (MUMT, MUMP2)

DIMENSION

DIMENSION  CSIG(MUMC, MUMP2), CEPS (MUMC, MUMP2)
DIMENSION  CDEE (MUMC, MUMP2)

DIMENSION ICID(MUMC, MUMP2)

dimension ishrid(muma). revga(*), fkinv(36, nump, *)
digension idtop(mump)

dirension

¢ dimension csk(2*nfrier*ounp, nbeta)

dimension cort (mupp*pump. nbeta)
dimension alwod(mump®*zump. nbeta)
C *** LOCAL DIMENSION ***
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STM(MUMM, MUMPM3 +MUMP-1, 6) , BVM (UMM, MUMPM3+MUMP- 1)

SSIG (MUMT, MUMP2) , SEPS (MUMT, MMP2), is1d (MUMT, MUMP2)

CSLP (MUMC, MUMP2) , CSLN (MUMC, MUMP2) , CEXS (MUMC, MUMP2)

sigx (mump, nbeta), beta(mump, nbeta), work (2*nump)



clfr
c will

igid portion incorporated. following conversion
be taken into account.

¢ (BVM) <= same as in the above expression

(BY
(ST

(STM) <= same as in the above expression

1) <= (TR} *(BV])
1) <= (TR)"*(ST11)*(TR}

oo0nonn

5

10

e P Qe

21

22
20

23

24

Re Re fo e ke

Re Ro

DO S I=1.MUMJ3
BVT(I)=0. 0D0
CONTINVE

DO 10 I=1,MATS

DO 10 J=1,NBAND
STT(I, J)=0.0D0
CONTINVE

REWIND MTR
REWIND MER

ibeta=0

DO 100 MEMBR=1, numm
NSECT=ISECT (MEMBR)
1Z =SECTID(NSECT)
IF(IZ.CT.0) ibeta=ibeta+l
MMP=IDIVD(MEMBR)
MMPM3 = 3*(MWP-1)
CALL READMT (MTR,MER, IZ., IFLAG(NSECT),
ylnew, y2new, xp, xn, SSIG, SEPS, isid, SDEE,
CSLP. CSLN, CEXS, CSIG, CEPS, ICID, CDEE,
MUMT, MUMC, MMP, MUMP2)
IF(IFLAG(NSECT).CT.0) THEN
MUMPXX=MMPM3 +MMP- ]
call coefst(coef, xm. ym, yildc(iz, nyildc),
nembr, mp, DUTD, NUBP)
ELSE
MUMPXX=MMPM3
END [F

DO 20 J=1,6
T06(J)=0.0D0
bv1(J}=0.0D0
Do 21 I=1,6

TO606(1, J)=0.000
st11(1, J)=0. 000
DO 22 I=1.MUMPXX
STM(MEMBR. I, J)=0.0D0
T1206(1, 1)=0. 000
T0612(]J. 1)=0.0D0
CONTINGE

if (nop. gt. 1) then

do j=1.mmp
idtmp(j)=0
enddo

DO 23 j=1, MUMPXX
BVYM(MEMBR, ]) =0. 0D0
T12(J)<=0.0D0
CONTINVE

DO 24 J=1, MUMPXX*MUMPXX
T1212(J)=0.0D0
CONTINUE

endif

TXA ,TXZ .TEA .TEZ .TIZ,
IS ,ylnew,yZnev,xp .xn
SSIG . SEPS , isid , SDEE,
MUMT |, MUMS |, 2*MVP )

IF(IZ.CT. 0. AND. [FLAG(NSECT).£Q.0) THEN

CALL INTGC( 1Z ,AC ,IC ,EC , YILIC,
TXA .TXZ .TEA ,TEZ ,TZZ .
beta(l, ibeta) .sigx(l, ibeta),
IS ,ceks,
CSLP ,CSLN ,CSIG ,CEPS ,CDEE , icid,
MUMC , MUMSC, 2*WMP )

END IF

kO=ishrid(megbr)
DO 50 M=1,MMP
M1=M+1
XI=JM(MEMBR, M )
XJ=XM(MEMBR, M1)
YI=YM(MEMBR. M )
YJ=YM{MEMBR, M1)
CALL SSTIF(XI.XJ.YIL.YJ. tmpcs. twpsn. tmplen,
TXA, TXZ, TEA, TEZ, TZZ.
BY, CM, 2*M-1, MUMP2}

s K: s N e

OO 0000

0o a0 o0a

R s I s s B e B a s Ba 2

[N B B T = T S T s T s W e W o Y

if (k0. gt. 0 then
call ffshrco. tmpes. topsn, tmplen,
& fkinv(l.m kO), revga(ki))
endif
sEREE CheCk-ngin 0N S S
CALL CHECKD( 6,'CM (STEEL ONLY) AT SEPAl : M=',
CALL CHECKD( 6, "BV (STEEL ONLY) AT SEPAl @ M=",
2RSS check_end SERRESS
CALL MSTIF(M,MWP,CM.BY,
& T0606, T0612, T1206, T1212,
& MUMPXX, T06, T12, MUMPM3, MUMP)

==
2g
—o

oy O

50 CONTINUE
L3 il t Check_bcgin skEsese
CALL CHECKD( 6. T0606 after MSTIF AT SEPAL".
& 0, TO606. 6. 6)
CALL CHECKD( 6."T1212 after MSTIF AT SEPAI",
& 0. T1212, MUMPXX. MdPXX)

*o88% hock-end *veeeer

CALL MSTIFC(LARGE, IS, MEMBR, MMP, 1Z, IFLAG(NSECT),
ORGCS (MEMBR. 1), ORGCS(MEMBR, 2) . XM, YM,
TUVM, AC,ZC.EC. YILDC,
beta(l, ibeta), sigx(l, ibeta),
CEXS, CSIG, CEPS, CDEE, CSLP, CSLN. icid.
idtmp,
T06., T12, T0606, T0612, T1206, T1212, MUMPXX,
MUMM, MUMP, MUMPM3, MUMPP3,
MUMP2, MUMSC, MUMC)

Re @o @ Ro Re Re Ro 2o

call pinprc{nl,nnl,n2,nn2,
& chrg(irigid(meabr,1),2),
& chrg(irigid(membr, 2),2))

IF(MMP.CT. 1) then
CALL MSTFST(IS, MEMBR, MMP, 1Z, IFLAG(NSECT),
YILDC, coef,
CEKS, CSIG, CEPS, CDEE, CSLP.CSLN, icid,
idtmp, t0612, t1206,
T12, T1212, MUMPXX,
MUMM, MUMP, MUMPM3, MUMPP3,
MUMP2, MUMSC, MUMC)
DO 200 I=1, MMP-1
DO 200 J=1,2
K = 3*(I-1)+]
M = 4*(I-1)+2*]

Ro e Ro @0 2o @9

CALL TOUCH(REACTK(MEMBR. J}, TUVM(MEMBR. K},

& OFSTL (MEMBR, M-1),

& OFSTL(MEMBR. M ).R1,R2)
M1 = K+ (K-1) *MUMPXX
T1212(M1)=T1212(M1) +R1
TI2(K)  =TI2(K) +R2

200 CONTINUE
2R Check‘beﬂln SHEEENS
CALL CHECKD( 6, 'T1212 BEFORE MINVE AT SEPAI',
& 0, T1212, MUMPXX, MUMPXX)
LR 2Lt Check_end L2211 1]
--- pin-connected ends ---
if(n2.gt.0} then
call pinint(t0606, t06, numpxx,
& nl.nnl,n2,nn2,

& t12, t0612, t1206, t1212, MUMPM3 +MUMP-1)

endif

*** check-begin ***
i f (mumpxx. gt. owpw3) then
write(6,*) **** Part of T12]12(® *) ***
write(6, ' (1h ,4f12.3)")
& ((t1212(i+mumpxx*(j-1)), j=umpz3+1, nuppxx),
& i=mmpm3+], mumpxx)
endif
*** check-end ***

CALL MINVE(T1212, MUMPXX,D. 1A, IB)

**+* check-begin ***
if (numpxx. gt. mmpw3) then
vrite(6,*%) "*** D ="', d
endif
**¢ check-end ***

ey Check_begin *8E208S
CALL CHECKD( 6, 'T1212 AFTER MINVE AT SEPAl’,
& 0. T1212, MUMPXX, MUMPXX)
2EERK Cmck_end *RSEEES
DO 70 I=1,MUMPXX
DO 60 jj=1.6
j=nn1(jj)
DO K=1, MUMPXX
MiaI+ (K-1) *MUMPXX
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STM(MEMBR. I. ]} = STM(MEMBR. L, )
& - TI212(M1) °T1206(K, )}
enddo
60 CONTINLE
do jj=1,n2

j=nn2(j})

sta(membr, i, j)=t1206(i, ))

enddo

DO 70 J=1.MUMPXX
Ml=I+(]-1) *MUMPXX
IF(J.GT.3*(MMP-1). OR.
& MOD(J. 3).EQ.0) THEN
Rl = 0.0D0
ELSE
K= (]-1)/3
K = 2*K+MOD(J,3)
R1=DEAD(MEMBR, K)
END IF
BVM(MEMBR, I) = BVM(MEMBR, I)
& + T1212(MD) *(R1-T12()))
70 CONTINUE

DO 90 ii=l,nl
i=nnl(ii)
BVI(I)=T06(I}
DO 80 K=1, MUMPXX
BV1(I)=BV1(I)+T0612(I. K) *BVM (MEMBR. K)
80 CONTINUE
DO 90 jj=l.nl
j=nnl(j}))
ST11(1, J)=T0606(1, ])
DO 90 K=1, MUMPXX
STI(L D =STIN(, D)+
& TO612(1, K) *STM(MEMBR. K. ])
€0 CONTINVE

¢ L LR m-l e
ELSE
c --- pin-connected ends ---
if(n2.gt.0) then
call pinjnt (10606, 106, 0,
13 nl,nnl,n2, nn2,
1] 12,0612, t1206, t1212, MUMPM3 +MUMP-1)
endif
do ii=l,nl
i=nnl (i)
bvl(i)=t06(i)
do jjal,nl
j=nnl(j})
st1li, j)=t0606(i, j)
end do
end do
ENDIF

do i=1.n2
do j=1.nl
stopin(membr, 1+n2*(j-1))=10606 (an2(i),nnl (j))
enddo
stopin(membr, n1*n2+1)=t06 (nn2(i))
enddo

E 8988 CheCk-begin SEEEEES
c CALL CHECKD( 6,°ST11 AT SEPA!’.membr,ST11,6,6)
< CALL CHECKD( 6,°BV1 AT SEPAl’,membr,BV1 ,1,6)
c CALL CHECKD( 6,°T0612 AT SEPA1',0,T0612, 6, MUMPXX)
< CALL CHECKD( 6, "T1206 AT SEPAI",0.T1206, sumpn3+mump-1,6)
c s8se8 cmk_end EL2 221 2]

XL=XM(MEMBR, 2) -XM(MEMBR, 1)

YL=YM(MEMBR. 2) -YM(MEMBR. 1)

RL=DSQRT (XL*XL+YL*YL) .

L=XL/RL

YL=YL/RL

FMEM (MEMBR. 1)=-XL*BV1 (1) -YL*BV1(2)

FMEM (MEMBR, 2)= YL*BV1(1)-XL*BV1(2)

FMEM (MEMBR, 3)=-BV1(3)

XL=YM(VEMBR, MMP+1) - XM (MEMBR. M\P)

YL=YM(MEMBR, M¥P+1) - YW (MEMBR, VMP)

RL=DSQRT (XL*XL+YL*YL)

XL=XL/RL

YL-YL/RL

PMEM(MEMBR, 4)= XL*BV1(4)+YL*BV1(5)

FMEM (MEMBR, 5)=-YL*BV1 (4) +XL*BV1(5)

FMEM (MEMBR, 6)=-BV1 (6)

IF(chrg(IRIGID(MEMBR. 1), 1). or. chrg (IRIGID(MEMBR, 2). 1) ) then
CALL CONVRG(LARCE,ST11,BVI1,
& RIGID(MEMBR, 1), RIGID (MEMBR, 2,
& ORGCS(MEMBR, 1) . ORGCS (MEMBR. 2,

& TUVM(MEMBR, 3%, TUVM(MEMBR, 3* (MWP+1}) )
endif

*+* check-end ***

¢ *** check-begin ***

c if(chrgiirigidtgembr, 13, 2).or.chrglirigid(membr,2},2} } then
c stop

c endif

c

c

CALL ASEST(NBAND. JOINT. MEMBR. STT, ST11.BVT, BV1.
MIND, MUMM, MUM]3)
100 CONTINUE

C
REWIND MTR
RERIND MER

c

¢ *** calcutes effective width ***
ibeta=0

DO 9000 MEMBR=1, munm

iz =SECTID(ISECT(MEMBR))
IF(iz. le. 0) goto 9000
ibeta=ibetas]
oop=1DIVD (MEMBR)
call dfbet](iw,ec. iz, muasc, x,y, joint (membr, 1), joint (membr, 2),

& beta(l, ibeta),cort(l, ibeta), alwd(l, ibeta),

& sigx(l, ibeta), work, mmp)

9000 continue
c
RETURN
END

./ ADD LIST=ALL, NAME=skpcat. {

(11 .

SUBROUTINE SKPCMT (IR, IW, NREAD.CMT, * , *)

I shen

CHARACTER ~ NREAD*B0, OMT* (*)

/
C
c
C
C

c
NL = LEN(CMT)
READ(IR, * (A80) ", END=999, ERR=9999) NREAD

IF(IW.EQ.0) THEN
IF(NL.EQ.0) RETURN
DO 10 WHILE(NREAD(1:NL). EQ. CMT)
READ(IR. * (A80) *, END=999, ERR=9999) NREAD
10 CONTINUE
ELSE
WRITE(IW, *) NREAD
IF(NL.EQ. 0) RETURN
DO 20 WHILE(NREAD{(1:NL).EQ.CMT)
READ(IR. * (A80) " . END=999, ERR=0999) NREAD
WRITE(IW, *} NREAD
20 CONTINUE
END IF

RETURN

999 CONTINUE
RETLRN 1
C
9999 CONTINUE
RETLRN 2
C
END

/* ./ ADD, NAME=solvmt.f, <==58/69> <DATE-Dec/15 TIME=08:39 SIZE=895> */

[

.7 add list=all, name=solvmt.
XSS SEEEEI SRS SOlet TTIT]

an o6

subroutine solvat(a,n,b)
solvat
* aln,n)2x(n)=b(n)
* x(n) = bin)

Py

o000

ioplicit real*8(a-h, o-z)
dimension a(1),b(1)
data eps/1.0d-8/

ips(i, 1) =1+n*(j-1)

do k=l.n
aN=a(ips(k.k))
if(dabs(al)). It.eps) goto 999
do j=k+¢l.n
alipstk, j))=alips(k. j))/aD
enddo '
b(k)=b(k)/a0

do i=l,n
if(i.ne.k) then
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zl=alips(i, k))

do j=k¢l,n
a(ips(i, j))=alips(i, j))-zI%a(ips(k, j)}
enddo
b(i)=b(i)-z1*b(k)
endif
enddo
enddo
c
return
c

999 continue
write(6.%) '*** solvmt() found error : pivot=0 ***

stop
c
end
/* ./ ADD, NAME=ssolv.f, <#=509/69> <DATE=Dec/15 TIME=08:39 SIZE=2326> */
[
C

C./ ADD LIST=ALL, NAME=ssolv. f
C SIPIEBSEEEEIES SSOLV (MODF) SESUEEEEENSRESEEISERNAES
SUBROUTINE SSOLV(I¥, MS,NB, AV, AM, UV, IFDX, DET,
1] MUMJ 3)
corrected on Aug.28/1995 K. Yamanobe
Ml K D ]

I <lLk...... <L j>

[sEsEesEsEzEeXse]

=

A

-

2

&
—

v

IMPLICIT REAL*8(A-H,0-7)
DIMENSION AV(MUMJ3)
DIMENSION AM(MUMJ3, NB)
DIMENSION UV(MUMJ3)
DIMENSION IFDX(MUM]3)
c
< .
c *** K22%x2 = f2-K21*x] ***
do 900 k=l,ms
1f(ifdx(k).gt.0) then
is=MAXO( 1,k-nb+1)
ie=MINO(xs, k+nb-1)
do 910 i=is. k-1
if(ifdx(i).eq.0) then
av(i)=av(i)-am(i, k-i+1)*av(k)
endif
910 continue
do 920 i=k+l, ie
if(ifdx(i).eq.0) then
av(i)=av(i)-an(k, i-k+1)*av(k)
endif
920 continue
endif
900 continue
c
c
IF(MS.EQ. 1) THEN
IF(IFDX(1).CT.0) THEN
UV(1)=AV(1)
ELSE
UV(1)=AV(1)/AM(1, 1)
END IF
RETURN
END IF

KE=MS-1
DO 10 K=1,KE
1S=K+1
IE=MINO(MS, K+NB-1)
IF(IFDX(K).eq.0) THEN
C ==a< [FDX(K)=0 >===
AK=1. 0DO/AM(K, 1)
DO 30 I=IS,IE
IF(IFDX(I).EQ.0) THEN
IK=1-K+1
AL=AM(K, IK)*AX
DO 40 J=1,1IE
J1=]-141
JKaJ-K+1
AMCL, 1) =AM(I. JT)-AM(K, JK) *AI
40 CONTINUE
AV(IY=AV(I)-AV(K) *Al
END IF
30 CONTINUE
END IF
10 CONTINUE

CALL DETER(IW. AM, IFDX, MS, DET. MUM] 3, NB)

[

~

onNnonnNnooa0oaooon

00 A A000N06000AaA06O6AaAAONONANONONON0ON0000N0N0ON0O0N0D06N0HONNON-ONONA-BDO

NN o6

IF(IFDX(MS;. GT. ) THEN
LV (MS} =AV (MS)
ELSE
LV (MS) AV (MS) ZAM(MS, 1)
END IF

DO 100 KT=2.MS
K=MS+1-KT
TF(IFDX(K).CT. 0) THEN
UV (K) =AV (K)
ELSE
JE=MINO(MS, K+NB-1)
DO 110 J=K+1,]JE
IF(IFDX(J).EQ.0) THEN
JKaJ-K+1
AV(K) <AV (K) -AM(K, JK)*WV(])
END IF
110 CONTINUE
UV (K) =AV (K) /AM(K, 1)
END IF
100 CONTINGE

RETURN
END

./ add list=all, name=ssrnew.
<ssrnev. f> 1997/1/14 Revised : 1997/4/8 MOD.
sesesanessanss ssrnev (new version ) *** 1995/10/27 *
SREEEIEISE RIS coments CEEIITABAE LN OES 1996/5/29 L]
This program presents bi/tri-coubined-1inear hysteresis model,
consisting of three-parallelly~-connected models ;

perfect bilinear model,

bilinear model with isotropic hardening, and

linear model with kinematic hardening.

subroutine ssrnew

& (is,el,e2, brISH brKIH, fy, yr.

& x0, ylold. y2old, dx,

& eks, ynew, xnev, ylnew, y2new. xp, xn. id )

IS1 = Isotropic Hardening
KIH = Kinematic Hardening

xnew, ylnew y2new xp.xn, id : need to be memorized.
generally adopted values : e2=el/10, yr=0.80
e3=(brISH+brKIH) *el : (0.0067+0.0033)%el

is . direction index.
if is<0, then dx assumed to be zero, and
eks will be passed only.
*** Bi-linear (initial hysteresis loop) *** ***
el ! initial modulus
e3 : second modulus after first yielding point(fy)
*** Tri.linear (post unloading hysteresis loop from bi-linear)
el ! initial modulus
e2 : second modulus after first yielding point(fy*yr)
e3 . ultimate modulus after ultimate strength(fy)
*** Followings are all input variables ***
brISH : Isotropic Hardening wodulus ratio to el
brKIH : Kinematic Hardening modulus ratio to el

fy . actual yield strength
yr . virtual yield strength ratio to fp for Trilinear model
x0 : former x-value

ylold : normalized, former y-value of perfect bilinear wodel
y2old : normalized, former y-value of ISH bilinear wodel
dx : incremental x-value for new state
*** Followings are all outpul variables ***
eks : new modulus at given dx
ynew  new total y-value
xnev . new total x-value (=x0+dx)
yinew : normalized, new y-value of perfect bilinear model
y2new : normalized, new y-value of ISH bilinear model
xp . normalized, maximum experienced x-value
xn : normalized, minimum experienced x-value
258 Misc_ 5
fy : used only initially : as long as id=000 or 001
id : nnn
+-~=> ipass . Yield State Index (0-8)
l+--> idpn : Hysteresis Model Status (0/1/2/3)
It+-> idi  : Initialization Index (0/1)
1
nnn = 100*(ipass)+10*(idpn)+(idi)

idpn | 0 ! (172 0r) 3
------ | (Bilinear) | (Trilinear)
ipass | |

0 ; Elastic
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./ ADD, NAME=ssrnew.f, <3=60/69> <DATE=Dec/15 TIME=08:39 SIZE=15065> */



¢ 1 | (+) Yield<O> | ——-- c *** end : dx=0) ***
c 2 1 (+) Yield<l> endif
c 31 (+) Yield<2> c
¢ 4 1 (<) Yield<O> | - xnew=x{+dx
c 5 1 (-} Yield<l> c
¢ 6 | (-} Yield<2> if(idpn.eq.3) goto 7777
13 71 (+) Unloading c
[ g | () Unloading if(ipass.eq.0) then
¢ + + Sgn=sgnx
¢ Elastic = el : Yield<l> = e2 : Yield<0> or <3> = e3 if (sgn*xnew. ge. xx1} goto 100
¢ (idi) = initialization index. (0=>to be initialized) eks=el
c ynew=el *xnew
implicit real*8(a-h,o-2) goto 9999
dimension xxx(2) endif
data zero, unit, two/0.0d0, 1.0d0, 2. 0d0/ c
idef=0
¢ *** check-begin * xcrite=zero
*1000 format (a, 5f12.6) def=fy-(f1+(ee2+eel) *xxl)
*1001 format(a,i5.7x.4{12.6) if(def.gt.zero) then
. write(6,%) ' ' idef=1
. write(6,1001) '---<ssrnew/step begins>--- id=", id xcrit=x2+def/ (ee2-eed)
¢ *** check-end endif
c c
if(is.1t.0) then xxcrt=xcrit+beta*{xcrit-x2)
eks=el c
return ¢ *** check-begin ***
endif . write(6, 1000) "el.e2.e3 : "el.e2. el
c * write(6,1000) 'eel.ce2, eel,eed : ', eel,eel, eel, eed
¢ *** Preparations for Bi-linear * ylold:x0, yZ2old:y0 *** * write(6, 1001} "idef,def.xct,xxc: ", idef,def, xcrit, xxcrt
c *** xxle=>fy *** * write(6,1000) “fy, fvd, fyp, {1, f2: ', fy, fyd, fyp, f1, {2
xxl=fy/el * write(6, 1000) “xx1.x1,x2 2 toxxlLxl,x2
[ ¢ *** check-end ***
c *** Preparations for Tri-linear *** I
c *** xl<=>fyp © x2<=>fyd *** c
eel=el-e2 c *** idpn=! or 2 : Mod. Bi/Tri-linear Mode! (idef>)) #*evossrsssssess
ee2=e2-brKIH*el ¢
ee3=brkIH%e! if(idpn.eq.l.or. idpn.eq.2) then
eed=brISH%el if (idpn.eq.1) then
betaseed/ee? sgn = unit
elseel+eed idir=0
fypeyr*{y Xpp =xp
x1=fyp/el Xnn =xn
x2=crossx (€3, xx1, fy, e2,x1, fyp) else
fyd=fy+e3*(x2-xx1) sgn =-unit
fl=eel*xl idir=1
{2see2*x2 Xpp =xn
c xnn =xp
¢ *** get parapeters from id *** endif
if(id.eq.0) then c
idi=] ¢ *** Unloading ***
ipass=0 if (sgn*sgnx. It.zero) then
idpn =0 i f (sgn*xnew. [ t. -xxcrt. and. sgn*xpp. gt. xxcrt) then
xp= xxl idpn=3
xn=-xx1 if (sgnx. gt.zero) then
else idir=0
ipass=id/100 else
idpn =id/10-10*ipass idir=1
idi  =id-(100*ipass+10*idpn) endif
endif if (sgn*xnn. ge. -xx1) then
c nret=]
if(dx. gt.zero) then xxx(1)=sgn*xcrit
idir=0 else
sgnx=unit : nret=2
else if(dx.1t.zero) then xxx(1)=-sgn*xcrit
idirsl xxx{2)= xpp
sgnx=-unit endif
else goto 6666
c endif
c *** begin : dx=0 *** c
c if(idpn. 1t.3) then if (sgn*(x0-xpp). gt.zero) then
¢ if ((ipass-1)*(ipass-3)*(ipass-4)*(ipass-6).eq.0) then if (idir.eq.0) then
c eks=el xp=x0
c else if(ipass.eq.2.or.ipass.eq.5) then else
[ eks=e2 xn=x{
¢ else endif
¢ eks=e} endif
< endif c 1
c else zl=sgn*(xcrit-(beta*(xcrit-x2)+two*x2))
c if (ipass. eq. 3. or. ipass.eq.6) then if (sgn*xnn. ge. -xx1) then
c eks=e3 20=sgn*xcrit
¢ else if(ipass.eq.2.0r.ipass.eq.5) then else
¢ eks=e2 Zl)=sgn*xxcrt
c else endif
¢ eks=e] if (sgn® (xpp-20). gt. zero) then
c endif zl=zl+(unit-beta) * (xpp-z0)
c endi f endif
c fpx=-sgn®(f1+{2) +ee3*z]
eks=el c
c xldum=crossx(el, yloid. y2o!d. €2, 2], fpx)
RETURN x2dum=crossx(el, ylold. y2old, €3, zI, fpx)
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z0)=sgn*dpax] (sgn*x1dum. sgn*x2dum)

c e CheCk-begin PERISSGEEISENSARINET RO RBUS NN
* write(6,1000) " 1'xnw, 20,21, fpx : ', xnew.z0,zl. fpx
* write(6,1000) '!'xpp,xnn,eks,xcrit ", xpp. xnn, eks, xcrit
. vrite(6,1000) ' !'sgn, sgnx.xret,xxcrt : ', sgn, sgnx, xret, Xxxcrt
c *** check-end
if (sgn®(xnew-z0). gt. zero) then
eks=el
ynev=eks® (xnew-ylold) +y2old
else
if (sgn®(20-2z1). gt. zero .and.
& sgn®*(xnew-z1). gt. zero) then
ipass=5-3*idir
eks=e2
else
ipass=6-3*idir
eks=e3
endif
ynew=eks* (xnew-z1) +{px
endif
¢ *** check-begin
. vrite(6,1000) ‘!xnw, 20,21, fpx : °,xnev,z0,zl, fpx
. write(6, 1000) ' Ixp.xn.eks © " xp.xn, eks
¢ *** check-end *
goto 400
endif
c

c B8 454 405 S90 SIS S50 P65 S3¢ 3B S0 4EE 20 N

if (sgn*(x0-xnn). It.zero) then
if(idir.eq.0) then
xn=x0
else
xp=x0
endif
endif
if (sgn*xnn. ge. -xx1) then
z0=crossx(el, ylold, y20ld, e3, sgn*xx!, sgn*fy)
if(sgn*(xnew-z0).gt. zero) then
ipass=2+3*idir
eks=e3
ynew=eks® (xnew-~sgn®xx])+sgn*fy
else
eks=zel
ynew=eks®* (xnew-ylold)+y20ld
endif
goto 400
endif

if (sgn®xnew. gt. xxcrt. and. sgn®*xnn. 1t. -xxcrt) then
idpn=3
1f{sgnx. gt. zero) then
idir=0
else
idirs]
endif
nret=2
xxx(1)= sgn*xcrit
xxx(2)= xnn
goto 6666
endif
c 11
zl=-sgn*(xcrit-(beta®*(xcrit-x2) +two*x2))
if (sgn*xpp. le.xx1) then
z0a-sgn*xcrit
else
z0=-sgn*xxcrt
endif
if (sgn®*(xnn-20). 1t.zero) then
zl=z1+(unit-beta)* (xnn-z0)
endif
fpx=sgn®*(f1+f2) +ee3*z]
c
c *** check-begin ***
* write(6,1000) “zl, fpx.xp.xn ', zl, fpx,xp.xn
* vrite(6,1000) " xpp, xnn © ', Xpp, xnn
c *** check-end ***
xldumx=crossx(el, ylold, y2old, e2, z!, fpx)
x2dum=crossx (el, ylold, y2old, €3, z!, fpx)
z0=sgn*dminl (sgn*x1dum, sgn*x2dum)
if (sgn*(xnew-20). 1t. zero) then

ipass=8-idir

eks=el

ynew=eks* (xnew-ylold) +y2old
else

if (sgn®(z0-z1). It. zero. and. sgn® (xnew-z1). It. zero) then
ipass=2+3*idir
eks=eZ
else
ipass=3+3*idir
eksse3

endif
ynew=eks* (xnew-z1)+{px
endif
goto 400
endif
c *** end of idpn=l or 2 ***
z 1 1] Case of idpn = 0 BEBEEIPEENENSR NP ASI SRS S
if (ipass. le. 3. or. ipass.eq.7) then
idir=0
sgn=unit
Xpp=Xp
xnn=xn
else
idir=1
sgn=-unit
Xpp=Xn
xan=xp
endif

if (sgn*sgnx. It. zero) goto 500
if(ipass.ge.7) then

if (sgn®(xnew-xpp). lt. zero) goto 500
endif

100 continue
ipass=1+3*idir
eks =e3
ynew=eks* (xnew-sgn*xx1) +sgn®fy

c
400 continue
ylnew=xnew
y2new=ynew
goto 9999
c
c

¢ *** Unloading or Reloading (idpn=0) ***
500 continue
xret=xpp
if(idef.gt.0) then
if (sgn*xret.lt.xcrit) then
xret=sgn®*xcrit
endif
zl=xret-sgn*(beta* (sgn*xret-x2) +two*x2)
else
if (sgn*xret.gt.x2) then
zl=xret-sgn®* (beta* (sgn®xret-x2) +two*x2)

else
zl=~sgn*x2
endif
endif

fpx=-sgn®({1+{2)+ee3*z]
xldus=crossx(el,ylold.y20ld, e2, z1, fpx)
x2dum=crossx(el.ylold, y2old, €3, z], fpx)
z0=sgn*dmax 1 (sgn*xdum, sgn*x2dum)
c
c *** check-begin ***
* vrite(6, [000) "&xt,yt,z0,zI. fpx: *, xret,yret,z0,zl, fpx
¢ *** check-end ***
¢
c 272
if (sgn*(xnew-2z0). It.zero) then
if(idef.gt.0) then
if (sgn*xnew. It. ~xxcrt) then
idpn=3
idir=l-idir
xldum=crossx{el, ylold, y2old, €2, sgn*x2. sgn*fyd)
x2dum=crossx(el. ylold, y2old, e3, sgn*x2, sgn*fyd)
nret=1
xxx (1) =sgn*dminl (sgn®*x1dum, sgn*x2dum)
goto 6666
endif
idpn=1+idir
if(idir.eq.0) then
xp=xret
else
Xn=xret
endif
if (sgn®(xnew-z1).gt.zero) then
ipass=5-3*idir
eks=el
else
ipass=6-3*idir
eks=e3
endif
ynew=eks® (xnew-z1) +fpx
goto 400
endif
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idpn=3

idir=1-idir

xldumscrossx{el, ylold. y2old, 2, sgn*x2, sgn*fyd}
x2dum=crossx(el, ylold. y2old, €3, sgn®*x2, sgn*{yd)
nret=]

xxx (1) =sgn*dmin] (sgn*xldum, sgn*x2dum)

goto 6666

endif

if((ipass-1}*(ipass-3).le.0) then
ipass=7
xp=ylold

else if{((ipass-4)*(ipass-6).le.0) then
ipasss8
xn=ylold
endif

eks=el

ynew=eks® (xnew-ylold) +y2old
goto 400

--~ All state under Trilinear -v——-rm—mcomemmaacn

N o oOn

6666 continue
Xp= unit
Xn=-unit
xlasti=zero
xlast2=zero
zloldszero
z2o0ld=zero
¢ *** check-begin ***
* write(6,1001) *(BI => TRI) idpn : *.idpn
* vrite(6,1001) "nret.xxx(1),xxx(2) : °,nret,xxx
¢ *** check-end *** -
do isl,nret+]
if(i.gt.nret) then
xrtl=xnew/x]
xrt2=xnew/x2
else
xrtl=xxx(i)/x!
xrt2=xxx{i)/x2
endif
zdl=xrtl-xlast]
zd2=xrt2-xlast2
call hystpb( xlastl, zlold, zdl. eksl, x1new, ylnew)
call hystpc(beta, xiast2, z201d, zd2, eks2, x2new. y2new,
& Xp, Xn)
¢ *** check-begin ***
. write(6,1000) ‘xlast/x], zd/x], eki, yl: *
. & xlastl, zdl, eksl, ylnew
. write(6,1000) 'xlast/x2,zd/x2,ek2,y2: °,
LI 3 xlast2, 2d2, eks2, y2new
. write(6, 1000) "xp,xn DL Xp. X0
¢ *** check-end ***
xlastl=xrt]
xlast2=xrt2
zlold=ylnew
z20ld=yZnew
enddo
goto 8888

7777 continue

xrtl=x0/x1

xrt2=x0/x2

2d]=dx/x1

zd2=dx/x2

call hystpb( xrtl, ylold, zdl, eksl,xlnew, ylnew)

call hystpc(beta, xrt2,y2old, zd2, eks2, x2new, y2new, xp, xn)
c *** check-begin *** ‘
* write(6, 1000) "xp.xn I xp.xn
* write(6.1000) "ekl,ek2, yln, y2n @ ', eksl, eks2, ylnev, y2new
*** check-end ***

o o

8888 continue
eks=eel *eksl+eeZ®eks2+eel
ynew={}*ylnew+f2*y2nev+eed*xnew
if(eksl. 1¢.0.999999) then
if(eks2. it.0.999999) then
ipass=3+3*idir
else
ipass=2+3*idir
endif
else
if (ipass.eq. 2. or. ipass.eq.3) then
ipass=7
else
ipass=8
endif

endif
¢
8899 continue
1d=]00*ipass+10*idpn+idi

Pl check-begin SEPENSIAREIEIREIIRESISANETAES

* vrite(6, 1000} "x,y,eks, xp.xn © ., xnew, ynew, eks, xp, xn
hd write(6,1001) '---cssrnew/step ends >--- id=",id
C sew Check_end BEPEEEANSENEEREI SNV RATERN S
c
return
end

/* ./ ADD, NAMEssstif.f, <#=61/69> <DATE=Dec/15 TIME=08:39 SIZE=2464> */
C
C
C./ ADD LIST=ALL, NAME=sstif. f
[ SSTIF
SUBROUTINE SSTIF(X1,X2,Y1.Y2,cs, sn,xylen,
& TXA, TXZ. TEA, TEZ, TZZ,
& AV, CML N, MUMP2)
¢ --~ cs,sn. xylen @ output ---
¢ --~ diplacements : (ul,v!, thl,u2,v2, th2) ~--
c

IMPLICIT REAL*8(A-H.0-2)

DIMENSION TXA(MUMP2), TXZ (MUMP2) , TEA (MUMP2)
DIMENSION TEZ (MUMP2), TZZ (MUMP2)

DIMENSION AV(6),CM{(6.6)

DIMENSION BV(6),AM(6, 6), BM(6,6)
DIMENSION TT(6.6).TL(6.6)

XL=X2-X1
YL-=Y2-Y1
xylen=DSQRT (XL*XL+YL*YL)
cs=x1/xylen
sn=yl/xylen
CALL STRAN(XL, YL, xylen, TT.TL)
XYi=xylen/2.0D0
XY2=XY1*xylen/6.0D0
XY3=XY2*xylen/2. (D0
XY4=XY3*xylen*(. 3D0
XY5=XY4*xylen/2.0D0
DO 10 1=1.6
AV(1)=0.0D0
D0 10 J=1,6
AM(T, J)=0.0D0
10 CONTINUE

Ni=N+1

AV(2 )= (TXA(N)+TXA(ND))*XY1

AV(S )=-(TXZ(N)+TXZ(N1))*XY1*2.0D0
AV(6 )=-(TXZ(N1)-TXZ(N))*XY2*4.0D0O
AM(2,2)= (TEA(N)+TEA(NL) ) *XY1
AM(2,5) =~ (TEZ(N)+TEZ(N1) ) *XY1*4. 0DO
AM(2,6)=-(TEZ(N1)-TEZ(N) )Y *XY2*12. 0DO
AM(4.4)= (TXA(N)+TXACND) ) *XY1
AM(4,5)= (TXA(N])-TXA(N))*XY2*2.0D0
AM(4.6)= (TXA(N)+TXA(ND))*XY3*3.0D0
AM(5, 2)=AM(2, 5)

AM(5,4)=AM(4,5)

AM(5.5)= (TXA(N)+TXA(N1)) *XY3*4, 0DO+
& (TZZ(N)+TZZ(N13)*XY1*4.0D0
AM(5,6)= (TXA(ND)-TXA(N)) *XY4*6. 0DO+
4 (TZZ(N1) -TZZ(N) ) *XY2*12.0D0
AM(6, 2)=AM(2, 6)

AM(6, 4) =AM (4, 6)

AM(6, 5)=AM(5, 6)

AM(6,6)= (TXA(N)+TXA(N]) ) *XY5*9. 0DO+
& (TZZ(N)+TZZ{N1)) *XY3*36.0D0

D0 20 1-1,6
BV(1)=0.0D0
Do 20 J=1.6 .
BV(L}=BV(I}+TT(]. ) *AV(])
20 CONTINLE

I=1.6
J=1.6
I.])=
30 K=

88
Bgg

(1. ])=0.0D0
0 K=1.
BM(T, J)=BM(T, )4TT(K, I) *AM(K, )

30 CONTIME

<

Do

g
(=)

11,6
J=1.6
QUL J1=0.000
DO 40 K=1.6
CM(L, J)=CM(I. J)+BMCTL KY *TT(K. )
40 CONTIME

Do
DO

DO 50 1,8
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AV(1)=0.0D0 TT(6.3)= TR2
DO 50 J=1.6 TT(6,6)= TR2
AV(D=AV(IY+TL(J, 1) *BV(]) c
50  CONTINLE CS=XL*TRI
c SN=YL*TRI
DO 60 1=1,6 TL(1. D)= CS
DO 60 J=1,6 TL(1,2)= SN
BM(1. J)=0.0D0 TL(2.1)=-SN
DO 60 K=1,6 TL(2,2)= CS
BM(I, J)=BM(L. J)+TL(K, I) *CM(K, ) TL(3.3)= 1.0D0
60  CONTINUE TL(4,4)= CS
c TL(4.5)= SN
DO 70 1-1.6 TL(5,4)=-SN
DO 70 J=1,6 TL(5,5)= (S
QM(1, J)=0. 000 TL(6.6)= 1.0D0
D0 70 K=1,6 c
CM(1, J)=CMUT, J)+BM(I, K)*TL(K, ) RETURN
70 CONTINUE END
C /% ./ ADD, NAME=test_dfbtcs.f, <%=63/69> <DATE=Dec/23. TIME=12:46 SIZE=1755>
RETURN */
END c
/% ./ ADD, NAME=stran.f, <#=62/69> <DATE=Dec/15 TIME=08:39 SIZE=2366> */ c
C c./ add list=all, nage=dfbtcs. f
C c 1997/12/17
C./ ADD LIST=ALL, NAME=stran. f c *** test for dfbtcs/dfxxcs **
C 1993.10.4 program main
C STRAN implicit real*8(a-h,o-z)

SUBROUTINE STRAN(XL. YL, XY, TT,TL)
IMPLICIT REAL*8(A-H.0-Z)
DIMENSION TT(6,6),TL(6,6)

s*es ODTCINAL seosvssessss

=]
[= 9
=
—

.o

du2 dvl dv2 dtl de2

+

Al 172 12 0 0 0 0
A2 -1/ WL 0 0 0 0
A3 0 0 V2 12 L8 -L/E
0 0 =32l 2 -1/4 -1/4
A5 0 0 0 0 - v
0 0 2/L%3 -2/L*3 1/L*2 11%2

...‘YMODIFIED FEEHIEIENSUNS

T . dul dvl dtl  du2  dvZ  de2

Al 12 0 0 172 0 0

LV VN 0 0 L 0 0

A3 0 12 L8 0 /2 -8
A 0 -3/2L -1/4 0 3/2L -1/4
A5 0 0 - 0 0 1/72L
A6 0 2/L*3 12 0 -2/L*3 /1%

du(X) = Al+A2*X
dv(X) = A3+A4*K+A5%x 2+A6%X"3
de(X) = A4+2°A5%X+3%A6%X"2

=

oo om0

OO — OO
t

oo oo

OO0 N OO

—_—00 o oD

O N0 N0DAO60O0NO0OOO0NNONaN600ON OO0 0OO0D60OO6 6
SO0 wn

TRO=XY
TRi=1.0D0/XY
TR2=TR1*TRI
TR3=-TRI*TR2
DO 10 I=1.6
DO 10 J=1.6
TT(I. J)=0. 0D0
TL(I, J)=0. 000
10 CONTINUE

TT(1,1)= 0.5D0
TT(1.4)= 0.5D0
TT(2,1)=-TR}
TT(2.4)= TR1
TT(3.2)= 0.5D0
TT(3.5)= 0.5D0
TT(3.3)= 0.125D0*TRO
TT(3. 6)=-0. 125D0*TRO
TT(4,2)=-1.5D0*TR)
TT(4.5)= 1.5D0*TR1
TT(4. 3)=-0. 25D0
TT{(4,6)=-0. 2500
TT(5, 3)=-0. 5D0*TR1
TT(5,6)= 0.5D0*TRI
TT(6,2)= 2.0D0*TR3
TT(6., 5) =-2. 0DO*TR3

parameter (ncase=9, nwid=2)
dimension  ww(nwid)
dimension  abyl(ncase)
dimension  btl(ncase).bt2(ncase)
dimension  xxl(ncase), xx2(ncase)
c [T 1T
data abyl/
0.10d0,
0. 16666666666667d0,
0. 2040,
. 25d0,
(). 3040,
0. 35d0,
0. 4040,
0. 4540,
0.50d0
/

9 2o Ro Ro Re RO R RKe Lo Re

<

c *** ww() : b0, wtota] ***
b0=20. 0d0
ww(1)=120.0d0
ww(2)=220.0d0

do i=1,ncase

call dfxxes(xx1{i},abyl (i}, 1, 1)

call dfxxcs(xx2(i), abyl(i},2,1)

enddo
write(6,%) ' °
write(6, (a.2f8.1,18.4)")
& "*** case(0) / Each slab (dfxxcs) *** b0)=0"
write(6, ' (a, 10{7.3)") '* case (a/L) *'.abyl
write(6, " (a, 10f7.3)") "* type=l:icont *', xxl
write(6,"(2,10£7.3)") '* type=2:free *', xx2

4
Cc e+

do ics=1,nwid
write(6,*) * °
write(6,'(a,12,a,2f8.1.18.4)")
Teex case(’, ics.,
') Total Effective (dfbtcs) *** b0.W.LO/K :',
b0, ww(ics), b0/ww(ics)
do i=1.ncase
call dfbtes(btl(i),abyl(i),b0/ww(ics), 1, 1)
call dfbtes(bt2(i),abyl(i},b0/ww(ics),2,1)
enddo
write(6, ' (a,107.3)") '* case (a/l) *'.abyl
write(6, ' (a, 10{7.3)") '* type=l:cont * bt}
write(6," (a,10{7.3)") '* type=2:free *',bt2
enddo

e @o @o

¢ ¥+

<
write(6,*) "’
stop
end
/* ./ ADD., NAME=touch.f, <#=64/69> <DATE=Dec/15 TIME=08:39 SIZE=594> */
C
C
C./ ADD LIST=ALL, NAME=touch. f

C sesne

SUBROUTINE TOUCH(EK, DISP. OFSTP, OFSIN. EKS. FIN)

[
IMPLICIT REAL*8 (A-H.0-2)
C --- OFSTP : OFFSET VALUE (>=0.0) IN POSITIVE SIDE
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C ~-- OFSTN : OFFSET VALLE (>=0.0) IN NEGATIVE SIDE

C
C do 10 j=1,8
IF(DISP. GT. OFSTP} THEN te(l. j)=0.0d0
EXS = EX tt(2, §i=0.0d0
FIN = EK*(DISP-OFSTP) 10 continue
ELSE IF(DISP.LT.-OFSTN) THEN c
EXS = EX if(large.eq.1) then
FIN = EK*(DISP+OFSTN) csbi = dcos(thi}*csU-dsin(thi)*sn0
ELSE snbi = dsin(thi)*csO+dcos(thi}*snf
EXS = 0.000 csbj = dcos(thj)*csO-dsin{th})*sn0
FIN = 0.0D0 snbj = dsin{thj)*csO+dcos(thj)*sn0
END IF ui=uui
C uj=uuj
RETURN else
END csbi a ¢s0
/* ./ ADD, NAME=tranrg. f, <#=65/69> <DATE=Dec/15 TIME=08:39 SIZE=786> */ snbi = sn0
C csbj = ¢sO
4 snbj = snd
C./ ADD LIST=ALL,NAME-=tranrg. ui=0.0d0
C --- MOD 1991.12.08 - uj=0.0d0
C —-- MOD 1992.07.21 end if
C --- MOD 1994/06/28 c
C wessvrassssiss TRANRG **** cs = xj-xi-zh*(snbj-snbi)+uj®*csbj-ui*csbi
SUBROUTINE TRANRG(LARGE, RGD1,RGD2,CS0,SNO, THI.TH2,T ) sn = yj-yi+zh*(csbj-csbi)+uj*snbj-ui®*snbi
C xyl = dsqrt{cs*cs+¢sn®sn)
IMPLICIT REAL*8(A-H.0-2) cs = cs/xyl
DIMENSION T(4) sn = sn/xyl
C c
if(LARGE. eq. 1) then ¢ *** check-begin ***
¢sb1=CS0*DCOS (th1)-SNO*DSIN(thl) c write(6.*) '*** xyl(span),cs.sn ***
snbi=CS0*DSIN(th1) +SNO*DCOS(thi) c write(6.*) xyl,cs,sn
csb2=CS0*DCOS (th2) -SNO*DSIN(th2) ¢ *** check-end ***
snb2=CS0*DSIN(th2) +SNO*DCOS(th2) c
else csd = cs*csbi+sn®snbi
¢sb1=CS0 snd = sn*csbi-cs*snbi
snbl=SNO if(idx.eq.0) then
csb2=CS0 imax=3
snb2=SN0 te(l, )= cs
end if tt(l,2)= sn
C tt{l,3)=-zh*csd
T(1) =-RCD1*SNB1 else
T(2) = RGD1*CSB1 imax=4
T(3) = RGD2*SNB2 tt{l. 1)= csd
T(4) =-RGCD2*CSB2 te(1,2)= cs
C tt(1,3)= sn
RETURN tt(l, 4)=-zh*csd+ui®*snd
END end if
/* ./ ADD, NAME=transc.{, <#=66/69> <DATE=Dec/16 TIME=18:48 SIZE=3029> */ ¢
c csd = cs*csbj+sn*snb)
c snd = sn*csbj-cs*snbj

c./ add list=all, name=transc. f
¢ ~-- 1991.11. 19
¢ ~-- 1994/06/28
~-~ 1997/01/11 corrected
ll’anSC IR GES
subroutine transc(large, idx, jdx, cs0, sn0,
& thi, thj, uui, uuj,
& Xi,xj, yi.yj, zh. tt,xyl)

<
C

implicit real*8(a-h,o0-z)
dimension tt(2,8)

idx, jdx = zero : rigidly connected node
non-zero : free node

IR Y

* csb = decos(th)*csO-dsin(th)*sn0 : d(csb)=-snb*dth
* snb = dsin{th)*csO+dcos(th}*sn) : disnb)= csb*dth
s

* node-p x = u~zh*snb

hd y = vizh*csh

* node-q x = u-zh®*snb+uloci®*csh

y = vizh*csbuloc!®*snb

* node-p dx = du-zh*csb*dth

* dy = dv-zh*snb*dth
* node-q dx = du-{zh*csb+uloc!*snb)*dth+csb*duloci
. dy = dv-(zh*snb-uloc!®*csb)*dth+snb*duloc]

* displacement duc in the direction {cs,sn)

*  c¢sd = cs*csbesn®snb

*  snd = sn®csb-cs*snb

* tdulocli
*  duc = (csd, cs,sn,-csd*zhssnd*ulocal)*idu |
. ldv |
*  «<small displacement> : ulocal=0 Idth |
* or

* Idu |

*  duc = (cs,sn,~csd®zh)*ldv |

. {dthi

»

if(jdx.eq.0) then
tt(2, 1+inax)= cs
tt(2. 2+imax)= sn
tt{2, J+imax)=-zh*csd
else
tt(2, l+imax)= ¢sd
tt(2, 2+imax)= cs
tt(2, 3+igax) = sn
tt{2, 4+ipax) =-zh*csd+u)*snd
end if

return
end

/* ./ ADD. NAME=udata.f, «2=67/69> <DATE=Dec/15 TIME=08:39 SIZE-1977> */
C

C

C./ ADD LIST=ALL. NAME=udata. {

C UDATA tees
SUBROUTINE UDATA(IR, I¥, 1. NUMSC. A, Z, AC. ZC,
& MUMS, MUMSC, MUMT, MUMC)

C

c *** 1996/7/20 mwod. ***
IMPLICIT REAL*8(A-H,0-2)
CHARACTER  NREAD*80
DIMENSION A(MUMS, MUMT),  Z(MUMS. MUMT)
DIMENSION AC(MUMSC,* ), ZC(MMSC,* )

DO 10 I=1,MUMT
CALL SKPCMT(IR, IW, NREAD, " ¥¥", #9999, *9999)
IF(NREAD(1:10}. NE. " ') GOTO 9999
READ(NREAD, " (10X, 2F10.0)") AZZ, AMA
21D = AZZ
AILD = AA
10 CONTINCE

DO 20 I=1.MMC
CALL SKPCMT(IR, I¥, NREAD. " ¥¥", #0900, *9999)
IF(NREAD(1:10) . NE. ') GOTO 9999
READ(NREAD, * (10X, 2F10.0)") AZZ, AAA
ZC(NOWSC, T) = AZZ
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ACINUMSC, I) = AAA DO 30 K=1,MXC
20 CONTINUE WRITE(MTW) CSLP(K.]).CSLN(K. ]},

14 CEKS(K, J).CSIG(K. J).
IF(I¥.EQ.0) RETURN & CEPS(K. ). ICID(K, )
C 30 CONTINUE
C *** WRITE CONCRETE *** END IF
AAA = 0.0D0 END IF
AAZ = 0.0D0 [
AZZ = 0.0D0 IF(MEW.NE. 0) THEN
WRITE(IW, 5005) NUMSC D0 20 J=1,MUMP2
DO 40 I=1,MUMC DO 20 K=1, MUMT
WRITE(I¥, 5010) AC(NUMSC, I), ZC(NUMSC, 1) WRITE (MEW) SDEE(K, J)
AAA=AAA+AC(NUMSC, T) 20 CONTINUE
AAZ=AAZ+AC (NUMSC, I) *ZC(NUMSC, T) IF(ISCTD. GT. 0) THEN
AZZ=AZZ+AC (NUMSC, 1) *ZC(NUMSC, 1) *ZC(NUMSC, I) . IF(IFLAG.EQ.0) THEN
40  CONTINUE MXP2=MUMP2
WRITE(IV, 5020) MXC =MUMC
WRITE(IW, 5030) AAA. AAZ,AZZ ELSE
c . IF(IFLAG.GT. 0) THEN
C *** WRITE DEFINED STEEL **¢ : MXP2=2*MUMP-1
AAA = 0.0D0 ELSE
AAZ = 0.0D0 MXP2-MUMP
AZZ = 0.0D0 END IF
WRITE(I¥. 5000) It MXC = }
DO 30 I-1,MUMT END IF
WRITE(IV, 5010) A(I),D),Z(1L D) DO 40 J=1.MXP2
AA=AAAA(LLL T) DO 40 Ka1,MXC
MZ=AAZ+A(TL, D*Z(I1. 1) WRITE(MEW) CDEE(X,))
AZZ=AZZ+A(11, 1*2(11, D*Z(11. D) 40 CONTINUE
30 CONTINUE END IF
WRITE(IV, 5020) END IF
WRITE(IW. 5030) AAA, AAZ, AZZ c
C c L1212 Check'&gin RSN ESEN
5005 FORMAT(IH ,4X, 'DEF.CONC (*.12,") A(QM**2)’, c write(6,*) "*** WRITMT (. mtv.’." .gew,’) DONE. ***
4 8X,’Z(a") c ***** check-end seeseree
5000 FORMAT(1H . 4X, *DEF.STEEL(*.12,") A(QM**2)", c
& 8X,°Z(CW)") RETURN
5010 FORMAT(1H , 15X, 1P, 2E13.4) END

5020 FORMAT(1H | 18X, /% ./ ADD, NAME=writmx.f, <#=69/69> <DATE<Dec/15 TIME=08:39 SI1ZE=1299> */

& "AAA(CM**2)  AAZ(CM**3)  AZZ(CM**4)') %
5030 FORMAT(IH . 80X, 1P, 3E13.4) C
C C./ ADD LIST=ALL, NAME=wri tox.
RETURN [ WRITWX
C SUBROUTINE WRITMX
9999 CONTINUE & ( MTX, ISCTD, IFLAG,
CALL MSCSTP(IW, '*** ERROR : USER DEFINED SECTION') & ylnew, y2nev, xp, xn, SSIG, SEPS, isid,
END & CSLP, CSLN, CEKS, CSIG, CEPS, ICID,
/* ./ ADD, NAME=writmt.f, <#=68/69> <DATE=Dec/16 TIME=20:08 SIZE=2244> */ & MUMT, MUMC, MUMP, MMP2 )
C C
C IMPLICIT REAL*8(A-H,0-2)
C./ ADD LIST=ALL,NAME=writmt. f DIMENSION ylnew(MUMT, MMP2), y2new(MUMT, MMP2)
C WRITMT DIMENSION xp(MUMT, MMP2) , xn (MUMT, \MP2)
SUBROUTINE WRITMT DIMENSION SSIG(MUMT, M\MP2), SEPS(MUMT, MMP2), isid (oumt, mop2)
& ( MTV, MEW, ISCTD, IFLAG, DIMENSION CSLP (MUMC, MMP2) , CSLN(MUMC, WMP2)
& ylnew, y2new, xp, xn, SSIG, SEPS, isid, SDEE, DIMENSION CSIG(MUMC, MMP2), CEPS (MUMC, MMP2)
& CSLP, CSLN, CEKS, CSIG, CEPS, ICID, CDEE, DIMENSION CEKS (MUMC, \MP2), ICID(MUMC, MMP2)
& MUMT, MUMC, MUMP, MMP2 ) C
C MUMP2=2*MUMP
IMPLICIT REAL*8(A-H,0-Z) C

DIMENSION  ylnew(MUNT, MMP2), y2new (MUMT, MMP2)
DIMENSION  xp (MUMT, MMP2) , xn (MUMT, MMP2)
DIMENSION  SSIG(MUMT, MMP2) , SEPS (MUMT. MMP2)
DIMENSION isid(mumt, mmp2), SDEE (MUMT, MMP2)

IF(MTX. NE.0) THEN
WRITE(MTX) ylnew, y2new, xp,xn, SSIG,SEPS, isid
IF(ISCTD. GT. 0) THEN
IF(IFLAG.EQ. 0) THEN

DIMENSION CSLP (MUMC, MMP2) , CSLN(MUMC, MMP2) MXP2=MUMP2
DIMENSION CSIG(MUMC, WMP2) , CEPS(MUMC, WP2) WXC =MUMC
DIMENSION  CEKS (MUMC, MMP2) . ICID (MUMC, MMP2) ELSE
DIMENSION ~ CDEE (MUMC, MMP2) IF(IFLAG.GT. 0) THEN
c MXP2=2*MUMP-1
MUMP2=2*MUMP ELSE
c MXP2-MUMP
IF(MT¥. NE.0) THEN END IF
DO 10 J=1,MUMP2 MXC = 1
DO 10 K=1, MUMT END IF
WRITE(WTW) yinew(K,]), y2new(K,]), DO 30 J=1,MXP2
& xp{K. J), xa(K. ). DO 30 K«1,MXC
4 SSIG(K, J), SEPS(K, ), isid(k, §) WRITE(MTX) CSLP(K, J).CSLN(K. ).
10 CONTINUE & CEKS(K, J). CSIG(K, ),
IF(ISCTD. GT.0) THEN 4 CEPS(K, ]}, ICIDKK. J)
IF(IFLAG.EQ.0) THEN 30 CONTINUE
MXP2=MUMP2 END IF
MXC =HUMC END IF
ELSE ¢
IF(IFLAG. GT. 0) THEN RETURN
MXP2=2*MUMP-1 END
ELSE
MXP2-HUMP
END IF
MXC = 1
END IF
DO 30 J=1,MXP2
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